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s f4@I (Ihysics)

findfefice «6te oui care 2@ [Total resistance ol the following circuit is:)

20

 —

20 e\ -

V_ 0

A, 002 B.44 b i 9 D. 301

2. FufRe « e rerRfSTe « 1 [Voltmeter reading of the following circuit is]

I
TR

BV __
20
5

A2 Vol H. 4 Volt C.3 Vol D. 5 Valt

& =5;—3,-'+2E-a'-'ﬁ z:+zj+ﬁfmﬂﬁ‘*‘fﬂ|ﬂf.—h6?-3}+2E and

o

B

“AD B. 4 :
4,/ﬂ’:m?ﬂ?: [Motor converts] to X rlf-
D

A, o g efee »ismz (Mechanical energy to LElectrical eneroy) \"L— =

R. =58 *57= miys =fare (Electrical energy to Mechanical energy) i b B
¢ efer wfae viw wls (Electrical energy to Pressure) lq'

D o »fgr v oface (Force 10 Pressure)

20+ Z] + k then caleulate A. B

]
=]
=
=

¥

-

e

&2 G 10 /s W S0 2 mds? e vy | ¢ Gres e e sferet v [A train is
running with initial velocity of 10 m's and uniform acceleration of 2 m/s’, what will be the
velocity of the train after 5 seconds?)

A. 17Tmfs B.7ms C. 10m's 0. 20 mfs

.r,ﬁf‘)" X

. cfau-\*;x

LA

\O



6. arwerra fygerentr TR w2 [Time of flight equation of a projector is]
{

2ugsings v Minily, 1. cosh 20,
[ T = ——— [!l T — e ——— = _ﬂ__ﬁ" T —
A = C.7T=220D. -

/, e e 2 TG Farere oty e KD wy 71q wreds 7 | a¢ 2R e wer (A particle is
moving 60 times per minute with a circular path of radius 2m. What is its speed?] P .
A. 120 m's B. 12.56 m/s C. 60 m/s D. 30 m/s R s ‘3}:}5{‘;

g
8. 07T QTS % T S TH4 2T T2 [Ability to work done one joule per sccond is known
a
-~ as] i
A. 1 Wan B. 1 Joule C. 1 Veolt D. 1 Newton \
7
9, ¢e@ ¥e1? (Which one is true?]
A V=IR B.Q=CV C.P=IR . sy o
Y
c-.i"'

10, ez =2 7 [Hooke's law is]
| A. ¥z oo @ (Stress « Foree) B. 4z - f2fE (Stress o Sirain)
C. ¥ oo %% (Foree @ Mass) 1. #rg= fgfeyed (Stress = Swrain / Foree)

11, 27 @V (e =T w7 [Time period equation of a simple pendulum is]

';,;:'erzrr‘F H.T=4rrﬁ G.T:ZHJ; D.T=rr1;
R N

o ¢
I: et s Tz Ty [Equation of Tdeal Gas ist] Q ,}_.’1-
:‘L P=nVRT B. PV, =PV, APV =nRT D. Pl =nR 7
13. 2B = 3EA 227 C €41 27 C Trmiam T EE )« =4 wwet T22 [A Camot’s engine is g"”
“working between 237" and 27" temperature, What will be its efficiency?] E ,,q;
\
A.40% B. 50% C. 20% D. 60% v ‘ﬁ/fj
L4, frrge carfb garve %22 [Which one of the following is Conlomb’s law?] " .j:
/ _ UL - ol " o N192
.r*ll...F——‘j:— {’.I"D:' e L"m'r D Foa =
- &
15, wre T e wwisr (] electron volt =7 .
'{ n
7 A 1.6 210" ) ;. 1.9x10" ) C. 1.6x10"J D. 1.6 %107 q

/r'iL g wagea wa ey (The value of Planck’s constant js =?]

AL 6.63 107" Js B, 6.63 <107 Js C. 1.63 <10 Js D.69x102 3. 7
17.52 a -"u--: sovr gy [ The relation between mass and energy is?)
/.:1..!. me’ B.FE=mc C. E=em? D. E=m’¢’ o g
-
5
g



18, Ammeter <7 27 fa7 [What is the function of ammeter?]

A. ey st wat (Resistance measure) B. rerw «fawe = (Voltage measure)
C. =iz=0 *ia=rt =@ (Current measure) D. hew wFaer @@ (Watt meas ure)

19, IGEAES @ el cswr wny w1 [Relation berween Fahrenheit and Celsius scale]

g Ty g R ST 9
o
20, “¥b1rwe Wi T2 [The dimension of surface is?] . ¢~ )
A, MLT? B MLT? G MUTY ML By B Q_ﬁ
/11. fosz @S 2tz @z (Which of the followings is the unit of force?) ""ff; %
A.Nm B.Nm" C. Kgms® . In A Kgms - el &'

/’11. o aweE @ 12ms” @ 52 10K g % o = [If the velocity of a matter is 12ms" and o
the mass is 10Kg, then the momentum will be:]

ok
A. 12Kgms” B. 10 Kgm €. 120 Kgms™ D. 1.2 Kgms? ‘bd/

AN R=8.31 Jmol 'K =% | Trz 27°C wvmmmm 7t 72em o1Ew 5T 20y WESER WWER ¥

72y (If R= 8.31 Jmol'K”', what will be the volume of 20g Oxygen at the temperature of 27°C
and at 72 ¢m mercury pressure?]

A.3.66 x10° m* B.32.16 x10” m’ C.16.24 x10” m’ D.28.6 x10”" m’
4. “40W-200V" oondt 3o w3 Deee Ty | e @ w2 [40W-200V" has been written
on an electric bulb. What would be the resistance of the bulb?] ‘.'{ ' <
A. 100002 B. 2000 C.3000 D100 w¥
5. fersrea vy weredin s ereme w3 4y [Gravitational potential due to point mass is expressed
as)
g_i“'-
A V= B. V=GRM C. Vv=c= D. V== >
/ﬁ. s @AY eUEEE 3 - [Which of the following is Stokes” law] <
A. Fermv  B.F=n/mvC. EJ—' 6 nrmv D. F= n/érmv G "}"‘r
27, «=f i srzrz Ter e wfbesere 3 o [For a full cycle the mean emf] S
A. 2 B. 0 C. 2i/n D. 2L hed

>
28. =% Rwfez wfex M soo watt @@, 330 Vol w1 %1001 =7 K.W.H @2 913 3 v T 7o d
=tz _lD hﬂur T o s 204 2 (100 Watt and 220 V have been p-l'il'llﬂﬂ on the hmi},' of an
eleciric bulb, The price of per K.W.H is taka 1.8. How much money would be spent if the 5

bulb is tumed on for 10 hours?) € =
ﬂ.
A. 18T B. 180%m C. 150 Tret D. 15T R « v
g >
24 )

| £9 M
"';f ﬁ

we k;wﬁﬁ



0 ca= Bytrew cerva X {0HE TR AT 20em a@ 40cm @€ (e EE 200m @, ¢
e efiewans ot @4 1 [The radius of curvature of the two surfaces of a bi-concave lens are
20 cm and 40 cm. Determine the refractive index of the element of the lens, if the focal length ,ﬁ’

1s 20 eml

A.1.67 B. 1.37 C.1.33 D. 1.3 g
30, oo e e ety e The equation for molar heat capacity is:] \"f
A C=22 B. C=32M c. c=MiL D. C=3 o
: e X
1. s @ Ca"? WE2%s 2T aoen(The nuclides wArand yCa" are:) /,é;
A. isotope B. isobar C. isoton 1. isomer "
1 -

32, <% OV T G ST wox3o” G, T U o.ngc GO e oI T Wl TR WX Gxfy w4
IThe mean life of meson particle is 30> 10", determine the mean life of this particle if it &
moves with a velocity of 0.95¢] 4# {

A, 965 B. 9610 C.96x10% D. 96%10"%

33 1m 2y a2 = e cater ofe Giners 2 I G v =78 » & 4% %€ 2 [1m long simple
3 E

Acndulum completes 2 oscillations in | second. Find the value of g

A. 158 ms” B. 190ms” C. 18ms” D. 160ms” }5
L
}d./*f'-'ﬁ cara waa el cafez [Which of the following possess greater kinetic energy?] AN
A. mass 3IM B, mass 2M C. mass M D. mass M 2
velocity 2V velocity 3V velocity V velocity 4V

lém:ﬂwég 12.5 757 | 30 <8 72 eaft Gy ST T wrer ey wdR e The half-life A 4

Of tritium is 12,5 vears, How much of a certain tritium would be left after 25 years?

A 1A B. 1S C. 23 D. 2/5 ,J
of
3 w h \
worger (Chemistry) }rT, \ E
Lﬁ’;f/m: (Re) *ZENCe f.;: corit, ¢ 6 FiRD+ ¢ 8 5 YOTAlH SITE 4 0% & YR =22 A beryllium .
/.::tnm has 4 protons, S neutrons and < electrons. What 15 the mass number of thrs alom?] ,9
A8 1.9 C.4 D. s 0 >

o[ State the number of neutrans in one atom of "Cl

Peaz s’ e G FRRT AT
Ok 1. None of the above

2 &b B, 7 oL
/3 TG Oy WS 1O [Eih"micn'l formula of magnesium phosphate is:] )’
% ] ] Lkl fAa H_ :'nlgpch
A Mea(POLs D, MgPOs)s

o G MeAPO);

/J.":wi-m! cimreles ey st T AT AW
cavalent bond?)

hich of the following compounds does not have




A Nl B. CCl
D. NaCl

C. HO
/S.ﬂa"ﬁ-;r o i 22l e werra [l [ Preparation of polythene from cthylene is a:|
B Polvinerization reaction

Synthesis reaction
C Neutralization reaction D Pvrolysis reaction

6. 24.5 gm 1,808 T (e T 7 [Calculate the number of moles in 24.5 gm H,50;]

A. 2.5mole B. 0.25mole ¢
C. 0.025mole D. 23 mole ‘Jﬁ .
7.0.1M HClezpH 4z T =8 2] What is the pH of 2 0.1M HCl solution?] ﬁ \
B. .l o

: E ?.r!: D. 10.1 aﬁ/f’
\

g Sy co fuvarg fees o[ Which of the following is a Grignard reagent?]

b A S:Cl vB. CH;Mgl
. ColINC 0. HCOONa
9 forve fafgecsme v caalDn waleg F72[ Which of the following radiations has the lowest \
“wave length?]
A WV B. X-ray w%l\'{;
C. y-ray D. Infra-red -
1058 e Tl +fZa g3 Which of the following is chemical change?] X

A, D i wem [ T CNTR \F

p. crEEEmaym 7 -

c. ey

1S v T Fe i sire gy Rflm B s S - [The main product of the
reaction of ethanol with concentrated sulphuric acid is-] g,w
B. e

A, T
C. Fie """-':"EH*# bl 0. % Tude et
12.N:0c = INO; t3 {}zﬁfm‘?‘ma—.ﬁ:fﬂ" ﬁﬂuﬂﬁf-‘:&ﬂrfwﬂyrﬁwaﬂxm o

Cefrrre e @ [E‘1ILuI:1Ic the half-life of reaction .N>Qg => ZNO; + = ﬂ'; Given that, rate

of constant of the reaction is 6.2 x 107)
B, 111.8 Seconds

A. 118 Seconds
C. 1118 Scconds D, 1.18 Seconds

13.KMnO, ¢ ITo7=3 & TRIMW Tom-{Oxidation number of Mn in KMnQ, is -]

/ A 4 B. +§
Cr +f D =6
14557 e v TR it TR gumed w1 W 2 (Which of the following pases is

/;u:swnsible for greenhouse effect?]
.F\ . ﬂ_: IL {-D:
C N D. e

/ 22 s wrrriieree STHT e €[ The subatomic particle that difTers in isotopes is-]
A WAV B.  SEgH AN
C. ryla MM . ;"_.:.I,-Iﬂ.n o

\y



16,034 (o5 RIS <12 512 9 Whichof the following is the functional group of ketone?]
% Ao -OH B. >C=0 ‘
¢ -ClO

n -COONH

12.4.0 &= Uigiees ey sfarems e Tawg wrie <. The amount of water produced ,ir}rj
v by buming 4.0 gm of hydrogen in presence of excess oxygen is <] A

A le . 18 C. 36 D. 54 ﬁﬂp
;,15.5‘:!'6 o= f5Tmes s 3 Which of the | ollowing is not present in the nuclens?) w)\u
e A Proton (2059) B, Neutren (H354) 7

C.  Electron (¥te2ds) D.  Messon (F7=) A

9.5 a3 fFrmTm S5 v 76 2% (9] Which is the order of increasing energy of the

orbitals within a single level?) i }1
A, d<s<f=<p B, s<p<d<f 4%
C. p<s<i<d D. f<d<p<s

20/A1(CO;,), ore o =rzaega > w2 o[ What is the total number of atoms in the formula

1LCOMNWT)
,7"4‘)&.!2 B. 14 C.9 D.8
. .
o 21,575 =T w72 Which one of the following is a metalloid?]
A.S B. Ge c.c D.Pb

22NaON 2= CH L COOH a2 TS % wv 7ok wieadar [What type of a reaction occurs
/" when sodium hydroxide reacts with acetic acid solution?]

A. SRR (Gas evolution ) R, o fewae (Oxidation -reduction )
C. =erma Acid-base neutralization } D. =R |Pn:1:|rll.!.1lll!lﬂ'l
Ii.ﬁm carfa wperete vese 4% = 2 [Which of the following typically has low melting

int?] B. MNonmetals (%¥%)
A, Metal (x7 il <
C \t:t.1llfai4.f-.-}{ﬁ-1:r§} D, Tremilonmen’s SyCaEyRl

J.orére w e e oa o TR faer® weat [What section of the periodic table is a very
Nt U i | i ' o &
/:I:H:m':‘;r m:r.’il?ﬂi{]ﬂr netals (W18 €F) B. Lanthanides (I=%=1t3%)
: el 1] i i ;

C 1al (&5 e TEEH) D.  None of the above (3722 (=31 7T)
- alogens 2

w57 [What happens when NaC! dissolve in water?)
- R Nz anlCr
D. Na and Cl;

s s g C 0 13Oy g2 =m0 a{How many moles of
fiter of 0.3 M solution?]

38.NaC | wrffire mirge gamn e

A. Nuand Cl

C, Naand Ch
ﬂ'—tﬂn falte vz oom M BAR radt 22
/{:Izl |110” are needed to pn:p:!rc 2.50

B 0430 mo)
A 0.0750 mol D lL.20mol
€. 833 mol . H, +Hy 2 Colla the reaction is an example of:)
1?": +HH; = CH, E“";ﬁ'i’- :-:'5"- falma [Tt N substitution (o)
A addition (5
9
& ~
ol
~ 5 4
&\




H.-‘-

|

E'r"

\

\

<
\

A
-
\

D. esterification (E2m@eE)

C.

saponification (AFRFE2T)

28.C:Hy e wufl smnyrd) 295 sy How many covalent bonds are there in C3Hy?]

/AN

29.com wiemeTy o warins . O «e & 2 What is the name of alcoliol containing more than

E; ;
one hydroxyl group?)
A, P'rapanel

B. 10

3. Butano!

C.3

C. Pentano!

D. 8

D. Glycerol

30. 1.3 butadicene @ 3% fiewd w08 (How many double bonds are in one molecule of 1,3

butadiene 7]
0.4

Al B.2 C.3

I. 224, 39 & ovrw o [Futs, oils, and wax are)

A, alcohols

B. acids

C. esters

D. aldchydes

I,JI.I“.:;ID;. <z #h avmfie w79 far IWhat is the correct chemical name of F ¢;047]

%y

A.
£

iron oxide
iron (1) oxide

B.
D.

iron (11) oxide
iron (1V) oxide

v
&, L H
™~ PIRs @R & e 1= enferre €2 2 [How many grams are there in 2.1 moles of sodium?)

9 A. 48.3 prams B. 0.0913 grams . 11.0 grams D. None of above
& }f;:‘;*‘;m PH 5.2 @a c2 pOH =5 T4 [ifa compound has a pH of 6.5 what would be its “
pOH?
(5
A 65 B.7.5 C.3.16x107 D. 3.16x10" x”

Y- e 35
% ¥ JSET wEE o 9 4ere 33m- [Standard temperature and pressuse refers lo:] S
h"' AlDamand 273K B.Oamand 273K €. 25 atm and 25'C [D. None of above ;E_L‘ 9
&

™

#fre (Mathematics) ld
g #
‘#":‘ siqlli:lhua { -.f.ﬂ... o AR i) = =
kot S 6.%.8.2f cxamw [ If A={ 59,12}, B= (6,5,8,2) then the
C. (o £.0+ b {Gfﬁ % ) D. (5.8)

/
}'ﬁlﬂﬂtﬁ ?ﬁ#fﬂx*-ﬁﬂx-l-l:n:qqnw,'ﬁ:d -~
a'f

and ! arc the rocts of the equation 2x2 43y + 1 = 0 then EI'I;' are the roots of the quadratic

eu fiwr: 2 lfaapia g ver gon il o

equation:]

A, 3+ 2x+1=p B. ¢I=-3v+2=0

G 2x¥+x43=0p D. 2 +3x+2=10 e

5 6 7| qu/

3l 2 J|FFwefie mi [Value of the determinant:| ~ ";IL
"l 69 i

A D B. 1

C. 4882 3 D, 10

G \
5\ b
\
..-# \ J__"";
e

E—
— — B




ﬁ"v - U b #
0g .-"'\ "‘;h d f—tf-\-— x
ok
1 — a2 + 2x — 647 9270 Bt €z [y} — 392 4 2 — 6 has a factor:]
A (x-2) B.(x-3) C. (x-4) D. (x+3)
5%(5; — g~ ¥)az wtet 575 [The expansion of the scricﬁifcr —-e™)]
A A B. e
:+ﬁ+§+"' ..... I—E+g—!-—" i da
C. S D. 3 _‘.5
l+__+_+ x__._,-_.._'..-p-” =

3! 5! T m— 3! i s
/ how manty ways can the letters of the word *EQUATION" be arranged, so that the constants
may occupy only add position?]

A. 2840 B. 2880 C. 880 D. 2480 o
1 5ind + CosA = sinl + CosBwe A+B=? L
" A, ' & B. 2 i
i ot n D. u
_ 2 i
‘cosl = %'ZI" fag =z s (11 cosl) = % the general solution is:]
A. m B i
ﬂ'=2nr:ig ; ﬂ=nrr+§-
™
C. E=2rm+§ D. ﬂ=2nnii
Am+{smn =7 <
A0 B.| C.-1 D. | _x G
,-}O.Ifan"‘,:r+ cot~lx =7 o
A, T B. n
C. 1 D. i -
3 2

/ﬁﬁ_},z_qx ~by+C = 0750 x5 o 77z | C @2 T 527 The circlex? 4 y? -

4x — 6y + C = Otouches x-axis: what is the value of C?] v
A2 1.3 ; C.5 D. 4 <
:1.. d :
,ﬂ-}' = sinx 4+ cosx 11?,%; =7|y = sinx + cosx 'Eﬁ' =7 L7
A. cosx = Sinx B. .y
C. cos2x D. cosx + Sinx
1 _{EI] =7
e 3 » . r |
C. : xlna D. a*ina fe"
£ b 3 - Gl
' D. 35 s T
C. W s
A __,.'5 \ :
}‘ :F i SIn-=($£M]'g =? . - ﬁ‘T
A, sinx B. cosx v
C. x D 1 i o
?f" "'Ih:.-'l‘:I| ; ,h"“
n "Dg > e '.': W
" ' e T
i |

e T




o Iy
i ¥ 9
o x'V o.:;f“
: x >X Y
- \ oh / &5 X
¥ dr 2y | e
Iﬁ.L ::|;1.-m'~_-.-}_l.r A G+
A WL s B. 213 “3} ¢
¢ 3 O | s
7,635 iz el Tieuire ww wre eranets Svme fing T 2 31, e 0yt
miers ﬂ"—':{"&" e Swe E.” [A stone n thrown verticall ¥ upward from the top of 2
tower and hit ground 105 latter with a speed of S1m's Whar i the Beipht of the tower?]
A 10m B. 1%m
€. 20m D 25m
/s‘rﬁ.‘"{ SverHl T 2 (What is the Lamie’s Theorem?)
A e B. P4 Q= p?
sine sinfl sing
A 1 in2 2 -
¥ s=Ut+ i_ﬂz D.  sina+ sin?f + sin2q =
/W-/f"“' W T 20 B850 T €% 274 11 @ is one of the complex cube roots of unity then] », \
m+m:+m"+m‘+m5+m"= ’ -« X ;3
A1 ' B. -o? o
C. i D. o Wi X X
(140 +i1=-n7 e [ s £ Jl+¥ e (1-0)3 \ w
2 .W T =22 {What is the val_uc ﬂr-m] VJ l t"’- }{
A0 B. 1 =
C. i D. - w

2L.2x* =1 = Qe g, 3w 2 +B? 23w [if e and b are the roots of 2x? — 1=
0. then the value of a? + #2j)

. P |

B 11
& 0 D |
VR R T
22, -1 i+t 22 10t 3y W0 infinity =2
AL 41 B, 2
cC. -2n D. i
Aﬂﬂzz = - 1B x G2 (If log, 2 = — 1 then the value of x 15]
A Y B 2
R d D .2
/ll(r-_iﬂ S 547 ¥ - [The solution of |2x — 3| 5 5is)
A - -25x<53 B. -1sx<4
‘Gl —1<x<4 D. -25x%<5
25.9, 38 4% 3¢ g0z Ty e cv . "the area of the triangle whose sides are 7, 24 and
25 units i)
A, 81 sq.units B. 30 squnits
C. 10 sq.units D, 61 squmis

26.y x70 g2 2y +2y=Jorenerea v

Ve {The perpendicular distarce between the lines y + 1 7
0 and 2% 2y = 3 is)

‘l




A, 372 units

C. :hh —— units

B.
[.

3 .
= Units
2v2

3 unils

730 0. fA. ﬁ{"m =% wWew 2T e B sy o1, e, ) 2ue emon- [One of the diagonals of

4 rhombus of side 10 cm. is 16 cmlts arca is)

A. 100 sqem

C. 192 sq.cm
98.cos(A + 150793 [ The value of cos(A + 1507

A, sinA
C. -cosA
29.5in65° + cos65° =7
A. VZcosa0°
C. V2 cos20°

30tan (cot™ 12+ cot™'3) =7

-
T B

o

. .
327 y=In (ax ) T dydx =522 il y = In {mr“}thr:n% =?]

£
A |
ar*
C. 2
X
=
33. J'ﬂ T :
:"L =
V3
C. 3.3
234 v= \:.md‘. =X
* and y=x"is]
A. 56
o o ]

T vy G QO T 0 ORFE
e fimy |A running train is stopped
the train if the average retd

A, 100m‘see B, 200m/fsec

B.
D,

b

.

D.

B.

D.

B.

D.

cdation of the train is 100m/sec ]
. A0im/sec

wX T

@0”

96 sq.cm

)
a0

160 sq.cm

i

‘.I

116
173
(" ﬂ{'r m AT I ﬂ'Fhi TE R 200 Ir?‘r.illﬁ-“
within 3 seconds with a brake . What is the velo. iy of

e zl, (V3 cosA + sinAd)

—I[Eﬂbd+\ 2 sinA)
1
Esiﬂzﬂ“
ﬁ.ﬂ'n-m“
.
¥
[
L
KE;C
0
oy
ra
2it \ 2
x %o
3 V
x?
_,,/
Van 4
i % :
33

! g ey o o (@ £37%) fthe area (in squaze unit) bounded by y=x

™ Sy vfom

I] S".JI*I"I:“EC




English

{7 “Sirategy” means:
3 A. Something that follow
before
. Skillful planning
2, “Consensus’ means:
A, General agreement
C. A situation requiring a choice
3, He spnke very boldly. flere “boldly™ means:
A. Emotional

s from what happened B. Disturbance

D.  Distinguishing feature

B. Standard
D. Outlook for the luture

B. clearly and courageously
. hesitation

C. aflraid
4. Which one of the following is an example of imperative sentence?
A, Whatis your name? B. lcave this place at once
¢89C.  Hurrah! We have won D. May you live long!

5. -Which one is the adjective in the following sentence?
“The mother fish swims with her little fishes™

A. mother B. swims C. fishes D. little
Fill in the gaps by choosing the nearest appropriate answer: A, B, C. D
;'6' it's the second turning------------------- the lefi.
A.in B.on C. by D. at
E}Sh:: not cat it.
A, has B. have C. did D. do
§.T'm leaving a bit early today avoid the rush hour queucs.
F _A-‘Bﬂ B. that C. for D. to
Al '.-.nn‘thu: able to do it you help me.
o l:a' if B. since C. because D. unless
’ ;"":"ad thC NEWS +a-eseemveeeeenes the newspaper.
. lus;nt]n B. to C. above D. across
=Sl : e bed a1 11 pm.
A.in B.to
12: We antived - ~ C.up D. upon
- A B - the station in time.
g AN »
13,1 shall make oo C.to D. over
< A = g R — = your |osses.
AT C. of fpik
AR wealth,
15. \.' friend it B. after C. over D.in
A 35 JUSteonssaanmeaniaes g ot gl
A.Beceive R ) a letter from his father,
¢ B received C. receiving D. receive

b
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on M /
“%"\wq | x i

ominef Rt (Physics)
1. fRsfiRe a¥R7 @i e T (Total resistance of the following circuit is) A
—_v 2Q) ? 2Q \/}XX'V

(A) 6Q (B) 4Q | (C) 29 (D) 302 ?
2. (EAIAGT FHET I (Generator converts)

(A) sz =fer =fes «f$Te (Mechanical (B) wfe «ifera aifs =ifeTs (Electrical 1
energy to electrical energy) energy to Mechanical energy) j{

(C) oft =T 511 *f&TS (Electrical energy (D) I =& b1+t =If&T® (Force to |

to Pressure) Pressure) ' |
3. [ YT S sifS = (Velocity of light in free space is) ‘ !
(A)3x10"m/s  (B)3.5%10% m/s (C) 3x10® m/s (D) 3x10° m/s |
4. {53 @1 @ sacast A S (Which one of the following indicates Newton’s secot}d law

of motion?)

—

(A) p=my (B)y m=pv (C) p=my oym=F-a

5. «3fo e e 200 KN 39 &ranl 33 @3 M «a {6 21 m 3=pfs @) i

TeAME FUST | (A car engine applies a force of 200 KN and the force displaces the car 21 m
at one minute. The output power of#fe car 1§.)

Wy
& (400KW B0

¥ 5 AR{T @7 vEty At s stfaame ag orge troa
ofzgae ife = 6" kg) | (If the moon orbits the Earth at an average distance of
© 384000 km from fitre of the Earth the orbital speed of the moon is. (The mass of the ]
Earth is 6x10% A !
(A) 1.02x10’ (C) 1.0x10° cm/s (D) 1.04x10° m/s |
7. wWol, I8 [@UIF 047 & I | (Relation between power, force and velocity is)
(A)F=Pv (B)P=Fv (C)v=PF (DYP=F/iv
8. 3 F @3S GERP? (How much Celsius is 32'F?)
(A)-1°C (B) 9°C (C) 0°C (D) 5°C

2
Ry

72T {
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d'A'A A 0}‘
| 2kQ | Y +\
X
— 4V 2kQ % 0 x\ \J}\ _}QD 6’
0 L, 5 N
’ V24 VS
(A) 2 Volt (B) 4 Volt (C) 0 Volt D)5 Volt 7/
10. W A=47+3]—F mome A aa e en (1f A=4 +3] —k then find the
( / 5
value of A) -V
72 7 '/\_4/
(A) V26 ®) V24 Gx,/\o ©26 4% (D)6
, : v
11. 57 5RE (4 @D SN 8 my/s? STAPACH 510R | So (LR *1F MY +T g wfowy
FA4? (A bus is running from rest  condition with uniform acceleration of 4 m/s>. How much
distance will exceed the bus after 10 seconds?)
(A) 400 m (B) 200 cm (C) 100m (D) 200 m
12. STFoF TIPS AFA TP A ( Horizontal range equation of a projector is)
2v, sin 8 ? sin 26
(A) R= Z0 70 (B) R = Vo S Y0
2g
2v, cos & 2v, cost
© R=—"—7 (D) R=—"—"
g
13. m % ¢ r TENHET @36 i 9 woma SR o @ QU G, wF R 97 @7
@/ AT e R O ST IR N ol Sy | i B S =i v (A ring of radius r and
& mass m rotates about an axis passing through its center and perpendicular to its plane with
6/ angular velocity @. What is kinetic energy of the ring?)
& (A) mro’ ©) Iro’ (D) Ir? ( e, 1 = SweR ST)

1.,
—1
(B)Zw

14. =% 4RIz JPIE 6.4x10° m @R T g = 9.8 my/s” W, SR “RATS LH @I M

( If radius of the earth is 6.4%10% m and the value of g at the earth surface is 9.8 m/s’, then the
value of escape velocity at the earth will be)

(A) 11.2 ks (B) 1120 m/s (C) 3700 km/s (D) 11.2 m/s
15. @ A®T? Which one is true? '
(A)V=IR ‘B)V=QC (C)P=V'R (D) saf (All of these)
3
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« /v q

( \/ u/v
<Q
¥ o
o é&) ‘\% Vo 'V/,\ A ,// -
m “ . .4
Q'é) \)‘% 6. freffRe a8 1 @3 77 2wt 1 ( The value of 1 in the following circuit is)
\ |
-’_/V\;I\r ,
2 Q‘\
4y 4Q) 4Q) N ;& \) \]/
S‘/ Q\'/ Q_"/ %p
(& Q‘\'&l ‘\ ] ,S , 7 u“
Q,{ L6 (A)7A (B) 2.5A (C) 2A /D) A 7
% @v(/ 17. Tr @@ B AT (Young’s modulus is )
| \ F/A FlA AIF FiA
| (A)Y:—— B) Y =—— O)Y=—— D) Y =
| TR ETY) ©r=11 iy
| 18. > carercEa ifeeifes STl@ret 2 | ( The equation of kinetic energy of a simple pendulum
I is)

Ay K =%kA2 cosz(a)t+5) (B) K =-;—kA2 cos(wt +0)

1 5 .
(C)K:EkAcos*(wHé') (D)K:—:]z—sz cos” (wt + J)

13. *40W-200V" et st @Y tagiea A ) T @ T2 (“40W-200V" is written on
an electric bulb. What would be the resistance of the bulb?)

(A) 1000 (B) 2000Q (C) 300Q (D) 100022
20. 1HP.=?
§ (A) 3.6%10° watt (B) 1 watt (C) 764 watt (D) 746 watt

G~ 21, «a=f w2 %@ SN 3 10s ot o | SaErE sfesT 9ty

‘I Q‘\ object for 10s. What is the change in momentum?)
LT sokgms'  (B)50kgms? (C) 25 kems™

(5N force is applied on an

(D) 25 kgms™
22. /% 3% A (Sound wave is a)
(A) ¥ ST (Longitudinal wave) (B) WG WX (Transverse wave)
( (C) IV @ Wy 9= (Longitudinal and (D) @G T (None of these)

Transverse wave)

23. fawe @G fOSTR 7RI S? (Which one of the following is law of Gravitation?)

, m
(A)F:g% (B)F=’"q7‘,q'2" (C)F=G2}ﬂ (D) F=G A

d2
4
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(The number of electrons and neutrons of an element is 18 and 20 respectively. Its mass 1]

number is-)

(A) 22 (B)2 (C)38 (D) 20 1
5. Fwsw e =ifde sty (Which of the following is also known as laughing gas?)

(A)NO (B) N,O (C) N,Os (D) N; 1

6. . FIG TSI G TS ¥ LM (The chemical name of washing soda is)
(A) sodium sulphate (B) sodium bicarbonate  (C) sodium carbonate (D) sodium bisulphate
7. 4T aUsTE 3 %9 T (The hardest form of carbon is:) 5 -
(A) coke (B) graphite (C) diamond (D) charcoal

8. @M t&vg «fSt®? (Which compound is an organic acid?)
(A)CH,CH,0H (B) CH,0CH, (C) CH;COOH (D) CH,COOCH;

9. w7 @AM WEfzZes TR T2 (Which of the following is the functional group of

aldehyde?)
(A) -OH (B)-CHO (C)>C=0 (D) -COOH |
10. CO, 4 F ¢ 359 RAA? Mention the type of chemical bonding in CO,- :
(A) Sfemrét a9t (ionic bond) (B) TR@ITS TR (hydrogen bond)
(C) A& T%4 (covalent bond) (D) 4793 T4 (metallic bond) i
11. pH 9% 9 B2 (Which is the value of pH?) |
(A) -log H' (B) -log OH (C) —log [OH] (D) —log [H']
12. 0.001M «fe 53T pH <& T 737 (What is the pH of 0.001M solution) |
(A) 1 (B)2 (©)3 (D) 0.1 l
13. ﬁcﬁ c;?/ gﬁ@fﬁ Sfee m(Which of the follg;v‘égg’ i%he strongest aci(j;’;‘:)?,} v\ :
(A) HCIO; (B) HNO; (C) HyPO, (D) HCIG, ;
14. f5d @R SAZSH w=eT eawxfq FT2 (Which of the following oxide shows acidic |
character?)
(A) Na,0 (B)CO (€) ALLO5 (D)NO
15. MG ¢t W2 (Which of the following is a polar molecule?)
(A) HBr (B) CH, (C)H, (D) Br,
16. &% g w@r afffe @Hio? Which of the following is Lewis acid?
(A)BF; (B) NH, (C) CH,l (D) PH,
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17 frr @t QTS Rta®? Which of the following is a Grignard reagent?

- (a)coCl (B) MgCl, (C) C;HsONa (D) C¢Hs-MgBr
5, 18. ©% (FIEA RS A7 T? (What is the voltage of a dry cell?)

(A) +0.34V (B)+15V (C)+0.76 V (D) +1.00 V

~ 19. e @A e 3T & wiM? (Which of the following gaseous substance is responsible

for acid rain?)

(A)CO (B) N (C)N;0 (D) SO,
20. fereitz fF2 (What is vinegar?)

(A) 6-10% CH;COOH aqueous solution (B) 6-10% CH;COOCH; aqueous solution

(C) 6-10% CH;COONa aqueous solution (D) 6-10% HCOOH aqueous solution

21. fA=s @=eE @ Kp=Kc (In which of the following cases Kp=Kc)

(A) PCls <> PCl; + Cl, (B) N,O, <> 2NO,

(C)H,+1, & 2HI (D) N, + 3H; <> 2NH;
22. 10 m] 0.1M HCI & &ifirs 330e T© Fwed 0.05 M NaOH oS (Calculate the volume \/
of 0.05 M NaOH to be required to neutralize 0.1 M of 10 mL HCl solution.) NG - \f‘/s
(A) 10 mL (B) 20 mL (€) 15 mL (D)25 mL <t
23, firsa @1 e o FC@? (Which of the following is acidic in nature?) "
@CHs P (B) CHsCH; (©) CaHisOH ORCHOH YT
- —
24. @R el @T4re #new Wz Which acid is present in lemon? v oL
(A) maleic acid (B) citric acid (C) lactic acid (D) tartaric acid
\
25, 5iifS5F TN IIFS PVC IS 05d (I 37 (The term PVC used in the plastic N ;{f
\
industry stands for:)
(A) polyvinyl (B) polyvinyl (C) phosphor (D) phosphavinyl
. carbonate vanadium chloride chloride
chloride
- 26. @Hﬁﬁ“‘j@m@'@? (Which of the following formula represents saturated
hydrocarbon?)
(A) C;H; (B) C,H, (C) C3Hq (D) CsHs
27. f5q (O AfFAT FOTIT (AT AT @ AT Seeftv g FCa2 (Which process
increases the yield of gasoline and kerosene from crude 0il?)
(A) oxidation (B) cracking (C) Haber (D) Contact
28, FELET AZFIEABT TS T (Chemical formula of calcium bicarbonate is)
(A) CaHCO; (B) CaCO; (C) Ca(HHCO3): (D) Ca,HCO;
‘ 7
NS t, =€tz € 1h
@ QH;Q\\';\ OH 2/_,@_&2_—. ¢ s
3 e= @ it |
= S LI i
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8.. sin (-g— —cos™' x] =397

(A) 1 (B) 1+x (C) sinx (D) x

) \ _ A —
9. In the identity (2x+1)(3x+1) - 2x+1 3x+1 (Qa W) (A B) ?
@23  ®(32) © (2.3) ®) (-2,-3)
10 leretelo finity =7
21 41 6l to infinity =
1 et +1 1 e’ + 1}
A) e+— C)e—— D) 2(—'—‘
A) e e (B) oy ©C e . .
\
1. limE—t=9 ')/ . \\§

x=0 X -
A) 1 (B) L ©) ! (D)0 / V
» 2 3 U\
12. log, x =In2 T x 7 W (If log, x = In 2 then the value of x is)

(A)2 ®) 2" (C) 4 @) In(In2)

13. x*—2x—-1=0 FTTR T @ 4R [ =, a2+ﬂ2 =7 (If « and B are the roots of

the equation X2 —2x—1=0, then @’ +p°=7)
(A) 10 (B) 6 (C) 8 (D)2

14. }\(x-‘vb Ty, =7 df y= (x+bY then y, =?)

\\' (A) n(x+b)"  ®nb" ©)n! (D) n!(x+b)
&40

sK)‘lS l+_] aw i—j %k TS¥EE WIS @ (The angle between the vectors i+ j and

i— _) i+k is)
A = (B) = ©)n e
4 zyd T97 (The
16. @ TyESe WW 24 GLfi, @ e 200n W LA | a7 E o iag of
height of a right circular cone is 24 cm and its volume is 2007 cubic cm. What is
its base?)
(A) 5 em (B) 6 cm (C)8cm () 10.em

9
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17' ? dx ='?
J; 35—21 ' ‘
A -1+y3 ®)1-43 © 1+3 ®) -1-43
% 18 (%.9), (2.2) aw (3,3) R foee % e fg® T (If (x,7), (2,2) and

_.\(
x q//‘) (3,3) are on the same line then)
(D) x—y+1=0

fy
K4 g _{(V (A) x-2y+1=0 @®B)x-y=0 (C)2x—y+3=0
(9]=% then the value of cos@ is)

! o
bk / 19.‘fﬁtan(9]=.§@,3t€cos9ﬂmﬁ(lftan 5

—

Vv
| .J./V 2 4
| 9 7 24 25
i A — (B) — C) —. D) —
'\/ 16 ) 25 © 25 ®) 7
¥ :
/ .?_t <0. ‘Wﬁ? ““"1@‘{'5‘5 (I Tl 47 G, G WRew 367" 97 1., T, @A BT = 7 (If the
| ,\).z’v 'I;l;flght of a right circular cone is 47 cm and its volume is 367° cubic cm then its slant height =
] P ?
' f\‘_]\ (A) 6 (B) 57 (€) 3x (D) 27
1 9 .
’1 ( x*+ 5—1'_] F STRAIGCT x IF MG (The term independent of x in the expansion of
) -0
- (xz + LJQ is) @’\o'
LY 2x 9 L

I e ) -
] % Viw= @ 4 S 1
3 &/ Q \ 16 8 © 3 (D) 3

! vy |
! + p x _ B »
K fm‘ix-—f(x)'i-c m1f(x)_?(]f‘|‘ o dx:f(X)-FC thenﬂx):_-?)

22.

(A) ]n(\/1+x2) (B) tan' x (C) sin”' x (D) V1452

L.
y= T ARy =0, x=08x = | I Q1 T 760 coraeey
23, (2x+1)2 § e (ot

@) (The area (i i _
) ( (in square units) bounded by the curves y = 1 . and the lines y = 0,
(2x+1)
x=0and x=11is)
@ 1 B ! '
z (B)3 (€) 3 ~ (D) 2

10

4
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e

K Qg\xgr\/;\m ‘ \:5/\

x=0 @a® 2x+3y=23 NI TFY (The perpehdicular distance between the lines

4. yt
y+x=0 and 2x+3y=31is)

| 3 3 {
(A) (B) - Cy ——
2 2 / ( 25 N (D) 3&-

25. Sy WAt 4x 4+ 3y =12 TR @S W@ 7 (The length of the intercepted portion of
the straight line 4x+3y =12 by the coordinate axes is)

(A)S (B)4 (C)3 (D)2

2, .2 |
26. x* +y* —gx =0 I8 VA1 WG O CFAF I© 3 q@w? (What is the area bounded by the

circle x> + y* — gx =0 in square units?)

(A) %ngz (B) %vrg2 ©) %;r g’ (D) 7g’
27. y*—-9x=0 «aed s @ sR&9 (The equation of the directrix of the parabola
Y =9x=0is)
(A) 4x+9=0 (B) 4x-9=0 (C) x+9=0 D) 2x+3=0

y=mx+c <5l ch-i—y2 =25 o= = TN =% (The condition that the linc

28.
y = mx +c will touch the circle X +yt =25 is)

(A) c=—25 1+m’ (B):c=25\/1-!-m2

© c=:i:5\/1+m2 (D)c=ir\/1+m2

29. @it fags ABC @9 (B cei® 52 (Which one of the following is true for any triangle

ABC?)

(A) a —=hcosC+acosB (B) b=ccos A+acosB

(©) c=acos B+bcosA (D)a=bcosA+ccosB

30. y:m(axz) E1g| %: IS? (Ify:ln(ax?'),thcn —&-x')i=? )

1 2a i D) —
®) — ® — © = ©) -

11
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English

Fill in the gaps by choosing the most appropriate answer: A, B, Cor D (question 1-10)
1. Ido not know what she is talking

(A) on (B) upon (C)in (D) about
2. Incase _______fire, leave the building. '
(A) on (B) of (C) will (D) over
3. Bangladesh is rich_____ natural gas.
(A) in (B) upon (C) on (D) over
4. Thisisagood____ for apicnic.
(A) plot (B) spot (C) scene (D) landscape
5. Pleasedon't _ whenIam talking.
(A) disrupt (B) interface (C) interrupt (D) disturb y
6. Thepen __ mightier than the sword. )
(A) shall be (B) has (C) will be (D) is \
7. The terrorists were arrested for their _ activities. )
(A) subversive (B) subordinate (C) subsidiary (D) subservient
8. Heisdevoid _ common sense.
(A) on (B)to (C) of (D) through
9. Thedoghasbeen__ by thecar.
(A) run out (B) run over (C) run into (D) run for
10. The ship with all itscrew _____ lost after the terrible storm.
(A) were (B) has (C) have (D) was

Scanned by CamScanner



% fefmen
agfe RBRED

p —
yu i off «Pw 3034 203V

wwnr 3 w0 oo Al wfamty 320

y0.
39.

R,

anwliin sfe Fofeanalh

oMr Bmrecre Iefter P wrw, Frem wm em wem ww Wil worewa
m e omn wy, o Wl e WA amy Swewen TN wroetn Wiwe e

e ]l

wielice cem o Bftym fod wfE® g9 o were wl

emorn sTere mren SRY SO o ww wfds Boe ey e omn Swevcen
e gz wrae Y vz g efm s fioe repdera sl were Al
ww S wE A A W we Al

a3% arn gatlyn Boe amarnHr @ W

sporvTTd WS WU SOUIEATATEY Calculation ¥R WITAIMWITH] (BTH MG AU

&« A HN

Calculator @l &1 ¢atH Ymife w1 TR w1 e W)

oS oy W ROV wiE A W A W AA )
mmmmnwmmwhﬂMnmmamm
seEEs Lo A o9 iy wPW e W M

oo (OAT (WATE TR (R
wiwm (1 ot SR SN SAMYER % W Wwie AMwR W oW

qqy TR oErs] afem am 0T TR
Rl R Fre odmn wm e oy REE @ O amEm IR N
mmmmmaﬁmmmmmmﬂmmw

L]

Scanned by CamScanner



\

)

G
T (Physics)
L@@ 3 e T (Which law (3 caliad tha Lw of irertiy))
(A] Newton's first law Kewton's 17 lrw
{C) MNewton's 37 law (21 Al cf these
1. %7 & Wz ueTw T (Product of force and velocty is)
(4] ®Zra% (Momentym) TTT (Power) (€] % (Energy) (D]

3. =fexfe ovr wawy wamm @ T (The gravitational fleld intensity is maximum at

e (Work)

the)

@ (ITTE (pales) (8) «%¥ ATE (center of the carth)

(€} Famare=rT (equator) (0} @mpweaTee Twoz (above the atmosphere)
4. q@D W YR qfER Giwae 0.40s TR 49 WG A (If time period of an

oscillation is 0.40 s, then It's frequency is)

(A) 2.0 H: 2.5 Hz (€) 3.5M: (D) 3.0 Mz
5. e farre w7 (Pascal is the unit of)

(A) Y (Density) 51 (Pressure)

(C) @=M% (Frequency) {D'I “fT e (Conductivity)

6. fime w€iite A @ B »Zodr wF a3 @ @ie o Zra? (What will be

the total resistance in the circuit belnw when both su.m:h Aand E are :ln!nd?‘.i

(4) O5R
(B) 2R T
(€} 3R :
@ 0.67R 1
5“!““ Switch B

7. =emafd wwedn "ﬁ:“‘l'ﬁ 9@ #f22<a (For reversible adiabatic process, change ir

entropy is)
(A mum (B)  Minimum @) zero (D)  Negative

T efee farmea v g @ fied o T aR oo WS @y d wie =
"Iﬁ foors e @l W WS CRER YW (If g were doubled and

simultaneously halved, the electric field of a dipole at distant points)

(A) fege AT (Increased twice) (B) ¥4 (Decreased)
© wefaaf¥® A77a (Unchanged) (D) T34 AETA (Increased four folds)

9. & gV 497 TR (1eVisequalto)
(&) 1.60x107%) (B) 1.60x107} (C)  1.60x107°) @ 1.60%10™"

/2' 1
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13.

14.
15.

16.

17.

19. firse el tafde Ced, (ICE

W0,

e grame T A diogde 14 used at)
el
LAl T Ty ferwra |an amplifier) @ TR ETECA (2 rectilier)

sxmehe AT |an outiliator) (D} rsTlw aTrhe fITATZ (voltage regulator)

i

% F R G =17 (What type of magneti materals ase ferrtes?)
TR STES (Paramagnetic) (B) TTIYS (Dlamagnetic]
© FTAIBTE S (Ferromagnetic) (D} (== <% (None of these)

e S @ @ SITT £3 TS TN (The ratio of magnetization intensity 1o
magnetic field intensity is)
oriE &rTel (Magnetic permeability) (8) Sy W (Magnetic coercivity)
(€} s ={4erE! (Magnetic susceptibility) (D) aRDE w1 [None of these)

sz «al e o e 2w Swen Baww wm wfeedw fese =io 204 (An

Jm‘
object of mass ‘m’ is raised to a height "2k’ above the ground The gravitational potential
energy will be) "w‘\g FAT

(8) 2% (€)  mgh 2mgh

]

i:h] EJ‘H.!{}I 2,

G —i+2]+2k (OB W 204 (Given A = —i +2] + 2k The magnitude of A is)

(A) 1 (B) 2 @ 3 oy 4

wiza =@ %03 (The dimension of energy is) [{J( +4

@ mU'T’ (B} mUT™ @ mdT ™ M

;i_u: B = L E1G| [:,.:1 =E A7 (it Ax B = 1’.: , then [i =7) g;g

(A) | C| (B) Cx i © o (D) None of these

100 kg ordd @@ «Fs waran 200 kg-mfs @A @z Hifeefe T2 (What is th

kinetic energy of an abject having mass of 100kg antd momentum of 200 kg-m/s?)

(A) 100) ® 200! (€)  300J (D)  400J

= gz g ofdm i faed R e i Agrzg o weeE g

=7 (The radius of a planet is twice the radius of the earth and its mass is half of the m:

of the earth. What is the value of the acceleration due to gravity on the surface of t

planet?)

(A) g (B) 0.58 © ose (D)  0.125¢
s @ qrEd APIED WK A&7 (Which one of

angular velocity and radius of a circle?)

following is the relation among linear velocity,
(8) v= Lxr € v=ar (D)

B

(A) @=vxF =vr
3 Free AEEE (AFEASE LA (Time period of a second pendulum is) \:
(A) 1se @ seec  (C) 0Ssec (D) Noneofthese

v 4002 miT s L E
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U A mmes e .
LY = | - \r-|".F ET'“LI 'ri,"; -'E'} !,lllll
L N whith temper
SeLomres ierp?) perature

@ 173N (B) ©°C C)  30°F (0) oOx
- (¥ LW £
l:::m'cen t:nﬁesﬁ: SGE i|'|f::5|{=“?::|l"sg'ﬁthalﬁ-.:'ffiiﬂ:‘:'n.-:e_';::.-\!:;5}'-’FEﬁ Ve P & thedusnes
’ (A} A (B) M4 © w2 (D) 2
@fﬁﬂ" FITE aT@ @07 (What is the unit of magnatic flux?)
AT (weber)  (B) @A (Testa) (C) wpreomre (Ampere) (D) (&1 (volt)
2. @ TmER ¥ @R oBEEmie wd pamiye of el 9RO

(The temperature above which an antiferromagnetic material shows para-magnetism is
known as)

@ AL o (Curie Temperature) (8) = wrsfaw@l (Neel Temperature)
(C)  =F A7 SI°Ta (Absolute zero temperature) (D) TR =W (None of these)

FYClume ¢l g3y

=17 (Which one of the following is wrong?)

(A) C=v/a 0=Q/A € v=¢&d (D) i=qft

26. <TI0 GHT TE +20 T 9T (FTEH g T (The power of a lens is +2D. What is
its foca! length?)
(Al 1Im (B} 1.5m {Ck Sm 0.5m

27. camEe WL @WED? (Which one of the following is Snell's law?)
) . _ _ _sind
(A) w sini=w,sinr (B) u sinr=usini (C) == Both {A) and (C)
sinr

28. 95 @ AN TGS @19 TO T T g9 e M1 a7 (What is the angle
between force and displacement when the work done by the force is zero?)

a) 0o (B) 45° © oo (D) 180°
gl 2Bz @51 err e &b anph cfe wE Iw @i wm of
@HGIEE AL CRAUE (If a big rain drop is divided into large number of smalle

drops, the total arca of smaller drops)
[A) Z= “nl(Decreases) % MW (Increases)

(€) w=ofeal@z <= (Does not change) (D) @WRT ST (None of these)

30. ¥ze e arn cwfae el 98 neR @R A TE @0 Meaeife W
3 nds HAS (An object s oscillating in simple harmonic motion with amplitude of A. T
potential energy of it will be the maximum when the displacement equals)

A) 0 (B) Aflog.2 (€ Alog2 @) A
o= mm 16 %5 wlrl wfslE (vfw ofomane 1.33) @ 4oz T4 ¢
T &% ww ol 2 wrm 77 (The depth of 3 pond is 16 f. If you look stral
g downward to the water (refractive index 1 23) of the pond, how depth it seems to be?)
A S# 12 ft (C) 16ft (D) 20ft
m—.——- 3 J_ﬂ
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rhd’ﬁm‘mth wave hat the lower? hqw?}

() X-ray Gamma ({Q Unraviclet {0) tnfrared

33 2«95 fOTR T @ R WM L3 mmlfy 2R am v Wb fay wl e
v <2 157 TR Bu = ot fipes v ow, Tom S Tt am
Y (The heating element of an eleciric heater is made from a wire of resistance B 1t Is

replaced with a wire of the same material which has the same lerngth but I3 twice the
dlameter. The resistance of the wire'is)

R/A (8 RA2 © r (D) 2R

mmmmﬁwﬁmmmmﬂwuﬂntmtﬁm
a body straight upward, what will be the acceleration when It reaches [ts maximum
height?)

@ o (B) -9.8m/s (C) +9.8m/s (D) maximum
@ﬁ— Ot wESTER 5730years T TN 4.0g TR e 4 wédaa W Wy
= «RTa? (', C has a half-life of 5730 years. How many grams of a 4.0 g sample leh

afrer 4 half-lives? )
(4) 108 (B) 05g () oasg (D) 0125¢g
THEH (Chemistry)
1. £FeT ME SYR TAMW @07 (Which is the maln constituent of natural gas?)
(A) C:Hs CH, (€)  CiHy (D) CiMyg
2. foem=e AuaT Cﬂﬁfﬁ?[‘#hich is the chemlcal formula of gypsum?)
(A) €a$0,.5H;0 CaS0.2H,0. (€] CaS0,3H,0 (D) ZnSO,.7H,0

‘@ @ @ e HAfifes Toft =@ T ? (Which of the following compounds is used for the
production of polyethene?)

! EHJ"EH], (E:l EH3CH10H {C} C!H| @ E1H.|'f
= v 05 AEMEb 2.8x107 ¢ WA ARTE ppm UATS FAR  SFEW

T (What will be the concentration In ppm unit if there is 2.8x10™* g calcium in 0.5 ml
solution?)

(A} 18 ppm (8) 56 ppm (€) 28ppm (D) 2.8x10° ppm
0.001M N2OH =% pH 7 (What Is the pH of 0.001 M NaOH salution?) J
@ 1., (8) 14 () 12

& ORR orawd Breré € (Which of the followings Is the
Substance?) '
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7. Sse con el v o W s St
' ’ TR (Which of
para dh &ctor in benzens rirg?) { the followings is ortho-

8. <3 o o ) !
mlutin:leMI I HO HRTT pH 382 (What Is the pH of » 0.00001 motar MCt i
(A 1 (8) 9 @ . o) A Jl
9.ﬁn}ﬂhwﬁipﬂm&dpﬂﬂ!mmhﬁmmammnmnmd i

rain water has a pH of abaut 6. Which of the following gas causes this pH?) |

@ Carbon dloxide (8) Oxygen (C) Nitrogendioxide (D} Sulfur dioxide |
w 53 @ e st Tmnd st encds TR TP (Which element's |

lonic radius Is smaller than Its atomic radius? )

':J"-l Ne ' {(B) N {ci Na . s \
@ TETEAETY e eem = @ Row @ Ml tra? (Dlazonlum salt s prepared

from which compound?)

(A) Aniline {8) Chlorobenzene (C)  Phenol (0} Toluene

YR TR (TP WIS W (Shape of the crystal of table salt Is)

' Cubic (R) Tetragonal {c}  Orthorhomblc (D) Hexagonal

WETES DT R Asr @R dii Rofre g gage =3 W7 (Which one
|

of the following compounds Is used as indicator In lodometric titration?)
Starch  (B) KMnO, (C) Diphenylamine {D) Methyl orange
14. 3R e ISR T (Pollutants of urea plant are)
d 510,
CO,, NO,, 501 and CO {H:I C0O,, NOy S0O;an .
(C) €O, NO, MgO and S0, (D) €Oy, NO,, ALO; and SI0;

W GfnTR TF N W eeiRS W A (Rate of which reaction is not affected by
!
concentration?)
WAT- T (Zero-order)

(A) 3%- ¥ (First-order)
(C) Wyee- T (Fractional-order) - (D)  X¥- & (Second-order)

@ H.0' S H-O-H %A @ 87 (What is H-O-

H bond angle In H,0" lan?)

(A) 90 (B) 105 @ 107 (D) 120
17. H=gTE TR (TANE (&N a1 odffts T ? (Which radiation Is abserbed to show the

green house effect?)

(A) Infrared () Micowave  (€) Ultraviolet (D) Visle

S wom feemes e w2 W a7 (Which one reacts im dlatety with Lwecas

reagent’?)

(A Z.msthylpmopan-1-of (8} Butan-I1-of  (C) Butan-2-0l
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e METITE (M7 (Whic
" :ﬂq&: ol i “"““"*mmw "

Mr (8) HQ D Wb -
Sl 2T SLATEAM S(WETE? (Which pohymer iy o
(A) Polvinent Polyityrene () PVC (D) Protem

gy ot ERE TR frUm mmme e TER W F7 (Which bs not tarmed

nall
4uring electrotysis of aqueous solution of NaQ?)
@ M (8] NaOH @ # ® o
g1 fars2 FH TS B TAEAT (Which of the following quantum set I impossible?)
[A) Ma3,L=2, M=25=+1/2 (8) MHel Les0OM=-15=-12
Ns2Ll=2, M=25=+112 (D) N=3,L=0,M=0Sw+1/2
93, sy (R WHIR T ] WrrSTEE W7 (Which of the following light has shorter
wavelangth?)
() P (Blue) ®) W (Yelow) (@ vmrred) (@) croR(violet)
22, G ORI SCHRITO &z aBrs? (Which of the following is stronger acid?)
HCIO. (B) HiS04 (C)  HiSO YD) WiPO
25. GrEg W IR H@ﬁﬂﬂsp’? (Which of the following compounds is sp’ hybridized?)
(A) BeCl BF; (€ ccL (D) NHy

oy wERE d-7¢ TR RN @ (The number of d-block elements.in periodic table

is)
(A) 28 (B) 30

@ sE PR @R T wd® off@ BOD 3 a7 (Which of the following waste

26.
(cy 31 oy 32

tannery industries Is respansible to Increase BOD of water?)

(B) Salt (€} Ume @) <
s DGR BE fters &7 (Which of the following

indicators Is apprapﬁate for the titration of strong acid with weak base7)
(A) Fhenquhthalg]n (B) Thymo! Blue (€} Methyl Red @ Methyl Orange

+ €0z o Rfrelia K @2 st T (Which Is the k; equation of the

material of
(A) Albumin

28, iz affE ¢ T

29. CaC0; s = Calu

reaction CaCOy = CaOp) + CO 19 7l PP p
P g o)’ 00y . oy K,=—
{A-J K.P = Ptﬂ (B} 'ﬂp - Pf_,'_'l} @ KI" - II.:‘:I"'I [ ] d Pl.".if'.‘l'l,
Cat’0, !

30 mmﬁmmﬂu@fﬁmmﬁ#mmmmm:um
postulate of Bohr's atomic model, the aqgu;ar momenturm of H!mﬂ
n m .

@ miT = F_‘E 'E‘l mrr’ -.. ' .'."‘"I*!'.": : ] m'-_-'.h:

o
-

-
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N Tor @@= Frn sm e v ARTAgT TeATEE AREEE I T (in whuey, o
the following reactions the product(s) increases with the Increate of pressure a

equilibrium?}

IAJ Hﬂn"‘ﬂ"]wHIHEr L

[l:] Cil:ug 1) =3 Caﬂm + CI‘J; o
32. Frse =% Fhow emm =y BT TU7 (Which of the following should not keep Into

glass container?)

(B) 2NOyi #7Hiy €3 2NH, , +2H,0
(D) €O,y + Ciy €32C0

(A} Distllled water (B) Acid solution @ Alkall selution (D) Aleohol
@ FTsq sfoutw Wy @wla we wAw ofiwm S QE? (Which of the following

animal’s mllk contains the highest quantity of fat?)

(A) Cow (B) Goat {C)  Sheep Buffalo
@- (5 Coagulation Oz fasifte & ? (Which technique Is opposite of coagulation?)

(A} Peptisation Fermentation  (C) Crystallization (D) Oxidation

35. Zn/zn™ @F Ag/ag' oM s ewIy WY fESe RATDTY +0.76V g3 -0.799V.

TfGe =mia @b fsg = oy = (Standard oxidation potentials of two electrodes
Zn/Zn™ and Ag/Ag" are +0.76V and -0.759V respectively. Calculzte the e.m.f of the cell.)

(4) -1.550v +1.550V (€)  +0.78V (D) -0.033v
. 0
0 22X . : l. 77 2
L -

2 (‘M - W[Mathemati:sw

1 =afee 6 o= 2% wel o == s oow faosy o A" 7 (A man has 6

friends. In how many ways can he invite them?)

(&) 60 (8) 62 @ 63 (D) &4

.i é
2+—) 4% FEemme x Wfde 4 & (The term independent of x in the

expansionof (x* =24 —)" is)

X
(4] 920 () 824 (€} 1024 @ 924

ixt + 4y’ =12 Evzrgr Sualfuesia W (The eccentricity of the elipse 3x* +4y* =12

(A) &/3 8) +/3/4 © 12 (D) 1/a

4.y =12xvarE (3 r{"-:'?: Al e fege zra? (At which point of the parabola

' = 1 2x, the ordinate will be twice of the abseissa?)

Al (2 4 @ 3, 6) (C] (4,8 (o

¥ ;
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L 4 56

1 - £ ?
I 1'I. wrg (If ™= — ~ = dr
s, M T W ST g e 2+ =
e (B} %<2 €y =x>3 e
2x 2 .
ey card TR T [ 4 J LS 97 ofesR mEm TI7 (For what valuas

of x, the given matrix will be a singular matrix?)

@ 2.3 B 2,4 © -2 ) 0,2
ENGINEERING =1¥Ba 44QTFIICE TOSICY FGIA| T (i oo e et T (i

ﬁav& the letters in the word

'ENGINEERING’ can be arranged differently taking

how many ) 5
three ‘£ together? 2 -
' L :
(a) 72 (B} 105 (C) 3024 15120 1}@
g o3 O 4% UNES e B ©F IS BRE king W ANSTE FEIA T <
(What is the probability :_:-f obtaining ‘no king' If a card is selected randomly from packet of =
52 cards?)
(A) 1/13 (B) 4/13 (@ s/13 ® w3 .
@S AEE? (Which one Is correct?) oX X AR
0<isinx|<1 () O<sinx<l Y |
() —m<tany<® (D) None of these % }"2.4,#;9
10. G2 e ATEEARE Tt 747 (Which one of the following is not an equation of a r;.,-;fg;n.ﬁ
ML 1 - L Ll
b s o
straight line?} .
F = o = B "-F'I
@ Jr=x+2 B fy=viz2 510 Byl BT L
H bt =ara? (Where does the circle HL}
11. I?._Er_‘z},-4,y-+1:[]?-5ﬁym 4 f { #D@J‘]
I: —?I'—I‘}"’ -I__-? + | :—.ﬂ touch Lhe }"il?l'ﬁ?} ]\li.a - Q“
. (&) {0,-1) €y (0,%] @ (0,1)

(&) (0.0l

@ ¢y =7 7o (4,3 I

it (-4, 3} of the curve X

tangent at POIT

@ 4/

131 !ﬁ:ﬂ _,I = | I:"t ¥+ &
value of dy/dx?)
(A) 9 '

(&)

ey WA

sz =pifres T @87 (What is the siope of the

] -r‘i . ? ?}

1/3 0y ©

rinx+ a":‘ _then what is the

.1_,1'3 (C)

dyfdx @€ g (Y-

@ -2 +Inx 0} Inx

240n2

| - _ 7
22 (What is the domain of the function f{x) Y
1 (D} 10, =)
R- (-1} -
@
v J. }{“_1:
W i
] I

_,';' _..li':_ ":,- d

e ———
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e .
] T ol s

Y, Ral.
J ) | 4 = = o+ Frm i 4
13 lr)~1ansx L2 TN =32 [What i the AR 1:."!"1 £} fane 7
1 I --
@ i g [Ul '.”' E
s 2x)° -
16. lire mLx) , _ ‘f [ i

e ) C C= !
= -2 ® o € 1 D) 3 I

h 17. fh}'-lJ-W.fcnsE.r-rlaﬂﬁ.ﬁﬁ‘:ﬂW{\We:is:hemarlmaor
S(x)=1++eos? x+] 7
A
(Al 2 B |5 © 3 ® 1.3

J--.,||'I+msxdr=? | + coS2h - 2 C.C-‘F:" AN

(A) X YL 2
ﬁcus?.c (8) 2JEI‘.‘DS*;+L* @Ew@"sin%ﬂ* (D} v‘rlsiu{-—r

4
— i

! 2
19, i-q-:y_: i = '
¥ | ToTE CFaTN % 96 OF (What is the area of the ellipse E‘.+-j_'j =17
. ']:

(A)  3nm/2 (B) 3nm (€] 2n @ 6
20. tand = c";‘f!?'f sind =7 {If tan€ = ¢ then sing = %)

Al L ] | ¢ :

R e B P C
21. 2/ 9% YA ZF (The square root of 2i is)

(A} +(141) @) 1-i) (€ -14+i) (D) +(1+2i)
22. sin”'(3x)}+cos ' (3x) ="

() 1 nf2 € 3n/2 (D) n/a

@ gz fagrem afi e gamem 72°53'51" ga2 37%'9" g @l M efeum

@ A?(Two angles of a triangle are 72°53'51” and 37%'9" respectively. What is the third

angle in cadian?)
W 7n/18 (C) 6nfa7 (D} 5m/18

@ ax’ +bx +¢ = 0@ o9 4948t BBy 3 (1 the roots of the equation

ax’ + by + ¢ =0 are of opposite sign then)

c.  (a) b=0 (B) ¢=0 (C} a=0 D) a=c
"%" sinf =—1 TF # 93 T4 (If sint/ = —| then the value of #is )
: (AT (4n+1)n/2 (4n-1) /2 (C) 2nm+m/4 (D) 2nn-ni/d
26. y=sinxy TE(If y =sinx then) = CF}%K

) (A) y4ys=0 @ ¥ =Ya gﬁf‘?ﬁ Y = %Y; (O y=Vi
| o i e d g b % 10
IR 109‘,13;:1 AEVEET ﬁ}riﬁji
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. A

» g XD TEER ITSE W MW TR T S owe s

Ly i
oy g (Toree equa! {or2es of rapnnuds p sTung 2:00g the wdes of a0 equiatersl
< ;f.;:tu.:st direction have resutant)
o )
[E) D Q & o 3

Zore €€ WS AR IR T Fws =7 W & GveeT I
;:14‘* i projected vertically upwards with an initial velocity u Its time of fight !

it vit 2ufe 0 o' 0] u'g

s Fu T
A T A R i""?!"‘l—“k =T 5= =T TR7T (For whatvalue ef Awlli the

i

s |
ectnrﬁj'] f 4 Tfrre resent it 7 :
v b= f— ant 2 unit vest
5 0 P nit veLtort) \l’i\
Ja7
(Al 1/10 By 2/5 o o Dl LS
(8 © T IR
] il __C_,ﬂty b

@. Imslxdx-‘—?
J ::} n/6 nfa © 3 oy 1

31. [0, 0) e fAPR %0 T ard 3 @ 5 WA GmE el HWET = fRTRIA?
{what is the number of comman tangents of two ¢
radius of 3 and 57)

o) 2

@ 0 (8) 3 (€] s

ot EEE d= 0 H a7 TR (Whatls represented by #=01n polar

coordinate?) i
(D} y=x

(A} x=0 y=0 €} y=»

2-:
® |3
(4) | (B) - © (o)

=5 a5 iy WM e (Whatls the minimum value of

=7

ircles having their centers at (0, 0),and

flx)=x"-4
flxy=x"—d4x=317 \
(A o (8) o € o -9 ,.;;
3. J:e‘t(ir=? 1
] g '2 Jt ::
) x'e" +¢ (8) lxg" +C (c :xc +cC Ee +C
B

— e

= ,G«'::?? ]:'gfr“x f:..
%‘ ﬁ(é};b 10 = i
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Cﬁ;}mr the most appropriate option

““Mediagsa” refers to
xeellent (B] fine @ ordinary (D)  superior

Which one is a synonym of “journey”?

@) voyaze (8) solution (C) stagrancy (D) road
@ Which is an antonym of “reveal™?
(A) revenge (8) tragedy (C) invisible suppress

Fill In the blanks by choosing the most appropriate answer from the options

4. He is corruption.

(A) accused in (B) accused off @ accusedof (D) accused on
5. Besureto a life jacket before getting into the boat.

(A) put of put on {C) putoff (D) putin
6.  The bus will stop here 5.45 p.m.

(A) in at (€) to (D) on
7. What your father 7

(A) is, do (8) do, does (€) is,does (D) does,do
8. QOur victory day is celebrated 16 December.

(A) in an (C) at (D) During
8.  The Titanic collided with an iceberg and :

(A} sank drowned (C) wassunk (D) haddrowned
10, Iflwona lottery, | @ car.

would buy (B) will buy (C} wanttobuy (D) bought

11. Would you mind me your pen?
(A) give giving (€) forgiving (D) ‘togive

(work) in the kitchen when | met her.
has beenworking  (C) had worked (D) wasworking

recognize her.

(A) slowly (B) freely (C)  mainly (©) barely

14, The game came 0 end.

(A) the (B) a @ an (D) of
they spend their time watching TV?

12. She
(A) is working

13. Icould

15. How can they learn anything

(A) till as though (C) unless (D) when
i1
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#MEC R (Physics)

1. AawB aw vordt vt v 7 (A + B)| = |(A - B)| zmar (What wil be the angle
between A and B for which |(A + §]| = ](A §}[?}

(A) 0° ¢ qE} 90° (C) 120° (D) 180°

2. A}ﬂﬂlﬂmﬁﬂ? 3 AMFETF (¥ 4 (The area of a parallelogram with sides A and 8
is

- — - 1 — g
(A) A-Bxé (B} —|ﬁ}<B| =1L |j'x§, (D) None nfthese
3. 3 oI i v e e o AT WH A (The electric field strength at the centre
of a charged ring is)
(A) __wﬂw (Infinite) (B) % (Finite)
=) [T (Zero) (D) RBE W (None of these)
5
4. wUTE T ey (The dimension of power i5) iﬁ m 3 &
(A} [mML2T3) (B) [ML72T-3] Q) [ML2T~9%] (D) [MI*T-3)
5. ﬁiff:fﬂ"l’l; AR ToFOn (1 AP AEAFE oaE (The quantity which is conserved in elastic
collision
(A} == (Force) (8) I e { Angular momentum)

A2) e ( Kinetic energy) (D) ¥ ==l | Linear momentum)

6. i W 98 m/s ATT W1 e Fire o v T, Tl e v Bwetr Siny (o e
g =9.81 m/s] (What will be the maximum height of an object if it is thrown vertically
upward with a velacity of 98 m/s?) [Given: g = 9.81 m/s?|

1y 490 m (B} S90m (C) 390m (D) 475 m
7. =5 Iy wigy RS F0iM0T tnd 3.0 m w1 707 97 17 GIMF @ T (If the minute hand of a

large clock is 3.0 m long, the mean angular speed of it i<)
(A) 1.4 x 10 *rads™ 8} 17 x107%rads™t -5“"54* 28145
(€) 1.0x 10 3rads™? . (D) 3x107'rads™*  ¢= 58

8. il oS (R DT 4 o % ¢ofoT RO CTeTTRT 9 TR? (I the length of a second - '
pendulum is increased 4 times, what will be its time period?) &

(A) 25 (B) 3s ~NC) 4s (D) 55 &P
9. T I ST £ Tew A et = T o3 AR ot w0 7@ (A particle has

momentum P. If its kinetlc energy is doubled, what will be its new momentum?) %__ - ?_Lg-.?-'
AR} VIP () 2P {C) 4P (D) 8P * sy lé?
*'
10. TN §TF G 99 5.1.9%FF (The S.1. unit of gravitational constant Gis ) ~o% 4~ 2ok
AR Nm2kg (8) mPhg~is2 (O m~Ykg? (0) Nm2ieg™

11, TT SR TR0 @ FRRERP OS5 MM (The temperature which Is same in both
Fahrenheit and Celsius scale) ) .
(A) 100°C (B) 273°C (C) 0°C ) —40°C '-,,71_5.

-

. = m3 o,
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12, AP WMTCH |TCTR G X0 (The velocity of light in vacuum is)

. 1 *
"A, = —— B [":,Iilf C = -E—u = &
m ‘ ] H-HI:I [ ] ¢ ™ {DI c €y
13. -nﬁ'm‘jﬁ?ﬁ"{ﬂmﬂ'ﬂ'TFhT!?:'I:I:"E'ﬂH‘Wﬂ!ﬂllhhephaudiHErtncehEtween
two points of a wave Is 2n, the path difference is)

A Fi P
(A) r (B) E MLl 4 (D) 21
14. mwﬁmﬁMMMEaveragetinetl:energvpergasrnnle-:uleis]
1 ar 3 1 2
(A} =kT SB) = - =kT
- S®) SkT (€ sk (0) Sk

15. M&1 9 RPN AR w3l v o wyew S @y (The moment of inertla of a solid
sphere with mass M and radius R is )

A1A) %HR ¢ (B) §MR= (C) MR? (D) None of these
16. ¥ *prdT T S YT SfFAIE 0T (The process of heat transfer in solids Is called )
(A) +f#w= (Convection) . (8) fafet (Radiation)
) %% (Canduction) (D) @HRET AW (None of them)
17. e cota waare Fada w2t wiw Ay (Which of the following waves cannot be polarized?)
(A} T=Em ==Y (Radio waves) (8) &Ry [X-ray)
] % ea¥ (Sound waves) (D) =woiEes =2 (Infrared waves)

18. wEw 7 IO (Lorentz force is) "
(A) F=qF (B)F=qExB _2 F=q[E+9xH [0 F=q[ExdxH

19, F SyfEeE-TT ¥ ey WHiAr (How many Coulombs is equivalent to one ampere-hour?)

(A) 36 (8) 360 1) 3600 - {D) 36000

20. 302 a7 AT canete FTaTaETCer AT T W0 T WM 4TA (If three resistors of 302 each are
connected in parallel, the equivalent resistance will be) @
9010 (8) 9 C) 602 D) 120

21. 4 pF x4 T v e ot g0 30 0T | & YRPOTT P NP O - (4 capacitors of 4
MF each are connected In serfes. The equivalent capacitance of the capacitors will be-)
o

~ 1pF (B) 16pF (C) 2pF (D) 4pF

22. 50 AT <= TR (0T TSR N I TN TS ST ITE 3 0Ff WA, TR (T e

T | AP ST T T TA? (If a wire of SO resistance is stretched so that its length
becomes 3 times elongated and its cross-sectional area becomes half, what will be the

resistance of the new wire?) Y
(A) 200 % 300 (€} 100 (D) 150
. 2
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23, frosw =¥ e favR e / @ «fimre 357 (What is the main current /in the following circuit?)

R
—AAN
I sn % &
E—= = -
mu_'[ 0 > ot X
! =K
~\A) 2A (8) SA (C) 10A (D) 3A e
24, %0 S ARl goiti cocte 10 V g MR 91T 4 A, orersifE eta csrva 8 V T,
TS Fps #3TEw «fa ¥%7 (The primary coil of a transformer has a voltage 10 V and
current 4 A. If the voltage of the secondary coil Is 8 V, what is its current?)
) SA {B) 8A (C} 10A (D) 4A
23, Reem ovon fisy o wee fsgfE swamor =w7 (Which of the following light has the lowest
deviation in case of dispersion?)
(A) *m1 (Red) (B) 7wt (Green)  (C) @ (Yellow) v} Wit (violet)
26. = e fipnRorE et weRres 1.33 ¢ 1.47 0T 0T TGTR AT 1 FT 747 (If the
refractive index for water and glycerin are 1.33 and 1.47 respectively, what will be the
critical angle between them?) F-
(4) s50.79° (8) 60.79° ) 64.79° (D) 7a4.79°
27. AT ToRTerafitn 9 R wam T 72T #30 W@ (Michealson Interferometer is used to
measure)
(A) fasifE &t (Angle of deviation) (B) wmem e (Amplitude of light)
e, o vt (Wavelength of light) (D) e ¥ (Intensity of light)
28. o= *fFafY oy wame® { = 10 sin(400mt) A TR &= T T eI TG 1F TH FT (An
alternating current is expressed as [ = 10 sin(400mt) A, the root mean square value of
the currentis }
4t 7.07A (B) 6.37A (C) 63.7A (D) 70.7A +
29. 25 cm TP TRYE <9 wawe oTom wIe F57 (What is the power of a concave lens of
focal length 25 cm?) .
(a) 25D (8) =25D o=l —4D (0) 4D
30. TS TR T oM (The symbol of alpha particle is)
amA) g Het (B) ,He? (C) ,He! (D) ,He?
31. Tafeunes iy 1620 Tom T (FWiET 1 43F T (If the half-life period of radium is 1620
years, the radioactive decay constant will be})
{A) 4.28 X 1075 per year (B) 2.28 % 10~3 peryear
i~ 428 % 107" peryear (D) 8.50%107% peryear °
32, wTR G BT it fOR oo 26 - (The length of a meter scale travelling at the speed

of light is) o
(A) 1 b= (1 meter) (8) 0.5 fO™ (0.5 rnelgr]' 1) w47 (Zero) (D) = (Infin



33

34.

35.

<) Tollen’s reagent

a5 2 dfiar@ P N-type-a Tvmafes w2 e @ s R ST (To
convert a semiconductor material into N-type, which group of material in the periodic table
is needed?)

(A) I (8) 1l (€ W v

(37)10 7 TR T T (The binary value of (37)ygis) _ '

(A) (101010), (B) (100111), 20 (100101), (D) (101001),

1 e 34 0 (1 light year is) l .

(A) 3x10" hr (B) 9.46x10%s  (C) 3x10%km () 9.46x10" m
. g ;5',{1*‘1#{3&@ 3
v A (Chemistry)

@S =R <Frs e (Which one is not an amino acid?)

(A) HNCH,COOH (B)  HaNCH,CH,COOH

1% CH,CH(NH,)COOH (D)  H;NCH(CH,COOH)COOH

R eI S WERTET Reemmomy 8 Hy (What are the products of alkaline hydrolysis

of ethyl acetate?)
(A) CH;COOH + CH,CH,0H (B) CH;CH;COOH + CH,0H
{C) CH;COONa + CH;0H ~'Z)  CH,COONa + CH,CH,OH

i

WSt GrEre LIAIH, Foa feneem o 87 @B (Which one is the solvent during
reduction of acetyl chloride by LiAIH,?)

(A) Dryether . "j Water (C) Etha_nul (D) n-Hexane
0.01 M «Frs Fa0T @T |;H saesta 91 (Which one of the following acid solutions of 0.01 M
has the lowest pH value?) .

(A) CH,(CI)COOH (8) CH(CLJCOOH _.'J)  CH,COOH (D) C{C1,)COOH
HCHO e i frsIca CH,CHO (G *u 3t (How will you differentiate HCHO from CH,CHO?)
(8) lodoform test

[C) 2,4-dinitraphenylhydrazine (D)  NaBH,

Fa B oroe-orw T o wrere SefEe- (A salt ylelding a yellowish-green caloration in

flame test indicates the presence of-)

(A} Calcium () Potassium (=" Barium (D) Sodium
e Be ey g Bomrm cea®r (Which one Is the main constituent of pulp production?)
(A} Na,S S " Cellulose (C) NaOH (D) Sulfur
Siov At [ W e Ty (Which of the following is not a green-house gas?)

(A} NoO, (8) CFC © CcH o
ot FeGrenitm? (Which of the following Is a nucieophile?)

A1) CHyNH, (8) CHy (C) BF, (D) 504

4
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10. Cr{OH},, CulOH),, Zn|OH), a2 Co(OH), WYYCF TR 7t 42 TFH E7I- {The colors of the
precipitates of Cr{OH),, Cu{OH),, Zn{OH); and Co(OH), are in the order of-)

{A) Green, blue, pink and white (B)  Blue, pink, white and green
') Green, blue, white and pink . (D) Blue, green, white and pink

1. fow @ af cis-trans TN & @ (Which one of the following compounds shows cis-
trans isomerism?) )
(A} CH,CH{OHJCOOH  (B) ClHsCHBICI L)  CICH=CHCI (D) CH;=CH,

12. Fom i 73 e cl stia w2 (Which one of the following forms the largest number of
compounds?) _ : .
[A) Argon (B) Krypton 177" Xenon (D) Radan

13. w3l CH,CN W0 o Tt TR Hea ToTaTa- {The number of o and & bonds in CH;CN
molecule are-)

.oia) Sand2 (8) 4and3 (C) 5and 3 (D) 4 andl+l e A
\
14, FICATE ¥ W W (Size of Nanoparticle is) . "&_ £ ;3-1.. 2l
g 4] 1-100nm ) (B) 100-500nm e VbW
{C) 500-2000nm (D} 10 gm=0.1nm Eéﬁr_-:.ﬂ
15. @i cres ’fFm =m? (Which ene is not a redox reaction?) > H
(A)  2Hy0;-> 2H,0 + 0 8)  NHMNO;= N,O + 2H,0
{C) PbCO;-> PO + CO;, (D) OF;+50;-»50;+F;
16. Fom i worrem wisTs {fFn omr (Which one of the following undergoes aldal condensation
reaction?) .
(A) Methanol _8) Ethanal {C)  Benzaldehyde (D) Chlaral

@ T TS wiera Fifewtn efuit el Sem AT Tarmm T T (Which acid-base reaction has
the least negative value of standard enthalpy change of neutralization?)

(A]  NaOH{agl+HCOOH{ag)->» HCOONa(ag) +H:0(f) ‘L) NaOH{eg}+HClag)=> MaCllag) +H,0()
(C)  NH,OH(agH+HCOOH{ag)-> HCOONH,{ag) +H;0(1} (D) KOR(aq)+HCKag) KCllag) +H;0l)

18. STP (5 <=l s wefy wrmes 37 B2 (What will be the volume in liter of 1 molecule of
oxygen at STP?)

(A) 7.44% 102 B) 265x107% (€ 531x102 ) 372x10°P
19. s {2 wemmm Ferer ariitos arrel 0,015 g/L @t TR we 143,32 g/mol T o W

o= 57 (What is the solubility product of silver chloride if the solubity at a particular
temperature Is 0.0015 g/L and the formula weight is 143,32 g/mol?)

A 105 x107° . (B) 200107 () 1.00x10°2 (p)2.20x%107"
20. grs2 A gl #Fe qa Toml RAen o st wo® fiis Tovels far (According 10

I|-lum:1's rule, how many odd electrons are present in d orbital in the electran configuration of
Fe?)

AA) 4 {8) 5 [C) & (D} 7

. £
st g2t 5"39‘4’%*.—4-.—-—'577



21.

22.

23.

24.

25,

27.

28,

29.

30.

31.

#MEC

(P SNaTAICTD W1 GG A SR o com e 2 7amr (Which indicator
will you use for the titration of potassium permanganate with sodium oxalate?)
(A} Methylorange (B) Diphenylamine (C)  Starch *5) None

H,50, 97 BT BRTCE SOTI-Rmered wma M 257 (Which one Is true when aqueous HySO4 is
electrolysed?)

(A) O, formed at cathode -'-.l':‘s']‘ SO, formed at anode

(€) [H:SO4] increases (D} No electrolysis

4 ¢ - (Milk is a-)

{A) Solution (B} Emulsion (C} Gel ,fj}n5uspen5iﬂn
(=@ie HSO, <& =M% %/r (Which one is the conjugate base of HSOZ ?) y

(A) HSO, Ay s03- (© HyO* {D) H,0

fsa cerfoa frBm wufiemet %= 29 @ 7 (Which one has higher value of second lonization
energy?)

(A) Mg {8) K @ C AT A

PCls coistioes GeifeTs == 21- (What Is the hybridization of chlorine in the‘mmpnund PCls?)
(a) sp? A% spd (€} sp’d? (D) sp*d”

5Cl, =<3 wigle @l {What is the shape of SCI; molecule?)

(A} Trigonal planar (B) Linear (C) Pyramidal . ','.Ji V-shape

e eRlre iEwrem 59 G2 (Which of the following has no hvdragen‘hnnding?]

(A) CH,CH,0H (B) H0 (€)  CH3NH, (T CHyF

Frowe ezt =t Rissm e e (Which of the following daes not give Calnnizzaru reaction?)
(A)  CH,CHO ~ ) CH;CHO {C)  CHiCCLCHO (D) (CH,)sCCHO

e Freie © P Rimm R yaem i Semzmr (What type of alcohol is
produced when acetone reacts with Grignard reagent?)
(A) Primary (B} Secondary {C)  Quarternary .J] Tertiary

sty SR offcew Befefere 165-170 °C wrimmm e cre TRFA 2ol T R arr T

Wit (What type of reaction occurs when ethylene Is obtained from ethanol at 165-170 °Cin
aresence of concentrated sulphuric acid?)

_.!*;" Dehydrogenation (B} Dehydration

32

23,

 [C) Cracking

(D) Rearrangement

e AR TaTa BHIEE TWr (Which one is not an example of buffer salution?)

(A) NH,Cl+ NH,OH %7 H0+NaOH

(C) CHy;COOH + CH;COONa {D) ' HCOONa + HCOOH
fieem e cietiie stemite cafir  (Which of the followings has higher melting point?)
(A) CaCly ® coB, (O ca D) caly
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34. aA+bB - cC+dD Rirulibe cwm car fafum wra Fe™ 322 (Which one expresses the rata of
the reaction aA + bB 9 ¢C + dD?)
—d|A —d 1-—d[C ‘1 d[D
S @ =) @ =0 G 2o
dt Tdr c dt dde

35. Nilg) + 3H;(g) = 2NH,(g) wrewtesnfi RidFmia cvm el 217 (Which one is true for the

endothermic reaction Ny(g) + 3H,(g) = 2NH.(g))?

(A) termm % A =iy 5= B 7@ =@ (Increase in temperature shifts the equilibrium to
the right)

(B) =1t 3R e sy fafFne T AT TW (Increase in temperature enhances the rate of

: the forward reaction)

S5 g siv 3% T NH, 91 Bestiis 0y g (The yield of NH; decreases with increase in

pressure at equilibrium) :

(D) &% IR Mg A0 W @M G (The value of the equillbrium constant is high at
high temperature)

. B L A

4

‘5"'#'1; Pk
3 sif® (Mathematics) 35\11 EG?

1 }'—%mfﬂﬁ“‘iﬁ x—%mﬁ'ﬁﬁmﬁtﬂﬂ? [What is the slope of the tangent at

pu]ntx—z of the curve y-% N .
(A) 4 eio) —8 ) 8 (D) —2
2, x?—5x%+417x—13 = 0 7Homw 0 1 17, @ oG 91§17 ( IF one of the roots of

the equation x* — 5x% 4 17x — 13 = 0is 1 what are the other two roots?)
ey 2430, 2-3i (B) 243, —12+3 {C)  4+2i,4-=2i (D}  2+4i,2-4i

{0,0), (3,3) © (3,5) i RexiB wrn wifie frstem oot 7% 3397 (What is the area of the region
bounded by the points (0,0), (3.3) and (3,5) of a triangle?)

r S (B] 16 {C) 24 [D] 12
4. y= tan~1 2 m'r L 1 ey { What Is the value uf 9 i y =tan™1 = 7)
1-x* dx 1=z
s 1 -1 ~—-2 2
L B c
1+ x2 1B) 14 x? @ 1+x? {D}1+x2
5. 1=-cosix
[ freo dx @R ¥ (What is the value nfj'u_ ——dx 7) -
(A) cobx—x (B} tanx — cotx (€)  x+tanx ’ 40) tanx—x

6. 9x*—16y* = 144 ST BAHTHT 70w 2T FT @S2 (What is the eccentricity in square
unit of the parabola 9x% — 16y% = 144 7)

() 5 (B) 4 1] o (D) 1

F

7. —2a,-3,0, 3, 2a IONOTTR G TA4T ¥97 (What is the average distance of the numbers 23,
—-2,0,3,2a7)

(A) Sa/6 P ; (C)  4afs (D) 6a/5
[ 4
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2 T
ITLEE L 252 am w1 T (What is the value of the sum 12 + 22 4 32 4o g 252

7 .
A) 16250 8] 5525 (C) 3250 (D) 625

- -11_ -1l -1 -11 -
o 2tan 3 tan 1 tan x“mx'ﬂmwf[leIﬂn lg—tun 1;1=mn'1.rthen

what is the value of x?)

n ® @ 1 A%
32
0 A= g ; 9| AT 7 Beice e 2 (What s the cofactor of the element 7 in the
®
determinant A = F} i § 7 sl :
6 7 8
(a) 19 (8) —19 © 17 D) =17

11, 2x? +2y? — 2x + 6y — 15 = 0727 v wwr (What is the center of the circle 2x? +
2y?—2x+6y—15=07)

-1 3 . 1 -3

A — & - — — -

W (553) (55 © (-1,3) () (1,-3)
12. f(x) = V4 — x? @ o1 @ e ¥ {(What is the domain and range of f(x) = V& — x27)

(4) [~2,2]and[-2,2] (B) (—o0,0)and [0, 2]

~) [-2,2]and[0,2) (D) [—2,2] and (—¢s, )
13. 31’_,3-1 JI_!-.I

i gmsc0 75 O VIR TS (What Is the value of limyua 5555 7)

A) 1 (8) -1 © o (D) o

14. 20x? + 36y? + 40x — 108y — 79 = 0 7itwrd® A Fi™ 3wz (What does the equation
20x? + 3632 + 40x — 108y — 79 = 0 represent?)

(A) 79 (circle) (B) %ugm (ellipse)

Z) wfge (parabola) (D) *mmE (hyperbola)
15, y:xfn:r—xﬂﬂ %ﬂ'ﬂﬁﬂf (What is the value of :—i fy=xlnx—-x7)
(4) 2+ inx 7, inx (€) —inx (D) 0
16 [ 2L qamwer (Whatis the value of [ = 7)
W Inx+e tzy"  In(inx)-+c () Undetermined (D) Constant
P
V2l ~x—12> 0 womem MR T (Solution of the inequality x* —x —12 > 01s)
W x<~3,x>4 (7" —3<x<4 (€ x>-3 (D) x<4

18 2 - . _
?1“ fox az ¥2 = 4ay W@l s cvwR oeaen o (The area of the region bounded by
y =4ﬂxaﬂdxt =4E}F I.S}

() 1642 ®) 16 4 105 (D) 16
3 { 3 ) +5
gt oA
v b sSR!
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lg'

20.

22.

24,

25.

26.

28.

29.

#MEC

E 9a Tpw ¥8r (What is the modulus of %?:‘

(A) 0 P (€ 2 (D) /
L
. 1Yo " . _ . 13\® )
(x _:_!) @ fgfere x1'«@ TN ¥ (In expansion of (x -F) what is the coefficient
of x'17)

W s () 64 (c) —64 /D) —56

- “ADMISSION’ *rfliz 7raaom 34T w1 FiTn ¥ <7 AT ¥ (In how many ways the

letters in the word ‘ADMISSION’ can be arranged?)

o 9] gl
{Al 9l " — g9 D) —
i TET © A ST

e (_%'“ﬁ)mﬂmmﬂr (What Is the polar coordinate of the

Cartesian coordinate (_—%. —%) 7)

(A) (1,90 A s (@ (2,90 (0) (2,225
1 V3

sin10°  cos10° =

(A) 3 (8] 13 Iry 4 (D) 14

2, =—1—(y3a z, =v3 —i T Arg(zyz;) ®TAFE? (What Is the value of

Arg(z;z;) whenz, = =1—iV3andz; =3 —(?)
() I (8) 5% s’ === © %
6 6 6

3x+ky—5=04T 2x —y + 7 = 0 =R I k @1 79 F=7 (What is the value of k
when 3x + ky —5 = 0and 2x — y + 7 = 0 are perpendicular to each other?)

(A) 5 (B) 4 9 6 (0) 12

1 corm 20 *raed WIS ALOIH TS 7T et PPy Fer o’ 3 W 5 @ ofes W@ AR
=& g7 (If a number is chosen as you like from the natural numbers 1 to 20, then what Is the

probability of that number being multipleof30r57)

g 3 5 .49
A = ®) - @ 2 ) 5

k @2 @R WeR W (x —y +3)% + (kx + 2)(y — 1) = 0 7wl ol o Ror 7w (For
what value of k the equation (x — y + 3)% + (kx + 2)(y — 1) = 0 represents a circle?)

(a) 1 . ] 2 @ 3 (D) 4
|1-2| = |-6| | = T ¥2r (Thevalueof |[-2|—|-6||s)
(A) 2 (8) 8 o 4 (0) =8

ot 1t oo 2t t orows (3¢ + 247 bR sfar wwt 5 RED B cot v T (If 8 car

passes (3: + -;-r‘) meter at t seconds, what s the velocity of the car in 5 minutes?)
(A) 60 m/sec (B) 72 m/sec g 1277 78 mfsec (D) 80 m/sec

[ —



s &% H#MEC

' -]
R R f(x]=5x—3 W ASEREFEN [7(3) @ W77 (Let the function

f f:R-— R be defined by f(x) = 5;' — 3. The value ﬂfjhifa:l s)
W < € -12 (D) -2
5
3. REER TR 30 IR 157 70 T o AR s 4 W W AR | v By & Bor
w79 UW? (3 committees will be formed by 12 students where each committee will have 4
students. In how many ways the committees can be formed?)

(A] 34650 (B) 35000 . ic," 495 (D) 70
2 P4px+r=0 THewRTG® g b c T (b—c)? + (c —a)? + (a — b)* T TR ¥
(ifa, b, c are the roots of the equation x? + px + r = 0, then what Is the value of o~
[b_—r:)’+(c-n]‘+(n—-b)‘?] I #
< —6p (B) 3r () 6p (D) —6r ¢ :

: 5
3. x20,y20,2x+y 2B x+y S BTEMOTH 2 = 4x + 3y o ARG TH ¥y (What & *
the maximum value of z = 4x + 3y with constraints x > 0,y=20,2x4+y28,and ]

x+y=87) . 'I"
¥ ¥
(A) 16 (B) 24 L) 32 (D) 48 -

34, 3P w9 2P WA IACA NG R; R auw T R Req 721 50w i Te Red Tm ) mREka
078 T T (The resultant force of the forces 3P and 2P Is R. If the first force is doubled
then the resultant force alsa becomes double, What is the angle between the two forces?)

(A) 60° (8) 90" () 150° i#7120"

(

35. car"f+s{n"1-:-ﬂﬂﬁwr (What is the value nfca:"§+ s:‘n“‘-:- 7)

(A) tan™'0 (8) tan™'1 (€) nm“% "-'-lh tﬂn“% :
o *.;..:‘% PRIE o %?’ A, xea®
i 'E' + % "';W‘ '-'g ey 4nexd
Jor (English) o .;wtt
1. What is the synonym of ‘coherent’- .'
(A) content (B) intelligent (C}) logical ) punctual
3 What is the antonym of ‘appreciation’ -
ey disfavour (B) decode (C} decipher (D) admiration
Y Ihave read an abridged version of the novel. Here ‘abridged’ means -
. W expanded .- (v} shortened (C) detailed (D) original
"heh ofthe following Is the correct use of a preposition?
! linsisted in is going away. 13} 1am confident in winning.

|
*25 beginning to feel at home in my newjob. (D} He was angry upon me.
10

|
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10.

[ =
11.

12.

#MEC

Choose the most appropriate option {a5-0Q11)

you were |ate, | cuuld not walit any longer.

50
{A) Because F _.r]' As (C} For (0)
He worked hard so that he_______ win the first prize. _
(A} would (8) should i7" could (D) can
Ayub Bachchu, Bangladesh’s rock legend died cardiac failure.
‘A of (B} by (¢ from (D) for
| would have flown in the sky the wings of a bird. P
(A) ifthad (B) If1 have had (C) hadl /W) IFlhad had
They did not sympathize the arphan. )
(A) at {8} for ') with (D) to
The situation was bad, butht worse.
f*y could be (B) can be {C) could have been () must have been
He gave a sudden start he had been shot. Which of the following Is the correct
conjunction? .
[(A) unless (8) though (C) asif ) provided that
Choose the correct sentence. :
'4) My mobile phone and yours are on the table. (B) This pond is their. B

; (C}) That mobile phone of your is on the sofa. {D) This problem is not ouir's.

13.

14.

Find out the correct use of the degrees of comparison.
{A) The bay Is the clever of all. {8} He is the most cleverest of all.

(€] Heis the cleverer of the two. 2] He & junior than me.,
4

Choose the correct sentence.
(A) 1played this game once ago.

I=, Twenty years ago, such a sight was common.

E

15,

(C} | never ago saw such a beautiful sight.
(B) You will win same prize ago your next birthday,

The guard said to the stranger, “Don't sit there.” Which of the following Is the correct use
of indirect narration?

"y The guard forbade the stranger to sit there.

(8} The guard bade the stranger don’t sit there,
{C) The guard forbade the stranger not to sit there.
(D} The guard bade the stranger to sit there.

' 11



A9 I99H (Physics) .~

&~ fwa cofy cinffea ay (Which one of the following is a base unit?)
(A) g4 (Coulomb) |(B) wmfmm (Ampere) (C) fE6T (Newton) (D) < (Ohm)

A waA=-FBuoneraAx D aa %% (If A= —BthenA X B =7)

) A (8) 1 i

A./ vl fufeeba 30 cifaa caora T %7 (The angular speed of the minute hand of a clock is)

(A) -?rgrad/s | (B) -1-%:-]2!'3&1/5 (C) mrad/s (D) ;%rad/s

A fivwy camfd Brefw @z (Which one of the following is the unit of torque?)

(A) Dyne/cm (C) N/m (D) N/m.s

G 7ot wavant p, ael(ba sifife fodt @1 oy o TP TAAM FT 22A? (The momentum of a
particle is P, If Its kinetic energy is doubled, what will be its new momentum?)

S.

(A) V2P (B) 2P (C) 4P (D) 8P
_-. %7 o1 T, Fme (The spherical shape of rain drop is due to)
(A)  wf&wfer a1 (Gravitational force) B) “¥bH (Surface tension

(C) & (Viscosity) (D) 9 (Friction)

7. 60° W *Idrrra 36 =1 s o ofiday 7o) (What is the path difference between two sound
waves having a phase difference of 60°7)

A ] A A

A8, & TR ST ¢ SR “47 @7 (The volume of an ideal gas becomes zero at)

(A) -273°k (B) 0°C (C) 30°F
9. foalG yrees ¥iw 2,3 g 6 KF 1| G RATeT aoos oy €ew 392 (The capacitance of three

Capacitors are 2, 3 & 6 pF. If they are connected in series, what will be their equivalent
Capacitance? )

(B) ZuF N (D) 2 uF

10. T G0H ATIET T A7 (Which of the following waves cannot be polarized?)

(A)  aF-af (X-ray) (B) *M 3% (Sound wave
(C) w8 war (Radio wave) (D) ST ©77 (Light wave)

AL, ErEm @t e g fise CET 0747 97 (What is the
the speed of light?)

(A) 1fI0r (1 meter) (B) 0.5 51 (0.5 meter) | (C) T0(0) | (D) =& (Infinite)

12, 70 RGO (1C) @ @iy 6000 7% 1 24000 TG I 100 gm TR FTHF W1 B A7

(The half life of Carbon isotope (”C) Is 6000 years. What will be the remaining of 100 gm
Carbon after 24000 years?) |

(A) 25gm | (C) 3.135gm | (D) 0gm

length of a meter scale traveling at



13, %0 IWF 98 m/s Q@TT GI 30°

projected Into the air, at a spe
What is its time of flight?)

E‘:T;:;IBW ficm«t w1 el | AyhE oz ww wor (An object is
m/s and an angle of 30”7 with respect to the ground,

" ;?:m;o ;;ccm (B) Ssec (C) 12 sec N
/ (A) 3% M (Increa (If temperature Increases then the surface tension of s liguid
= (B) &1 1w (Decreases)

'~ (C) *TZW (Become
5 7ero) (D) Gfa7iEs iz (Remaing unchiariged)

15. 10 Q WS I3 SR
T = | AffTiT a9 (T TSI 1t 2] 20t A0 Sleaa (s faerd €0 At Somins (mann
(M4 T A7 (A wire having the resistance of 10 €2 is stretehied 56 thiat

its length bec : .
_ g omes twice while the cross-sectional area becores half, What will be its ries/
resistance?)

(A)_40Q (8) 200  (C) 10Q (D) cwrE s (None of these)

16.
SIS (I T (T 9 =W 7w elfooper (@i 7% (The incident angle is termed as critics!
angle when the angle of reflection is)

(B) 0° (C) 45° (0) 607

17. 1 amu S&F ATG *If% F7 (The equivalent energy of 1 amu rmass is)
(A) 931eV (B) 931 MeV (C) 931 meV (D} 9,31 rhieV
18. 1 eV T© greg T4A? (1 eV = ? Joule)

(A)  1.602x10°1° (B) 1.602x 10716 |(C) 1.602x 107" |(D) 1.60Z¥ )
19, T3 I AIY tTRibwaw vier Frae 7 (The slope of the velocity vs, tirne graph represents |
(A) 4 (Displacement) (B) %o (Speed) C) wad (Acceleration) (D) %% (Foree)
20. EE BT =T =S GfB T8I e [ A 7, 287 sifs=e 70Aw 24 3%9 747 (The
- amplitude of oscillation of a simple harmonic oscillator is A. (t will have the mazirnurm
kinetic energy when the displacement is)

(A) 2 (B) = (C) O (D) A
2 V2 1002

21. WG IS (F0d 10 O ity T4y foca erifze favpeee I VNV l
T %7 (What is the current through 10 Q resistor  —>— 150)
\/

‘in the given circuit?)
(A) 1 B) 0.6 ] (C) 0.4 (D) 0.2 1

22.  «ft warzd AAesd y = 10 sin(2007t — x) @A, 7ol afimem w57 (If the equation of 2
wave is y = 10 sin(200mt — x) then what is the time period of the wave?)

(A) 15 (B) 0.5 (C) 0.1¢ (D) 0,014

23, it o ¥ eanza (AC) it T 2, araiza el 1y (0%
(If the time period of an alternating current (AC)is T then how long It s

the current to its maximum value from zero?)
(A) 27 (B) T (C) D.57 (D) 0.25T

24, T (25)10 497 (%717 7 2@t (The binary value of decimal (25)415)
(A) (10011), (B) (1000110); (C) (11001); (D) (11011);

2

Bz (AMTICE G FNY WA

required to reach



25. o IS SRR ommrefa TaTY (With increasing temperature, the resistance of 3
semiconductor material)

' | Increases)
A) I W (Becomes infinite) (B) '{ﬁT‘WT( _ |
(C) R W (Decreases) (D) weif#af¥® T (Remains constant)
AS. IR 97 GTER Wit (The dimension of Young’s modulus |
(A) M-IL7'T-1 (B) MT2L72T? (D) ML-2T~2

27. TICAT TS SToRLa 3 Co10eT MICTa WGTArH 1@ e (If the temperature of a gas increases,
the root mean square speed of the gas-molecules)

(B) ZT “IfT (Decreases)
(C) wiffow Qe (No change) (D) (FAOR TH (None of these)

28. mﬁmmwm C5TH (AT &I 1 SRZIT (The number of turns in the secondary
coil than that in the primary coil for a step-up transformer Is)

(A) wf (Higher) (B) ¥ (Lower) (C) 79 (Equal) (D) (F1MME 777 (None)

23. ISIRT o7 =3 TR Jow 77w @2 (What

is the minimum distance of clear vision of
normal eyes?)

of a standing wave is)

A
(A) " (B) A (C) A A

31. SETHr T B (The charge of an a—particle) |

(B) ¥ITIF (Negative) (C) frRTer® (Neutral) (D) =HGR 77 (None)



T ﬁrcmwmw
other?) (Which of the following pairs are isotones to each
(A) *%Cand 3¢
& B) 35 37

P T . WWW;:[WUCI and37C1 - J(©) Cand YN | (D) *4Cand 14N
Flame Test?) T I CRfB? (Which element shows brick-red flamein
(A) Na

(B) K (C) Ca (D) Cu

(E) TS B39 (Saturated solution) B) 2™ (Emulsion
(C) A B9 (Unsaturated solution) (D) Wﬁﬂ@m (Supersaturated solution)

/ﬁﬁﬁ HlntS OH - dﬁ T 999l 9 HY 93 (UiE1e 99 91@aid S999me 97 (What is the ratio of
molar concentration of OH™ and molar concentration of H* in pure water?)

(A) 7 (€) 10 (D) O

ST HlNCe RITY FI0T HIC Ba(NO; ), HI GO T AW YT AT T g HCl @ SHIT | B
YT SRA &Fio? (In a solution of a water soluble salt, addition of Ba(NO; ), solution gives
white precipitate which is insoluble in dil HCI solution. What is the anion of the salt?)

(A) coi~ | (C) Br~ (D) PO3~

6. AT (& =@ T4 (1 SR8 97 (Which one of the following has the smallest bond
angle?)

(A) H—C—H;CH: (B) H—N—H;NH; [(C) H—S—H;H,S| (D) H—0—H;H,0

7. ZIf5a1 o=k 3392 &= €305 ANY? (What kind of isomers are Butene-1 and Butene-27?)
(A) %= 7T (Chain isomer]
(C) T=Ior=E (Metamer) (D) STOINE (Tautomer)
8. Hickel rule ST (@niad 4n+2 e S 4 1 (4n+2) <1 A9« <27 (Benzene follows 4n+2
principle according to Hiickel rule. What does (4n+2) indicate?)
A) rm-Zreienq (m-electron) (B) o-%ri<aA (o-electron)
(C) o+r Tr<an (o+x electron) (D) 7%= qrA<an (Total electron)
o ATZ-SERIEE SATE ere LaTMIe R A HBr (T S5 (TR T27 T 737 (What will be
the major product when HBris added to Propylene in presence of an organic per-oxide?)
h-propyl bromide)  (B) <X (A1 @re (Isopropyl bromide)
(n-propyl alcohol) (D) STEE ATiEs e (Isopropyl alcohol)

— Br @2 =17 7= (The IUPAC name of (CH3),CH —

9.

(C) n- CHEMET ST

10. JUPAC et (CH;3),CH —CHz — CH,
CH, — CH, — Br is)

(A) 1-ESTAT0 (1-Bromopentane) _

Y i B B L R (2-Methyl-4-bromobutane)

- 3-faigareEna _Bromo-3-methylbutane)




11. @HT ST WS ReLafRF? (Whose geometric shape is linear?)

12. NHj(aq) + HCl(aq) = NH} (aq) + CI~(aq) RfEFms wadt =& @7 (Whi
conjugate base of the reaction NH; (aq) + HCl(aq) = NH{ (aq) + Cl™(aq) ?)

(A) NH, (B) HCI (C) NH;

13, 301 I TIGS T (Lucas reagent is used in)
(A) TTRer FEFATe (Detection of phenol

ch Onhe s thE

(B) STEIRE FAAr&FArs (Detection of afcohol)

TFCRIRE HAEdaet (Detection of aldehyde)
(D) ¥  f¥® SISt (Detection of fatty acid)

14. QAT T RO @ 08T SR ST_EE @7 (Which waste of the following is the most
responsible for global warming?)

(A) % (Plastic) (B) SRR (Aluminium) (C) /1 (Cupper) (D) T (Paper)

15. TP IET B 77 (Which one is not the component of glass?)

(A) Sio, (C) CaCO; (D) Na,Co,
16 ﬁmm#wwwaﬁmmm

(B) <=7 (Beaker)
(D) fT+% (Pipette)

18. CuSO, (aq) + Zn(s) - ZnSo -
_ +(aq) + Cu(s) ffem @ wife - o
the following reaction?) CuS04(aq) + Zn(s) = ZnSO +(aq) + C:?;)(Whlch one is oxidized'in

A) C
(A) CuSo, (C) ZnSo, (D) Cu

19. Cu(29) TN TR F0%7 90T SR TSI

: YT
numbers for the outermost electron of Cu(29) ato W " aRim ot oy qHartn

(A) n34,£=0,m=0,3— 1

2
(c) n=4;[=1,m=1j5=+3:.
2

20. WWWWWWWF

mirror test?)

(A)  certrre ( Propanone)
(C) @™ (Propanol)

| T (Sulphur) (D) Fiferesy (Silicon)
7?7 (Which salt is used in salt bridge?)

(A) CaCl, B) C
‘ ) UClz (D) Alz(SO.,);

23, v
3. LT O (eifoT gzt (Main protein of milk is)

2 |
(A) mﬁﬁ’(l(amtln) (B)nﬁf""ft'a‘(Lipid) (C) Wﬁw(Casein) (D) E‘Tﬂ?fﬁ‘l‘{ﬁ?{(Lact-‘abumln)
5



. : =il lowi
Al,O NE oxides i -
(C) Hz (D) NaZO

: WW? W '
(A) 200-389 nm B) 380 - g he Wavelength range of visible light?) ,
T e 7_00 Lt (C) 700 -900 nm (D) 900 - 1300 nm
: ‘ I 2H50H 99 Y 7
€Z Zreacts with C,H e s PO R 0 1 Z 7 (C;HsOH is

T sOH to produce an ester. What is Z?)
(©) CHLCHCOOH  (p) CHycoOLH,

28. TR T%E & qroresre ore SR FRis

followin i . il
) i‘ﬁ];ij:; 'SI Produced by calcium carbide ir ontact with moist air that ripens mango?)
ylene) |(8B) Wﬁﬁ%ﬂ(Acetylene) (C) 2097 (Ethane) {D) Rwmer (Ethanol)

29. IR 6,6 s
TRANB,6 9T (R 69 6 AT 7S T 7 (In case of Nylon 6,6 the numbers 6 and &

(A) FIREITEET ey (Number of nitrogen) (B) «fer=iiea™ 27T (Number of polymer)

(C) IHET A} (Number of carbon) (D) =TT Rt (Number of nylon)

30. 069 19 T @i 0T STdl- 31T fRTiE? (Which one of the following is ortho-para
director in benzene ring?) '

(A) ~CHO (B) —CN (D), ~NB,

31. A5 T ety <o Sy Ruite {A? (Which one of the following is decomposed at the

lowest temperature?
(A) MgCO; (B) Na,CO; (C) CaCO, (D) BaCO,

32. IPIET (FIIORIRFTS fFF Wit 0 (The stationary phase in paper chromatography is)
(A) AV (Hexane) (B)  RI=er (Ethanol)

(C) Irited oAf9rfa® 14 (Adsorbed water on paper) (D) TrETs (Cellulose)

33. CH:COOC3H; @ &ty NaOH wiat sidfReaaet et s (o cisift ¢ofd <2 (Which one of the

following is the product of the hydrolysis of CH3COOC3H7 by aqueous NaOH?)
(A) CH3OH (B) C3H;0H (C) CsH,COOH (D) C3H7COONa

34. I THIRGT TS ey {aciid pH FROW @7 (Saturated aqueous solution of which oxide

has the highest pH?)
(A) SrO (B) BaO (€) Ca0

i 5w o1TE (At normal temperature, oil is
35, ST SIS Toe ST 378 5fF #faT Q9w _

liquid but fat is solid because fat has)

(A) =@ C—C T% (Stronger C-C bond)
(C) =iffrrx fizT (Polymer chain)




\ -U AR

’Z@ IR sifis (Mathematics)
e 2 5
A a=(2 ) = det(2a) @ W T (M A=(5 2

A7 -3 _
det(24~1)is) _ | 1 o) 1
(A) 4 (B) —4 () - +

_ . _ 3

/ﬂ - R WA TS T, [agz_ 6-3]mﬁw$amﬁm? (If az

a-— |

matrix then what is the value of a?) . _
(A) 3 (B) 4 (C)

/3. X,y20,x+2y<10, x+y < 6 CMATT z = 2x+5ynﬂﬂﬂﬁﬁ'ﬁmﬂwr (What Is the

: <
minimum value of z = 2x + 5y subject to the constraints x,y = 0,x + 2y < 10andx + y <
6 ?)

(A) 24 (B) 16 (C) 12 (D) 10

| 12
46 TR G3R cotl = 15-2- A, sinf + cosf G WA FS7 ( If O is acute and cotf = 3 then the .

“value of sinf + cos@ is) '
13 | 17 13 (D) =X
/S/M ) 19 o = N

sin20° sin40° sin60° sin80° @7 T Te? (What is the value of sin20° sin40° sin60° sin80°)

(A) L (c) V3 (D) V3
16 16 2 -

'/&/f(x) = xInx @9 T T FS2 (What is the minimum value of f(x) = xInx?)
(A) =2 (8) -2 © 2 (D) e

e c

/yz = 4x *9eea (1, —-2) (0o =nfaa J80eaq oo (The equation of the tangent at point
(1, —2) to the parabola y? = 4x is) ‘

(A) x=y+1=0|(B) x+y+1=0] (c —X+y+1=0 (D) x+y—-1=0

86 -@ @ 3Ef cosh + vV3sing = 2 @ & s

) then the value of

6 .
ular
s 3] IS a smg

The value of @ that-satisfies cost +

V3sind = 2 is)
. sin2d : - sin26
/ﬁfﬂ? 1-cos26 QFW? (Which one is equal to 1—cos26 ?)
i coeg (B) tand (C) 1+ cos26 (D) tan26
A07 0 <0 < 3 R sinf =~ T, c0s260 @ T (If 0 < §'< ~and sinf = ~ then what is
the value of cos26?) -
> = 1
(A) 3 (B) > (c) 1 D) 1

2
/1./(4,5) Rte x2 + 92 4+ 45 + 6y = 12 = 0 3807 Ftera w3 T (What is the distance

between (4, 5) and the center of the circle x?

(A) VE8 (B) 8



12. A+B =45 zm, (1+ taﬁA)(l + tanB) ' .
* T TN 39?7 (If A+ B = 45°
(1 + tanA)(1 + tanB) is) ( 5" then value of

W v O 3 (0) ©

N Il
13. f(x) = ~ T (CIET 92 (What is the domain of f(x) = Ll ?)

- (A) R (B) [0,0) © (~w,0)
1 1

18. ) Tra % WIRTS (What is the value of ——s dx ?)

W G w o

15, —2<3—x< 8 (T I TR AR @ 79 (Express =2 < 3 — x < 8 in terms of

absolute value.)
(A) |2x =5l <3 (B) |x|>5 (C) Ix|<5 (D) Ix|<4

16. xy = 5 AT 93D (Equation xy = Sisa)

(A) TS (Circle) (B) <igs (Parabola) (C) ©*3% (Ellipse)] (D) w=f&g8 (Hyperbola)

443i | 4+3i
17. Y, I e 9?7 (What is the modulus of :_—;: ?)

(A) 1 B 0 ° (€) S (D) 10

18. C-< (FIH WA &0 x2 + y2 + 8x + 4y + ¢ = 0 390 <71 8 37 (For which value of c the
circle x% + y% + 8x + 4y + ¢ = 0 will be a point circle?)

(A) —20 (B) 20 (C) 16 (D) 4

19. sin [25‘!:71_1(-;-)] g9 I (The vaiue of sin [Zsingi(%)] is)

= . 5x—2
2.0/. limy_, e == 2@?1711?{ (The value of lim,_, — is)

xX+5 X+5 .
(A) o (B) 1 © 5 (D) 2

/7,1/37 = 2y — x2 qq& X-STF Y9 ARG (Fad Faq¢ (The area of the region bounded by
y = 2x — x*% and x-axis is) |

3 5 4 ?

(A) > (B) 3 . (C) : (D) ;

. ) . B _
_/22/( x + f)a- a7 fagfere X-3fE® 943 W[ @ (The x-free term in the expansion of (x + %) is)

(8) 1020 (0 1220 (D) 1210

1 _ X = 1 Ay e =
23. x +; = 2 T, T =7 (If x + - 2 then = ypear _ )
(A) = (8) 1 © 2 (D) o

2A. r = sinf 3803 @& T, (The center of the circle r = sing is)

(A) (0,0) | (8) (0,1) () (%,0) (D) (0,32.

8



0515° + sin15° _7

e _ o3 N
(A) 5 . n which one of the

V3

/Zﬁ’z—x+ly'{m' zZ = = 4]

following graph is indicate ZZ = - D) 3% (Ellipse)

(A) ST (Straight line) |(B) %T (Circle (C) Slkh (Parabola) o 413@ 27— 37+
o DT

Ifa =
a_21—3;+kb=—z+21—km,br‘amtﬂa g coaTa SferE T ( a‘

f), b-——.',+2]—7€thentheroectlonofaonbls) .
9 D) —
fqre (=7 9 PQ 7 qot T (If

m— 1 +—WX-WPW@QV-WQ

x+2
y=1-+< —1— intersect x-axis at P and y-axis at Q then the equation of the s

(A) x+2y+3- o (B z-2y+3=0]J©© 2y-x+3=0 D) —2y+2x—3=0

29 a mWWWA—aL+4j+3EWﬁx=Wm30° (@1 Beoi® Fde (For which

+(R value of a the vector A = ai + 4] + 3k makes an angle 30° with the x-axis?)
A 33 CINE D) 3V5

+
f;&/gQQAT;QN i T AfSqa 31%‘ wcf’»s R eI T FOSTEl 1% tow it A2 (Taking 3

vowels and 2 consonants every time from the word EQUATION, how many words can be
3 formed?)
Q (A) 1800 (B) 3600 (C) 920
}, GFT 6 (M (TAeTd fod 5 cm pFIR S T PO (7 AW O (TR W W TORT
53737 (A bullet loses one-third of its initial velocity after penetrating 5 cm in a wall. How

much more will it penetrate?)
10

(A) S5cm (B) 4cm (C) ~ cm (D) 3cm

traight line PQis)

(D) 1420

k- (@1 A & x —(k+2)x+18 0 Tredba oo o1 werziba fded a2 (For what

values of k, the equation x° — (k + 2)x + 18 = 0 has one root double of the other?
% A L7 B8 5-19 = (@ =519 D) 7,—11

75.2.3,7,2,5,7,3,6,7,1 %% 63 &pas 7(Mode of the dataset 5,2,3,7,2,5,7,3,6,7,1is)

\ " ) S Q2 D) 3

,}0/34/;;52 + y2 = Xy ECFI & mﬂmW? (What is the value of—lfx + y% = xy)

u ——— e —

(A) 2x+2y+1 . (B) 2x F 2y — 17— y—2x
o (D) 2x -2y +1
X~ ¢ CE s
/35/ am wWiy=x+- @’ﬂﬁi 195 ‘I‘U 0?7 (For which value of x, the slope of the line

e ————

| TN - D L
y = x + = will be zero?) |

Ao (B) 1 (€ +1 (D) 2



(English)

/i../What Is the meaning of ‘cutting edge’?

(A) advanced .
(B) sharp (C) old fashioned (D) injured

/‘z./ Choose the appropriate antonym of ‘outsider’

(A) alien
®)  stranger nsidous [0 Tmnabitant
bitant
/3’ Choose the correct spelling (C) insidious (D) inhabitan

(A) gorgio . |
. ‘ i EQTglous (B) goredious (C) gorgeous (D) goregeous
: ich of the following is a synonym of ‘arrogance’ |
A ' |
(A)  vanity (8) humbleness  [(C) modesty (D) humility
/5'/ Choose the correct passive form of this sentence: Ismail kept me waiting.
(A) Ismail kept me walted. 21 1 was kept waiting by Ismail.

(C) 1was kept being waited by Ismail. (D) Me was kept waiting by Ismall
K Which one of the following is a correct sentence?

A) | have read whole the book.
me) | have read the whole book.

(C) |have read the all book.

(D) |have read whole book.

7. Which one of the following is a correct sentence?
A) lamgoingona holiday.
(B) |am going to a hollday.
(C) lamgoingon holiday.
(D) |am goingtobea holiday.
Choose the most appropriate option (Q8 - Q15)

8  We decided to go to Cox's Bazar Friday Morning.
(A) ona (B) inthe (C) atsome (D) in

9; Thesky cloudy, | went out with an umbrella.
(A) been (B) being . (C) has been

10- My friends : the movie ‘Joker’ yesterday. |
(A) have watched ~ (B) had watched (C) was watching | (D) watched

4. The match was : because of bad weather.

(A) called off (B) walked outj_ (C) called on (D) called out

/12: l ] when the phone rang.

(A) have been sleeping | (B) was sleeping (C) slept (D) had slept

137 We have not met you for ___ .
‘ (B) so long time (C) suchlongtime (D) so many times

10



14, |wish Rahim ____ to the party.
(A) comes (B) willcome (D) to come
'15-Had | had enough money, | 3 motorbike.

(A) would buy L(B) would have bought

(C) had bought (D) could have bought




DU IT Unit Admission Test : 2020-21

IS 2OfNE
YN I ©fS AATHI 2020 - 202
SN2 S 90T wo NG
f=s $20

b G D B (T B [ i LR | C G

1. BBIATAT SATOITS AP NG NN, o WY I8 NoTd NN ©f® NP
HACIHNACT (JOICF (T4 AR, CTOIRR 40 ]I G3¢ @@a ACaqd Iﬁlf@wmw P09

TR
2. AIHIRIE (@1eT & IR 77 FT0e 12T IS 16 FA00 A
3. YT ATSTF AT BRI FA G&d (MW AR | SIS T8 ([R [NH Tegad kg
AR QA AT IS FIE FIETF IACHN T TSN OA6 FACO A
4. IR AT SPGB AR5 A A |
5. 01 BB(AF GAT (T NFF PI6I R T
6. 2YANTGI TP GITNT ATICHIIY LTOT AT M | AT (FI HI91 BIZF FAT I
o
7. PIETPCEACIE I D (P TR0 g VIR B I |
8. IHI (7T NI TSN LV 72 ASTIHIHT NS IO A OIN5T AT I |
9. CNTATRA (FIN AN W (F AJ NP J NCT AIHIR 20 A 5T ¥z | (F6 I
(NIRRT AT BT (NN FI LT (WR12A (FIN 2 B O O A6 AAG AT
T RN N = |
10. VAT (TN AP ATTATT TITHNG (G FACT AAHIACE IRHIF 3 2 438 O
AT S ITe 517 =J|
11. 2T TSI TS FNIF S T AIHI (T4 IF FAR I ASTIH I BB ING
IR AT S WS OF151 FAR AT
12. NN (IO (M ATAGH (N2

Physics



— . - - - . . . .
1'A:2i—|—4j—5k &B =1 + 25 + 3k (1 point)

Y |

%

A 8B

A7 A (SF AT TSI AT IFF (G| A6 ZCAT-

O3, 6. 2.

.§%+§”—EIE
7' TRl Ty

O—§%+E“+EIE
7' TRl Ty

Oi%—E“Jrzl%
7' Tl Ty

Explanation:

fé (O,

— — — R R ~
R=A+B=3i+6j—2k

WA A FC (S5 STNSA (A OIRT A5 (O QTR TZNGAT AT SN (I [O13
QA*N (MY (]|

AN (X)) AGANT, ARNSTATT Y ATO Qe P AN RS |

2. IR ATSHT 9310 T [eFIIFe T0aM; 8 M, STAAFfo IWre (1 poiny)
AfFTS AT ©F GO ATF AT (ATF v; 8 v, (I I FATO
FATSTHAT ISTZT v/v, YT O TCI-

O MM,

® \viyM,
O [m
M,

O
M,
Explanation:

RCFIRT® TSTE TS IZOT IFOI IOV I3 G (FTV (57 W ATHY [REFIETO TF ™ (TN
CRICREISICS RIS GRED ﬁcwfawim YN FOI U T [N A® Mt R, ©12 IF0 Ao
(@91 AG{G© 40T WA (@9 (NUoIhw 490® =

v _ M

0 = Mijvy — Myvy = — =
101 202 s Ml

40T foBT F(IS IAT I, TMF (I T© (I X ©IF 9 ©© Y YH |



3. fRtea (@=e @9 @ rar? (1 point)
@ 11
O 11
Oq-1r

O q-1p-1

Explanation:

WINAT G,

27
w=—

T

ST,

o I N4l T (TN Wy =[ 77!

4. g0 BISTIAF B XTO 93 RHAT ATYF LTI SAFF s (1 point)
voSITATATST fRT3H 21 54T TCAT | AMAAD 3v,) (ITY GINTS QT
BreWAfoa Sver 203-

O 311(2)
9
@ 41)(2)
9
O 61)(2)
9
O 9?2

0

9

Explanation:

9\/“;_ U205

5. SPTBIRTASP B [NSHATT SN JFB LroF TP WHfo® SITeAas Afqa (! point)
AT BT FATA [N 57C FBREIZAR 1@ -

O ez

O prrava1
O =5w ==
® % I

Explanation:



WSS AT ATT G (IO INGR [FE AR (FIGIAT IS JF2 BRI 012
PLOREF &S 4R AP

6. AT CATAN STF® ST=F 930 IBA BT FSTFA A I (1 point)
I H-

O ey =1
O wists =@

O fRxaT x=
@ SN I A

Explanation:

RV G ST FLIFICED (FIN T=0F (72 [T (AN ST (AT A0,

L
T =27, |—
/o

7. Q36 TV TS TYN ATT¥T SIANATT (R ©4N MG (1 point)

O siyreroq 41 9g® =W

O wif® wate AfFr® =7
O sfifgs wafis Redie dre SR
@ FH B AT FE A

Explanation:

S SIS ATASNT SINAHI(0K) 4 SGFOINR N I WTo~ N7 20 T E FEAW 7
NSGS WNT T IR L, ST [[ReH & I0® [F7 (W2 I~ ST N (FI
WFYN-[TFEN (72

G T OIANTET & WO B R (SR BIHNS QT (O 147, O ST (I B9 AT
PN

8. CFITNT SIS I/ FATTF NN (1 point)
a = — 47’ sin(27t)
R, 49 AV RS-
@ sin(2mt)
O _sin(2mt)
O cos(2rt)
O —cos(2rt)

Explanation:



9. 1 kilowatt-hour (KWh) = ? (1 point)

Q607

O 36007

@ 3600000 J
O 36000 J

Explanation:

w1001 XS N @A o3 LIpTeT 7w 1 wifemm watw Ry ek TREER FAwE
G FASTLF 1 GG I | AN P HFTOIWF (I T8 + 777 AN 10 Fa¢e1 68 77 IR© Y 207
W =Pt = VIt = I’Rt Watt.

STG-9B (Watt-hour) : 1 A5 WAGHME <M T8 1 T4 318 39091 (@ I TIT 20 ©F 1
SHIB-9HT Tt |

Reraeib-a%t (Kilowatt-hour) : 1 Retememit Faerrer v 73 1 76 @1w 370 @ R 7
W, Ot 1 f¥erenb-adt 3te |

» 1 KWh = 1000 Wh = 1000 x 3600 ] = 36 x 10%]

BOT : 7R Reya Ry sz erenfi @@ a9 92”36 fAgye @1-a51 96, ©1% 93 @r
% @ (B. O. T) 9 HCHLA Unit 931 | 9IS B, O. T Unit = 1 KWh = 1 Unit.

10. g6 Oy 9B = foroa V47 MTT ST Iy WHNIAfSS ztaAT] (1 poiny
WAISNA AfTwT RS Fa19-

O oawftq RS8R 8 SImn<ha B

O st @1 ¢ B WHad B

O oawfBa wamtnds 8 forwa SHNMITHT B
LA EE D AR B R A S G E R

Explanation:

I ATTY SASI, AL THAS AT T €32 T3 AR WIS T |
TS S : FoEA JBw ufe =S AwwACY; W—
(3) WG 41 (straight edge) CFTE : 417 Y SF O T R 4R 2P R GG AR

TR A IR AT WS A
() g fera oFta - fow 4@ o WO TR A0S 97 I SROTAGR A-9d TR A TR
T4 WS W
SR GG G2 AT, I —
(8) FE @it 96T (Fresnel's class of diffraction) €32
(3) TR fd WAAET (Fraunhofer’s class of diffraction) |



11. 930 SEAHI F 8 IFB fIBT TN AFOINT 9F6 JIN (GIFFCICH (1 point)
TI*I FACAT| fIBT FNF (I AHT FT (ITF Foq 1 fIBT 8
WD TN T [T (g IO SANNS AT WIATST TN

PO?
O 342
@3
O 322
O 31

Explanation:

_Eoc___ — - O Vg Bs9° -

o D8 N
€. 3V
-
. \C‘\Q : FBQ = B: L
12. fNUea (FHIS afg a1 (I point)
O wronran
® T~
Owx
O sty
Explanation:
LUREIRCHIT
FAE=RN SIS
PSR, I ABI0 oA/ A

13. (PICAT AF(6 I/A FAYV i= 13 + 262 + 5t (m) TCA 4 OIS AT IGoa (1 poino)
TAT TS XA?

O 82 ms2

O 69 ms2

® 28 ms2

O 116 ms2

Explanation:



3. - dw
€
= Sttt 4t+5
T = AV
ot 7
= 6t
o
Qa L(IT 45) = 4%6X4+1
=g pp iU

14. M 8 4M ©TA4 {6 SN IB AMfoNG 92 T ©InA CAfLS (1 point)
SRR WIS TS T(I?

Explanation:

QN G,

P=.2mK = p x y/m

P M
M — 12
Pyyy AM

15. 2 m CAET 932 1mm? TR CHawd (A8 9B Oda20kg®d (1 point)
T (MO =TT ©IABd (AT 2 mm 3% (T ©1afoa 22 aF

BARTHE VN F9?
O 5x 101IN/m?

® | 96 x 10! 1N/m?

O 1.96 x 1012 N/m?

O 5 x 1012N/m?2

Explanation:

G,

X_FL_mgL_ 20 x 9.8 x 2
AL AL (1501073 x (2 x 1079)

PPN B AI],

¥=1.96x1011 N/m?

16. SN AT FAT5y TATSHN 105 Hz, 315 Hz G2 525 Hz. *TAIHT (1 point)
SRS At argre 318 *ard SFE ITATTa SFITe X (3-

® 553



Explanation:

16. A, f, =106Hz , 5= A5 Hz, {3 =525 Hz

' e . c #
WA = i

|

I | L=

= Tos - 215 525
. [

— Y —

= 1:54
= 15:5. 3
17. q3f6 BTN BN 327°C 938 27°C OIYNTHIE WYY FILIS| 99 (1 point)
IO T9?
O 90%
O 91.7%
O 100%
® 50%
Explanation:
4T,

T 1=327°C=600K RGN T2=27°C=300K
SN G,

T: 300
1

18. %7 ILTTN 1 C NN Ff6 BIGTS 1m HATY B2 FACA [IFHT AT (1 point)
W 2

O 11x109N
Ogxi0llN
®,y, 100N

O11x10'N

Explanation:

Wmmﬁ@mmlmmemeﬁ 9 10° N 3 TR e 6]
B 5R ATOIITE GFF BIY 0 43R 4R IS HIACF «F TR A |
wéie 7 Fy = 9% 10°N, g, = g, = g coul GR r=1m%, @ ¢ =191, g=+1coul

AW @F® (Nature of force) : AT (2.4)-48 B MOR AMAR T (BT F- W17 fadfa
a1 T F-gd e W T 4 AP W, o) 0 Td RIfEs | wrd @32 wrew b [fE e
47 | 9R F-gq fdTe T A 4 A =, OR @ TR aRdayEE IRd g fRede aifi e

Ad a@f¥

19. FB TATHBATT ATS YTTFTF GIOr® FATT BT ATOFUNT Wryy fFwq (1 point)
ATAFHT AT V| T A1AFT F© A 41039 AP © *Ife ST



® v
O VA2

Ovn
O v

Explanation:

N G,

1
U=_-CV?
2

T 1Y, STBS & [ReT AT 0T TN 1912, [T 2NLFT 2 BN (A AfP© A&
IERREIE]

20. JIYTS WTATF (I3 x 10%ms™! | AL ATCHATH FI6d JFSTATF 1.5 2w, (1 point)
FITG WA (I5T T T2

O 4x 108 ms’!
O 3x 109 ms™!
@ 5,108 ms!

O 1.5x 109 ms™!

Explanation:
DA T 0
AY
O\W\M%gmﬂ Q@S‘N‘D
Q&\Y‘
> QO N
3&0017 M %
Sl Ll
%
Y A1) ‘m/”
X%
&
= 2x\d ‘"‘/0

21. qfy fA6e WIRIT 9Ff0 RTAF [T ©F my TV, OTF WICATF (I (1 point)
LT (T TSN HIETT AT ZABF ©F F© (A2

O 4m,

O V2 my
O 3/2 my
@ 2/\3m,

Explanation:

UIREIRCT D)



m = =
_ L \2
S )
- =5
my Mo 2
=>m = = = m,
11 3 /3
4 4

22. TR Q30 (HIBN A0 4rod ATIT OAT WIAfSe e g (1 point)
ION TRT £, | [Ne35T© AT g J8F srfo=ife fRtea (die?

@ 1(r-f,)
O h(f+fy)
O 172 h (f-fp)

O 172 h (£+fy)

Explanation:

AR T Rfers SRR e fve wii afedl @ T | W IR o9 e
e Fifes @t ffe TERGER 59 = ¢ @3 fgfe Rea = v, | o 7@ s b ke
“fF T = eV, | s, e Treelmn e @t o, T4, W@M:%mvmz

SR AR, 3mv,2 = eV, 8.51)
Y 8 AHIANE Brahoa 7S i wiltead 3 |
eV, Foew IR@ A A eV, I AT avs R

FHG 0-(F X-TCF GR eV ,-(F Y-HCF IB@ 936 @Ay
w@A | eVy—v @D 93 TR T A XTFCT 0,-(S
@ AR (BT v-de] | GTHFE v, FTHRLE o I Il AR
I @ W G2 b IR @ [farea o we
e 3wk AR g TR tre 9w @ [y
Rt spa 7o [y @@ weaea ew @ @

(§)
azfs & 21 wm 3R oft P1 o et X-sewa AR o
@19 By FA |
(8.52)
3 tan 0 = TREARAMA T = 1 = LI A
],____SV_O_
V-1,
A, eVy=hv—1y) (8.53)

23. q93f6 gz [N AfAIT INLT R QT FT oa w1 @ qrza (L poiny
AHT WCFHG GATFS?

O 10 g

O 0.5¢

O 0.25¢

@ 0.125¢
Explanation:
IREIRCUEE
g— GM

R2

G4,

R'=2R {8 M=1/2 M X(d,

1
= GEM— GM— 1 =0.125
B (2R)? ~ grz g9 T s

1




24. 1aIfoT FIH 97 9T (FA(B? (1 point)

® Newton-meter2/Coulomb (N-m?2/C)
O Newton-meter/Coulomb (N-m/C)
O Newton/Coulomb (N/C)

O Newton/meter?(N/m?2)

Explanation:

— N7e, ()

25. 7fE YAt N 8 TNFATA ANANH TF FATA OY 45 F (1 point)
TATEHTN 2uF J33 9uF TV IS Hod 41935g T 2

OZuFand3 uF
O3uFand4uF
OZuFand9uF
.3uFand6uF

Explanation:

25 =
GP - (%/HF s Q[+QL
al S eV
FVry &
=T, QQCZ_: ?_)6‘3 :[?
@l— Cz)L 5 = (L’T‘CZJL'— 4C|CL

‘zy(,LQ‘ ) ‘DL 4.1%
5 Py <

o0 sohn(j ,

26. ), SATMTHT AHB BT ST APIN afFe s & fR=er=7 (1 poiny)
3@ vt Ay

Explanation:



5> BRiE sscwEm
Characteristics of stationary wave

i exrem T «f 3 (PG ToeR | AP foy S | e -

(F) ug o @Al 3f TR Afe sgd Sestg 2|

(<) S SHCSIA T AT A T 9FR R AN AT |

(o) sarer fafey fFre sore feer WM 771

(9) w7 @ s Reer #4ifts o s’ R 3 ax s @ Reps rem 1w
w13 fm [ @) .

(8) Saeefa S i Reer sael SR @ sacern feiem fd-aa s |

(®) %f 2 7@ e g oS IR TR 9% e T a3 O YISt g A/21 MR R
o R 39538 Se1E g9 (Loop) I@ |

() =@ *@ 7o | 7@ wem Rede s =)

(&) Ao Reee 5191 e wega #fRees w4, fag T e 519 8 warga AffRea «w )
wﬁ)%mmm%mmwmwmmiﬁmwnm@wmam
2 I

(@) Pem wareR Fua Repy S 2o s 9@ S w2 oS

©) e M P SR STRTAd (1) A T (1) S YTIRN @ @A 93 @
SR SIBTAY (L) A TG (17)-9 T |

27. 40 B@d (FATHA CHIFT GAF 1000 cm T, (FITHAOF THNOT 92
O +100D

O 100D
@®.01D

O.01D

Explanation:

N G,

P:LZL:OJD

f(m) 10

28. FQTAMTCTT Y 45 x 108 IQA| 9T TG WY FS?
O 90 x 108 years
® 65 x 108 years
O 45 x 108 years

O 22.5x 108 years

Explanation:

UIREIRC D)

SR,

45 x 10® s
T = 0693 65 x 10°years

29. gBf6 JITaS FNT AT (T/A
T = (2%+23—l§:)m
932 S I
F - (6% 35— 31%)N

A, DI TN 92

(1 point)

(1 point)

(1 point)



O 36
® 55
O va9
O vz

Explanation:

"9 v 3 ks a4 %
éy R’XF"' 9 9 i
£ 3=
069 -3(- 6+ (&1
N\ A
=--GK

[ =\T = 5

30. CPTCAT AFAIIRNF SINATAT (ITY (5T, 7 (ATY-

Explanation:

sfiarSa qid S2m SrTaE ofF T 9w Murde ARIER srma 3R o et 3R Am
3L SIIG! I @K F A |
TA BfA, 0°C OIEEE @Al RS @14 R, @3 °C ST 97 G TH R,, OIRE
R, = Ry (1 +at) " o (3.1)
QA o = YT, TF GNEA S AT AR WA
R, =Ry
. s g
Ro=1,F=1°C®A a=R,—R,
gl : 0°C SINER G @A @I AT sl of g Jhare o @m @ 3y
976 Bite 6% A8 BAMTaa @ited @t Lo 41 Srear 44w 309 |
Sirar AT 9T F °C7F A K!
3 LA SIARTE AW 3°9 x 1073 °C~1” WS FWE  0°C SN 1Q @ufifE
@At errbxﬁzﬁw vrf«wq e 1°C 3R ¢ @ @14 39.x 1073 Q 7 A )

31 fTEa (@RIBR (FTg ABN 8 fRBFN 97 ST 47 ST

O ap7

O SLi7

() JHe

O !
Explanation:
ST G, STRAT=(ACN SR NOGN ST
»He# GGT ATON HLYT=2 L2 ST YT=4

SRR, fNB G S UiT=4-2=2

(1 point)

(1 point)



32. Sf ] HARTEF AFYANFATT ITITS T ? (1 point)
® T
O gmfersa
O @y
O aufzrerms

Explanation:

OIS (2TAMG: Diode) M0 72 TS [RFE 2AAFAE T10% T ISANC© (FI NG JF AP
OO AIR 20O AW R | AQGIS (IIoP BATCT {193 NIFY (SIETHY) I8 [P,
N7 @ T STINT I(AB RN 25 (OO GG IITO 3T | B G Gq WAL ©gH

OTF (T8 TS IF YN AAP-ALINAT GICAG |

TIING eT© AFH0 (NHE MTFT ©fGe 2RTZ(H SR FH 43¢ gﬁﬁﬂﬁi—. © AP ©fbe AR
4T 27N A | G2 4AND GFMCB AR FAK NIV (FB161P(I*IN o7 20T A0 I 4
PIA (AT T FIATH (OfF 433 (@GS FTHTOF NGRS AAW L1 |

33. qf6 TN FSIHIA ATY S NG 180 I7 WIS FAAFNOF (L poiny
AT O RQ?
O1Hz
@31,
O 60 Hz
O 180 Hz

Explanation:

UIREIRCT D)

N 180
= — = —— = H
F=7="7% ~3H

RN 581 FES e AT, PEATE AN P (HIPIY PACIS WS B 19U I NG
£
18041 [0« PpJ(eT JP (HIPIG P 3914

34. g0 25 N I (FTNT F=H2TE (BTN 10 cm, AHATS FATS AT (1 point)
=0t 4 cm 2PTIfE® a0 F© FIG TF Q2

Qo417
® 027
Qo617
Qo387

Explanation:

WINAT G,



35. g2 AN HIAMG g fNTea fogmarst I$Nte Jege Far = (1 point)
AY S Soggerord FW I (F6?

5

()

O A=B=C=D
O A>B>C>D
@ A>B>C-D
O A=B>C=D

Explanation:

N G,

V2

P=1I°R
R

ST (TP 1 AT, 1 A ATV (T (@ CTAH 1o O Blgged R |
* QYT (6 (ATF YA -AZ ST A 43 VLT 0T IR ©12 A AT QRN T 21|

* (AT Y AR 019 AT M 1197 2T 12 AP TR, JF OI97 B A9 P G978 w9 MR C 8
D 93 U B 93 M(F IS GF0I ©12 G (J14 FN , WK (IM(F (@14 IV AU FICI6 (@ MR
, PRI PICI0 TIANY FN IR ANY AOF N HI IO B 9 RTF IFNI06 [ ©12 B G
Cosierel (I 2(J |

+O(J JU C 8 D RS (] ©12 qTHd WL A]TR G2 ATV (], GG C 8 D Jfoq
OGege] d2 AN =S|

A>B>C=D

Chemistry

36. NO YA IFVHN F9? (1 point)

Explanation:



(-4 S,L-;:(S—
= % -

1% @3 K08 HCI (0@ H (& &g 39S 577 |

A
AR H,0 (1) 2Li (s) + 2H0 () — 2LiOH (aq) + Hy (g)
[ ®zH &
?'L; e Ba (s) + 2 HyO (/) —= Ba(OH); (aq) + Hj(g)
1
R0 (g)
g ®EH,®  Zn (s) + 2H,0 (g) <& Za(OH), (s) +Hz (2)
E i TS A
E Hoa |4
A “*f{ Co | upr (HCD crw
’g Ni Hy cx afetom S (s) + 2HCI (aq) —=SnCl, (aq) + Hy (g)
?.,-:,5 Sn FACS A
B @ 76 (Pb)(IT® 6oia FiTa {1QateTl H 4T i ey
‘g Pb <«
L N):h| @ 'H'o7 TS Igett H (4es 1 A | Ot @@t B,0%8 HC
& TF H & &fSgeiR F908 A& |
‘;; Cu GAER Il
i pg |SeEa
| I 4G Hyw
Tg AR | womirad wTe
7 Au stier At
i

38. PH; WYfod WNFHS (FHG?
® fGrwia ISy

O pozaem

O G

O G 5Py

(1 point)

(1 point)



Explanation:

S—

A vy | weRoE | 7@ fem | ofe W | W e W
sedad | 2GS | ™G | e | e
S (1Y

NH; sp o @l | s@m@ | 3.0—2.1 | 107° | s Pt

NF, sp? o @Ml | S@me | 3.0—4.0 | 102.5° | fareren Pafe

NH; sp? o @met | s | 3.0—2.1 | 107° | Rk Prfie

PH; sp? o @Sl | YEme | 2.1—2.1 | 94° T Frafie

H,0 sp? el | q@m | 3.5—2.1 | 104.5° | R vgoemza V g
H.S sp? X @ | @ | 2.5—2.1 | 92° g vgeeed v w5l

39. Ca2t WIS 2TAD G [N (FINB?

O 152252203523 p04s2

O 15225%22p%3s23p*

O 1s22s22p4

® 1522522p©3s23p®

Explanation:

0Ca=1522s22p%3523p04s2

»0Ca?t=1s22522p%3523p04s0

40. BeSO4, MgSO4, CaS0Oy, 432 BaSO4 A9 AITOIF H -

O BeS0,>MgS04>BaS04>CaSOy

@ BcSO,>MeS0,>CaS0,>BaSO,

O MgS04>BeSO4>BasS04>CaS0y

O CaS0,>MgS0,>BaS04>BeSO,

Explanation:
| a | 7# 54919 A9
M MS0: €32 MCO; M(OH),
Be | TIew GA<EA ZA AIGIW | whHd A gweE gm
Mg | zryer @@ g= aE) | *eaT Byl 3 o |
- [ | .
GG | [ amrerz] | [ T ]
Sr |
Ba |

]
H

41. fRTea (@ afSTefed K, 99 W AT @

O cH;Cc00H
@® C1,CHCOOH
O cICH,COOH

O c4HsCOOH

Explanation:

(1 point)

(1 point)

(1 point)



42. fRT6T (@ CANBR STHONS JAICETH (T2 (1 point)
O CH;CH,CH,CH;
O CH;NH,
@® cH;0H

O cHyF,

Explanation:

CH;0H

PN SIACHIRA 4 TRCGITGN IHN QAN ST |

43. fRred (@ 516 ST os Y tedN [ g 1 (1 point)

@® 1cHO
O CH;CH,CHO

O cH,COCH;
O cH;CHO
Explanation:
H g B
(A) H-¢=0 (b)u—‘c_,(.,(:o
H o A
oo T
Hoor
® e Ceng @pop e
3 o~H )
"4 fofuor
a o
4 gl DD 07
An)uXM % (A>
4. CHFATAF SATCY NaOH A7 fAIFTT 7oy A T oy T 1 A (1 point)

WTHIOTRTGA A G FTE CN9T B BN FCA 1 B (96 fF2
O =nfeay (FrIEs



O Begzw
O ey @S
® fFIwiGw

Explanation:

oNO

i"'“ o @J*mo_ )
\‘,’j i "glFﬁ’W (A)

f
o Ha

7
ONQ N 4+ Nel
'i  OHaT — 7 (gl Y
L‘.«J * &% .t%m@n;c{éﬁ(@

(1

45. 35 @ 37 S Y fIFE (FIARIT MRTATCBINSTAT (T HFATS
A= At

O12
02:3
.3:1
O34
. $§m+@33
(bS;'§"; -T*izi;pﬂ—’
® mY =R D
=100, % (100)
AS = )00
0=
> NS5O = i
. Qh:;,SD ‘S
n-%5, j$2
A % =%%)

(1 point)



46. (I (916 ST IR Ty wrse (1 point)

O Na,S
O H,S

LTFE (H-(()y) U P | 1wy wr aE
{ortora ~l W @ 9T | é}mqﬁ?{ onfaalafore 3f2 em

e o r:vo"%-"":' %z mmmm%m S0:(g), NO4(g), HC HCI(g) M

r%-". ;"3,""5 FE (D r?";' '%',(TRT" A ﬂjsod (60 - 65%), W (30 - 350/0),

T HC ﬁzmm‘ﬁb’@m} mﬂa

e e e e e SRS T O ACF | 47 T FT

—

47. e M%%WWQ (1 point)
O n=3, 1=0, m=0
O n=3, =1, m=-1
@ -2, 1=0. m=-1

O n=2, I=1, m=0
Explanation:
P poaze? o ez drmeey & SY
meede ’)” nm‘“’i" _ =0 TR0
#)n=3" ® w?-»*
ﬂ“zﬁc ‘\:0,"{7” (l ‘O";ﬂoﬁ’é
’ 3??9)@ Siicck
Amsuit- @),
48. afsifofataa cIe IF~ =Ty (1 point)

O One o bond, one © bond
O Two o bond, two © bonds
@ Three o bonds, two © bonds
O One o bond, two © bonds

Explanation:

o, Coffitemn —» HE=CH

M-ez -4
Gh’mﬂﬂ’b{?
« n =2
Amsu-(C)



49. fRTea (@ CTHC TSN A3 Cofq 42

O C,HsNH;
O CeHsNO,
® 15N,

O (CH3);N

Explanation:
Nl/d
i, NN (3]
G -
Ay - (©)

50. 1 L famvg ANfRte F© (a1 “nf¥ seg?
O 18 moles
@ 55.56 moles
O 30 moles
O 1000 moles

Explanation:
e, v
- aL-..—,\ooowl'W{”’
1000 o 015
= ¥ O™ Lo
Anselc- (@
Rdiseantoto

51. fRTeA (@RS GIfo STUTeT A~ FTa?
O CH;CH,CH=CH,
O (CH;),C=CHCH;
@ CH;CH=C(CI)Br

O CH;C(C1)=CBr,

Explanation:

(1 point)

(1 point)

(1 point)



16 - @Qj c,t\f\'y

G) PH:}('HZ—C—C%EM dg% e

RN € (oY
M (%\/( /@\—&rf (6) c) Q '/

52. fRTER (PG AR SBITErg *mrl? (1 point)

O Hal

O H,0,04
O H,50,4
O NaOH
@ Blank

Explanation:

WHTH A6 RO [FE (FeAhTe WHF G AT | GUTTN, ARG AT
OISR 1O12 (F A5F TS (N2
iz Biters omd mvﬁwmmﬁasﬁwmo)ﬁwmmmm(u)wwm
e S et AT 0, 7R Rfdww v - (iii) 9o oo TR ST A R v v A ke
(iv) GTTs G0 AT A wetfiREe Qi qrrEee eigaifd SBsrs e awe | e,
(5) w9 Al FREG (NayCO5) i,
() ceiifere Zoem wiRsfia ufie 31 sk ufite (H2C204 2H,0),
() WW(chrQOﬂWW
(8) c=IfeTe ClfCa Zex GIRGTIB A ;AT (NayC,0,4.2H,0) R s Zenifis xeait efiznfy
SBISIS A9 |
e A : @ v Amida o @R SRS smnda sl iR @ faegs!, e
Qeifif¥e e, ariafie s w4 < SR SR SRS w196t e @ Gt o
B, T QAT IS SIS (Secondary Standard) #id aee | el s zgert e,
() NaOH =M, (*) HCI «frs, (©) H,S0, afis,
(8) *BIFTAR TG (KMnO,) Wi #wi,
(@) TSI AT (NayS,05 . SH,0) Rremra +wid 2wy |

53. KCry07 97 RIAT RS ST fAT TfA® XCW (O] FR-

@ Acetic acid
O Acetaldehyde
OF ormaldehyde
O Formic acid

Explanation:

I8 Ky 0,03 51840 q Ha €OQH
HaC 0
Ctin CHOH ——— ¢C .5{)‘]7" __%U—R,m.%vk')
rr : A (Ace-\’ff- Ad@

(1 point)



54. fNTHA (@ I5 IrFIF T3 (Ol FLA? (1 point)
O CH3COOH and NaOH
O HCl and NH,0H
@ NH,Cl and NH,0H

O (aCl, and K,CO;5

Explanation:

.\’_ y

;' Wwewwﬁﬁwlmmmou F NH,CI)-9F S 52 | qUwed, WW}
| wﬁﬂww@@aﬁmmkﬂammm|

A el St Pworr mrovelT vmwew . mTerT 11 OO ﬂ?'\ﬁ'&ﬂ'mﬂ u:.h‘.‘

55. fNTHE (PG WTATOTS N [AfSHNT CAN? (1 point)

@ C1;CH,CH(OH)CH;
O CH;CH,COCH,CH;
O CH3CH,CO,C,H5

O C4HsCOCH,CH;

Explanation:

-

S T it )
o ff—g%;m@r WTE 4E vr*@f’ﬂ”‘ﬂ’m“ fa ¥
(Ha00- 2 %ﬂmﬁgﬁwm’

SHiouT AT I
®) (HecHLCH(OH)CHq _.--_--’) €Ho, (‘H
HsL mm‘»ﬁi&ﬂw
YAl

36 1°, 20, 30 STATHIRCA ANS AT DI AVIXE FATIN? (1 point)
O 2,4-DNPH
@ [ucas reagent
O Tollen's reagent

O Fehling's solution

Explanation:

t
24 g Ajmhomngﬁ?('rwg

, Lo Mam

mmfr%( _ﬂ,,,om%—

' T 0 T

,AML (6) Lovw 7eoT T



57. o T XTAI- (1 point)
O 42He

O 42He4+
. 42H62+

O 4, He2-

Explanation:

CRZemIE «-TnTe:

2.
3 /f;;%,m ’Fzﬁ‘.’l'ﬂ
y .24
. dwA] - , He

Posauts (0)

58. CBTCAT CIHA-YHITHAT LT T TT=AF A2 (1 point)

59. %% O fAw onfig wIraf{s gTwad Fo2 (1 point)
O 1x107 mol2/1.2
@ 11014 moi2/1.2
O 11077 mol?/L2
O 11014 mol2/1.2
Explanation:
25°C OIANTEIY, [HT]=10""mol/L=[OH]

O[S, Kip=[H'].[OH]=1x10"1% mol?/L2

60. JUPAC NZfSTS (CH3),-CH-CH,-CH,Br CJ151fod NTN- (1 point)



O 2-methyl-3-bromo propane
O 1-bromo propane

O 2-methyl-4-bromo propane
@ 1-bromo-3-methyl butane

Explanation:

45'(('1»@,_« op-CH - 87

lome_
4 »81‘01"0'2) "”‘“QJ‘)‘OX o

%)U.!U\'—‘(%
e
61. ST ATATINS NN ZCAT (1 point)

O sodium ether
O sodium acetate
O glycerine stearate

@ sodium stearate

Explanation:

¢ AR o,
soa wfs @ Gifeam ¢ “Bi mm@o

I\
b +
R = (:()()_Na+,c“|q i (C“‘z)k() = h C - O Na
@rifez FoaiEs

62. BT (P) 8 STV (T) (HIN WIZT IAB T W WGFTHCF? (1 point)
O Atlow T, low P
O Athigh T, high P
O Atlow T, high P

@ Athigh T, low P

Explanation:

1S O STl & f BIT=Y IS SITTSTAT S SICAR T W63 FH |

63. Sp%-1 g ATANVIH H Y IrGTC fRTEH (N AfFISNB AfdF w2 (1 point)

O wrafasaer *If& F
O gy s
® sy AT



O sitgworans

Explanation:

TG CNONA SAIPA T 9 | mmemmmEﬂtmm‘ 1 W

cilrera s @zg D@ ZOT (TS AT | (0T | R AR e ISR CFGE Li (185.5°C), Na
~4—-—_"—_’—— —

(97.8°C), K (63.7°C), Rb(39°C), Cs(28:6°C) 9 T e of 78T

R+ | AT CACPTR PTG OIS |
it Li Na K \ Rb \ Cs
“wE oC) | 180.5 978 ©1 | | 286
!EE;,T(OET 1342 883 790 \ 700 \ 670
e et o e P OV W | OGRS e el fen

64.
AL Cg A9 N RTA1- (1 point)

@ srIrGt 8 SR
O wywrg wrfe
O mrafas @ SR
O wymrg sHrd

Explanation:

29.

o /eJ\ L
Al Al

/ v\(‘}/ N o

65. fATea (BT =Gl fonzs-2 (1 point)

Explanation:
Sl i ©o
& \\->9| TG T TIFW T BATH (7 9 (I O | IR Aol SfHe Bt

-8, : IgPTLRR At Fifier
& L

oy i ‘
; Ca m Ba (s) + 2 Hy0 () —= Ba(OH); (aq) + Hy(g)
= Na
é"; Mg
66. HYTNS (I
AP O T N IO A1 (4T T2 (1 point)

O wrrefze
O wrtwrete



X7 f ¢ =

Vo wmm g SRERe (UV) Bl &
Gofarez wTA FRAE GR a7 e TP
Sas 77 | AR St CTRCT o o1 R
arz | ffafae o SREAIRRE (UV) TR THOT
e Tz e | v o e feg ot
e (e TET A 7F | SR ORfHE
s amgEere fiw gew S wEl RS =W
az Aafdfamn g AfATew fFw GO
sfedipre Tod e@ A1 AHITHR A
Graerred (A 4R AUF Gage T e
ferg ferer e @©rq | AW AL CO,, TN

67. fNTHR (PG (T2 NHEF TH?

O Magnetite
@ Kaclinite
O Limonite

O Hematite

Explanation:

},0a, 9% 0y

Wya
) v
it —

Nk

'szD
| sye—> AP0
%o L e B .
" Faa
ema'\'\*g)

A

(1 point)

68. BN RTATHTT IR FLA ATSHAT HAH OB AFTGT RCATHT- (1 poiny)

T SOTANT 1Y SAMRG =T
O H,s

O so,

®o,

OwH,



Explanation:

e

| ey Team faferat TeAim fafem 3
__,___._—-——————N—g——— Na* +e” — Na Cl, I —— _1_02
NaCl (Ifer®) 2 )
~~—~“")4"_~_'P_5—'— Pb2* + 2e- — Pb Cl, \ 20~ —26 = Cl; |
PbCl, (1S — 1 z
-J/T H++e'—>lH Cly Clm =¢ -vimz |
NaCl (aq) 22 = e _JI
_,—-———f—'-‘—'f'ﬁ'_'_'_'—H;’-—k |2H+ +2e” = Hzl I \ 217 —2e" =1,
&f’—ﬁ;"“—”’zﬁ +2e” =H, Bry [ 2Br~ —2e” — Bry l'
@gwﬂf— 20T + 26~ = H, 0, 40H- — 2H,0 + 0,
H2504(j’_q.)_/——~7r'—" "SR + 26 o H, 0, 40H- — 2H,0 + 0,
KNO; (aa) e E 40H- — 2H,0 + 0
ﬂz(—ai/"--ﬂz 2HY 4+ 2e¢” = H; 0, 2 2
NaOH(ad) | T " ¥ 2e S Cu 0, 40H- — 2H,0 + 0,
_'(_“1_1564(3‘]) N

NI ETSPRESERET N

69. (@ fRaTs Aae St [{fFTa AfEFT =S AffgdtFdare (1 poiny
A2

O wrerran
O ooy

® sors

O sttt

Explanation:

A catalyst provides an alternative pathway for the reaction, that has a lower activation energy. This means
there are now more particles with the activation energy and so the rate will increase. Increasing the
temperature has no effect on the activation energy.

70. {67 (@6 cwfers Hataa sy fAfGm sae (1 point)

O cH;cOCH;
O CH;CH(OH)CH;
O CH;CO0H
@® 1cooH
Explanation:
H—COOH + [0 ] = €O, + H,0

Fafia «fie erae gadre faefe wo falam wwloeg Am RMITEA a2 o HEEeR
faenfae g Brem v 59 3 |

H — COOH + Cu(OH); + NaOH (ﬁu,(xb Na,CO, + H,0

(11| W4 g)
H — COOH + [Ag(NH,),] OH > A;v,\y (NH4),CO3 + HO + NHy

(g wée)
Math
71. |5 6 =z (1 point)

12 3
321

WTRHECT NI -4 TA x T TN T2



Explanation:

1. 5 6w
9. 2. .3
2 2 1

(o3vs 4T o1t |

5(2-6) -L{3-7) (&6 - -
D -20 + GQ -4w >-Y

2) ({7\ = %Z,

= 248 %

72. 93 + j 4+ 6k &4i — 6j — 5k (1 point)

73. (TN fI¥LS 3N 932 4N I HRIB 1200 (FICT fHFTT© AFteT, AfF s (1 point)
BO?
O 7N
@ Ji3N
OV37N
O 21N

Explanation:



; m
c + 2084 CJi) ‘

7

74. y=3 AFTAYE SN g 932 (3,5) oA SAgetagrg w7 (1 point)
(FNB?
® =3
O x=5
O y=x+2
O y=3x+5

Explanation:

2) = ":l;— U~3)
.;; el IL%/ Z’)
> A=5

Az 7 A



(1 point)

5o@-3)"  (y-2
% 16

TISBA TS WA (AT FO?
® 0
O 18
O3
O 36

Explanation:
ANG STAPHYT WP, a2=25 =>a=5
9L N Cri=2a=10

76. y=log.x T , d3y/dx3 4 NN F9? (1 point)
Oo
O -1/x3
® 2/x3
O 2/x3
Explanation:
D 2 InNN
I - ’\?C
S, (4
7
A Y
\3 /é 2 = (’ Z)
T
’7\.)
L

77. x24+y2-81=0 @A A6 T NI (-2,3) TCA, P OO 97 ANV (1 point)
TCAL-
@ 2x.3y+13=0
O 2x+3y+13=0
O 2x-y+13=0
O 2x+y+13=0

Explanation:



;Z ‘ ‘7\\/4 \jv: ? \

Col °) 3 ch &9
%Y%) 2—0 bt )
@T @wz O™ Ta-b =
+2
in w332 F O )
Q’*\*\’H

T/\—‘glﬁ +Y}‘

78. CORONA *ITAHA IV SHTH T OI HIGITAT T (TAN FAIT G (1 point)
JTATCY ATHI

O 124
O 144
O 164
® 72

Explanation:
c 6 R 0 NA
U}@aéj O/D/A q?x?.‘

)@1ATY (o = 2
- XL

79. STl (1 point)

g9 AL (A6 ZCAT-
O x<-1

O x>1

O o<x<2

@ 1 <x<0,x>2

Explanation:

9 Xy, o
7 Y
\////\’/-//>

4«/”*/

T
,\47&40 3 N7

80. sin-14/5 + sin"1 5/13 + sin"1 16/65=? (1 point)



On
@
O w4
Explanation:
5(5\\/Q*
|_1 Y s]ﬂ\ % + 66 g, L |
S T A
(o - ’\’Q}\‘ /C;_ 4 N {3 3@
by ¥ 12— !
Ann z 5 i & 2 5
a a4 g g A €3 T
-K;; ’\'Uf\ //\i_xS—
\ =3I\ (9 6%1&
<\ 2% eot )/(-: 3
N {

8l. x2+y2_6x=0 I3 x>+y2-8y=0 J@ALIA (PTH "i%ﬁﬂ'ﬂla\ol na] RCAT-

@5

O 7

O 10
Explanation:

nay ~ bwz 6 MGV-8) =1
@w  (38) oY)

mrh e N+ u)
= G

82. B, I 46 ST 8 56 711 37 932 B, I 2O 1w 8@ 3o AT I
R | ATOTF I IO A0 FA I T ITNT TCA Hf6 I NTLT
FAATT IF(6 A TS AV T2

@ 37/45
O 23/45
O 1121
O 7/45

Explanation:
STl T NI AT ABTIN=4/9 x 2/5=8/45

@G JB0 1T I6T NS TGAN=1-8/45=37/45 (Ans).

83. qfig 18C,=18C,.,, T, OIZLA 'C5 A9 VN FO?

(1 point)

(1 point)

(1 point)



Explanation:

l%cm = 13 Crey

1% 5

-~

12-n ar
' - . 56

o) & Rt

84. f(x)=1/(x+2) Q] g(x)=4/(x-1) T, fog 4] (OITNN XTI- (1 point)
®r (1,1}
Or-{2,1}
ORr-{2,-1}
O R-{-1,2}

Explanation:

*fog TPILHTA NG R g(x) OI2 g(x) I (OITNNP 2NPIG FICO RS, fog J9 (GITAA (I FAK
S|

(Faven
Vem | o

- b
oW - %-h

Q\\é) ,3
Fﬁ@ = —_—

85. 7f® BT AFTH FNTH N FATA SITAF NN CTTTH 7 WAJT 9 AT (1 point)
AGRIN T2



Explanation:

T 7 2@ W@ =(6,1) ,@,g),@,z),@@)
(4,9), 34) =T

omoen ) 2 we = (69 /£ 1R &)

(r4) A0
WN"-'%;”: %

86. §=(1-i)/\N2 TCA , sO+s4+s2 A NN ZCAT -

(6 S/A /A

87. 1—coszx
lim

20  gin? 2y

Gdq VI CAT-
O 1/4
@ 3

(1 point)

(1 point)



O 11
O 1

Explanation:

Q - SN
2. o =
A—>0 S0 2 e
; [\, “°>P)0\\’)
im QYW g
nw— o o3 Qa2 x 2
ANY—

Lim -
? wy S 2 Sintw.

(,bSV\
G osum

7

W
~—) Q

\

2 -

2

(1 point)

88. [° .
/ \/25 — x°dx
0

Gq I RCAT-
O /4
@ 2574
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@ 9/2>x>112
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(1 point)
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106. Choose the correct passive form of the sentence: We should abide by the laws. (I point)

O The laws are to be abided by us.
O The laws should abided by us.
O The laws should abided by us.
@ The laws should be abided by us.

Explanation:

The laws should be abided by us.
(Passive K09 should be ICACR)

*AN 9T AR avoided A

107. What does the word 'shortly' mean In the sentence: I will write you back (1 point)
shortly?

O in a few words
@ in a short time
O for a short time

O a short time ago
Explanation:

in a short time

I will write you back shortly- I (OTNTF HICR QIS BCEIENGEE]

108. Choose the correct spelling (1 point)

O Acommodation

O Acceptible



O Repeatatlon
@ Supersede

Explanation:

Supersede : take the place of (a person or thing previously in authority or use); supplant.

109. Choose the appropriate antonym of 'abundant'. (1 point)
O Plentiful
@ Scanty
O Lavish
O Copious
Explanation:

abundant : existing or available in large quantities; plentiful ; lavish ; copious

Antonym : Scanty(NYY)

110. Choose the approprlate synonym of 'contaminated’. (1 point)

O Ppure

O Authentic
@ Adulterated
O Genuine

Explanation:

contaminated :having been made impure by exposure to or addition of a poisonous or polluting substance.

Adulterated(CO\G[ ff#)

111. Which one of the following is the correct sentence? (1 point)

@ Many a man was present at the meeting.
O They had shed a many tear.
O The number of participants are on the increase.

O Sundry man came to meet me.

Explanation:

Definition of many a/an (formal + literary)

used with a singular noun to refer to a large number of things or people.
Example:

I've been there many a time.

Many a tale was told.

Many a man has tried but few men have succeeded.

Choose the most appropriate option (Q112 - Q120)



112. Things didn't work _____ in the company, so she left the job. (1 point)
Oin
® out
O for
O on

Explanation:

work out : plan or devise something in detail.

113. There ___ furniture in his room. (1 point)

O were so many
@ was too much
Ois many

O were too many

Explanation:

much-+uncountable noun

114. The airis ____ hotter today than yesterday. (1 point)
@ 1uch
O more
O very
O wholly

Explanation:

Two days (yesterday and today) are being compared in this case. This indicates, that we have to use a
comparative degree in the given blank. The adjective is "hotter". To indicate the intensity of the hotness
'much' has been used in this case. Since hot is a word with a single syllable, the comparative degree would be
"hot" + "ter" = Hotter and not more hot.

115. T had rather ___ this bunch of flowers than that one. (1 point)
O taken
@ ke
O took
O taking

Explanation:
I'd rather + (verb)
'T'd' is a contraction of the words 'l had' or 'I would.'

When using it with the word 'rather' you are suggesting you would like to do or prefer one thing more than
another.

Here are some examples:



"I'd rather talk about this later."
"I'd like to eat at home than go get fast food."
"I'd rather ski than snowboard."

116. He acted on ____ defensive, and did not attack during the tournament. (1 point)
@ the
Oa
O an

O no article

Explanation:

fNE ST RN G the

117. Iin his place, I would immediately sort out the problem. (1 point)

@ Had
O Am

O Were
O Had been

Explanation:

Had d999 would

118. you work hard, you will succeed. (1 point)
O Until
O Unless
® As long as
O No soonér

Explanation:

as long as : 1 : provided that can do as they like as long as they have a B average. 2 : inasmuch as, since as
long as you're going, I'll go too.

119. The number of students in today's class higher than that of the (1 point)
yesterday's class.

O were
@i
O are
O has

Explanation:

The number of+Singular verb



120. The sun _____ set, we started our journey. (1 point)
® having
O have
O has

O had

Explanation:

The sun having set,we started our journey.
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Choose the correct option from the alternatives.

0.

02.

03.

04.

What is the meaning of "incredible"?

A Inedible B. Very difficult to believe

. Difficult to remove D. Nlegible

Incredible = =of =rme wfrgrm | o Suafs afees
very difficult to believe |

What is the antonym for "eliminate'?

A, Eradicate B Wipeowt C Illuminate D, Retain
Eliminate =73 =4 ‘In7 7af | 919 oS =% Retain
(7% =41 |

his principles, he has to be very careful.

A, With regard of E. With regard to

., With regard on D). Regard to

Prepositional phrase BT prepostion o &% =
4 TACT T | BT with regards to T |

Cancer is one of the
A dead B. much deadly

. deadliest . deathly

One of the + D3 (superlative degree) =T =% Affs
g7 A deadliest |

diseases of the modern era.

. The sky is cloudy. You ——take the umbrella with you.

A, would rather BE. had better
. would [ have rather

[STE]w ny| = =eratiit Had better (%) 7071

11.

12.

13.

14.

15.

Text book &7 Greatest Scientific Achievements
SHIAT Lesson | &F Passage Jff o9 WiZa (4T (T S0ACE | W,
human beings, tend to forget how far we have come as a species
in a relatively short period of time

The construction of the bridge if the engineer falls ill.

A is delayed B. will have delayed

C. would be delaved . will be delaved

Ist conditional = If + simple present tense, future
inde. tense I |

We got too tired overwork
A because of B. because
C.on D. cause

FEE TITT prepostion IF because of 77 |

I science for higher studies.

A, was allowed to be chosen B, was allowed to choose

. have allowed to choose [ had been allowed to choice
[SIEwnyY] Frre 4t Allow == w5 sub, Frss w0y <
| TEAR AT passive TA G ABF passive form B B =epa
HITE |

Choose the correct spelling.

A Comittee B. Commitee

. Committes D, Committe
Opu asked me the cricket match the previous day.

AL 1 watched B. if I had watched

C.if I watched . that T have watched

The previous day W% dirrect form W yesterday.
T T past inde. tense G BRF indirrect FCT T past perfect
tense @ FUT 2| ware (* ") TR if + sub + had + V3: Sturcture
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A4 B 23 A eal B, eaten
C.2 D 3 Mnﬁﬂ“m D. was enten il
- et [SI@] w1t is the first time. S5 expression R ¢
Ay 4 = = !‘... + =
S 3x' +4y' =12 =% § 1 Presec pecfict fotiso TV
X -1 05. He has no — of winning.
=37 o A. occasion B. luck
C. opportunity D. chance
AR =2 XTI SED[Wiy] = wore o e o | G sed awm Q)
32 26 + 3x + 2 = 0 feqr e s TS o
AN B.-7 06. We are golng —— a study tour next week.
C . D.5 A for B.in
SN wnY] 2x + 3x+2=0 C.to D. on
Froms = b —dac=3"-422=7 [Sl@Wngoing to- = |
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33, J"’ sin’x dx = 7 v e
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A 2z B.x C.3 D.3 08. Many of the anxieties we experfeiice as teenagers tend fo
.2 1 = = A if we grow up B. as we grow older
i w3 C. when we look back D. to make us nostalgic
" (Y ¥ AT W (TN ST NegeE S 5 W 9%
34, %(“.fllf‘ ) -2 A el 7 R |
- i 09. Folk music — songs and music of a commumity.
A—= B.—=— A. is consisting of B. comprised of
I+x 1+x° C. consists of D. consists
. - 4 SI@wny|consist of- %= |
Civax Diey -
d 5 10, I 1 saw a soake, 1 — to death.
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Choose the correct option from the alternatives.
When vou say, ‘look beflore vou leap’, vou are being —.

B. strict
i 1 D. cantious
S wwre =7 =fn s =, afm s 7 T e
Y TS E A
Choose the correct spelling.
A Efficient B. Tretmeni
C. Batterment D. Employd

[SEww] % awn @ efficient FUF1 SR A2E &%
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. It rained — almost four hours.

:’L t‘ur B. while
D. about
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indefinite @ &3 a9 9974 clause ' 5 + would/could/might+ v1
1

What is the meaning of the idiom, "deaw a line'?

A fix a linut B. hard luck

C. 10 infer D. linle by limie

(ST wu¥]draw a line = s gzst we7 7 Beref fix a limit
The synonyvm of "persuade’ is

A discourage B. comvince

& prn'mll D. intensify

[SH[WwPersuade 5¢ srafee | T2 snds =% convince.
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A pointed B. strong

C. mild D. quite

[SIE[ww]intense =€ 23 | 72 Mild (ZF7T) |

He asked me —— last week.

A where was [ B. where | had been

C. that where I was D. where were you
[SEE[Ww¥]Conjunction <2 = subject Fn o 22

We are all like —— bright moon, we still have our darker
side.
.-‘Llh: B.a

D. no article
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4 TS iR > ASTRETs EE w9 eu NETWORK
72. @i fagrem foal AR A (5, 12) B (- 12, 5) @& C (-7, 17) 10 13 16
T LACB Ited 17 &34 - 78. 11 U 17|/fFfEces Tw Fer
A.% B.% 12 15 18
A.0 B 1
c b DL C.10 D.5
4 “mﬁcﬁﬂﬁaﬁﬁemﬂvmemﬂmam
-AB c=13\2; BC=a=13; AC=b=13 & ©R fefrefa T 4 |
2_ 2 79. 2x% + 2y* — 3x + 4y = 0 LI G o7
.-.oosc:“;Tzo . ZC = ZACB=2 3y ! 5
73. (K—4)x* = 2(k +2) x — 1 = 0; (k # 0), AN T 7D oI =TT - [Z"“] o (Z’l)
K @3 T 3 T2 3 3
A—8 B. Gl D. -7~
<. 0 ; 0. . [SI@IWhY] 25 + 2y% — 3x + 4y = 0
[SIIwhy] 4 (k+2)* +4 (k—4)=0; K + 4k +4+k—4=0 !2 3 o 73
K+5k=0 . k=05 butk#0 .. k=5 Eale e SRR b (Zl)
74. @ o3, 2\/3 G 3\/3 MW T GIX W AT 60° | o Cot(sm-ll):,,
Coteet FemaT S0 | GTAR ST &0 — ' 2) N
1 2
e \3 A~ B.
A= B.\/E N i
C.57 D.A[57 C.4/3 D. 75
[SI®WhY|R cos 1
:3\/5"'2\/?30%600"'\/—3-0%1200 7 CO(SIn_1§)=COt(3OO)=\/§
=3\/§+\]'3_1B=7A@ jéi,_wwmﬁtz{@ﬁﬁ?
v ¥ = X B y rnx+c
9 y/ C.x=a
R sind = 0+2\]§sm60°+\/§sm120°-3+ = £ ‘Q.memmmwwc 0
-, SRS FFETEaE TAEE y = mx
4/ ( - /147 81 - /22 =57 unit (ON82. IX_ 3y +2 = 0 @R 8x— by — 9 = 0 TG AT TGS 7Y
2 foea coro?
75. pmmwmmo+ z=1mﬁ'(6 4) R o At A_% B‘%
A.52 B.5
5 C:ZL(S) Dti_g
Gir D. 25
’ ) [SIBIwhY] 4x—3y +2=0....... (i)
X . -
-1—%+¥§=1®”§@ﬁ‘(6,4)ﬁfﬁﬁ, @9 8X— By — 9 = 0 = 4x — 3y — % ....... (ii)
& F 16_., 36_64 , 16x100_ » 9 13
a0 e e e [ , . 2"(‘2) 2] 13
76. 3x— Ty + 2 = 0 FEATANE Tl 7Y W (1, 2) R e wfemm gz | () (i) R @R el 77y = &+ p 151710
G G35 FRAEAT TS - 83. (-1+1/-3)'+(-1-~-3)"=2
A 3x+7y—13=0 B.7x+3y—-13=0 A - 16 B. 16
G Tx+3y—18=0 D.7x-3y-13=0 C.—82 . D.32
[SIGIwhY] 3x - 7y + 2 = 0 G BreT = —37 % ? (:1+\/_——3) t(—l—\/:é)
[(1+ABY (-1-4[3
- {355, (255))
:3x—7y+6=0GMH@ﬂ%Wﬂ@Wamﬁz—% I\ 2 2
=16 (o' + 0?) =16 {0 + 0’} = 16(-1)=-16
.'.?mmmﬁrzsqcry_zz.ﬂg(x_‘l) 84. 64 o B W Qv (TS W36 AT (=T et Sfits “rere e
A A2
=>3y-6=-7x+7 . 7x+3y—-13=0 A. 2.6 sec B. 3.6 sec
77. 2x=y* + 8y + 22 *RREH M 7w T2 C. 4.6 sec D. 5.6 sec

A. (3. —4) B. (-3, 4)
C.(~3,-4) D. (3,4)
[SI@wWhY] 2x=y* + 8y +22 = (y+4)°=2x-6
= (y+4)?=2(x-3) .. MR = (3, -4)

i) 1
[S[E]why] h=ut+§gt2364=0+§x9.8xt2

- 64 x 2
it g8

t=36s
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leacaeicy st 37 GHb1R Bfgfnfie swe S¥a Frufos e e ¢ FIRFR YW 5
85, T FIT TP Aed fedweica Fire qg9 Afeo «ald - [SIAJWhY]” Achilles' heel” idiom f5a widf wsfar qderew a @pfboyf
A. Parabola B. Hyperbola 7 |
C. Ellipse D. Circle

86.

87.

88.

89.

90.

91.

SIA why|arEr 21t siyefices st fodeeita foifirg ag@q g
s Adigerad (Parabola) |

P 9% T IS FE (3p + 1)X° + (11 + p) X + 9 = 0 TR ToTax
Gba IR RLA?

Ap>1 B.1<p<85

C.p<85 D.p>85

&g TSI & = {— (p+ 11)}* —4(3p + 1).9
=p?+2.p.11 + 121 - 108p — 36 = p* + 22p — 108p + 85
=p°—86p+85 =(p-85)(p—1)

TeTaE @be T =0, AS < 0

. (p-85)(p—1)<0 = 1<p<85
A_(zu o
“|ees| " T
1[69 4 6009
A.‘é B.
243 143
6 =
C.—%{ o} D. @AIb3 77
-8 2

234 i e
®A=ﬂ; 8} aq, A forfy a1 e w1 | el fRedte

mﬁfmwﬁmm@| SIS WG 7 |
T3 el Far =

(-~/3, —\[3) WA o FE T2
A. (6, %) B. (\]6, 54—“)

o(a) oo
[SI@why] r= (~\/§)2+(,\/§ 226

= T
_n+———

0=n+tan™

", (AT FI (\/6 , -4—)

Y2 — 4y —x* + 9x = 12 TRl @I €A 32
A T8 B. ©*ige
C. 799 D. wf¥qe
[SI®]wWhy|x @ y* @z &5t @ 5% fexy w3 xy ™ Sgifye
. oferafb afegs |
y = — 5x + 12 TA<1F SR o719 (@419 7f® -
1
A.5 B.g
C.—-5 D.—%

[SIGJWhy| y = — 5x + 12 Ta4TE y = mx + ¢ TALE M0 9o S
e, m=-5

1
mmﬂf\%:g

The phrase ”Achilles’ heel” means —
A. a weak point B. a better condition
C. a strong point D. a part of body

92.

93.

94.

95.

1 96. F

/‘

9%.

98.

99.

He was wise enough to accept the other. Here "enough” is —
A. Adjective B. Preposition

C. Conjunction D. Adverb

[SI®]why] ®ow=re AT enough =i oM@ ‘1’«% adjective
(wise) & modify IR | J@aR @fo @<TeT adverb |

The headmaster and — secretary was present in the meeting.
A. No article B. the

C.a D.an

[SIQJWhY]And %r=T T 9f singular noun 3 =% Tfers for
9 ©T=E and “/49e! noun € 7i4 I article (a, an, the) 3 11 |

What is the noun of the word "do"?

A. Does B. Deed

C. Did D. Done

Do (v) @7 noun form 2z — deed (®rd/femmasm) |
One of the basic — of a man — cloth.

A. need, is B. needs, are

C. needs, is D. need, are

One of, each of, either of, neither of «% == plural
noun + singular verb 9% 2 |

He was seen — to the college. Pick up the correct form of
71 verb to fill in the gap.

A. went B. going

C. gone D.go

Simple sentence-a W finite verb @3 “ta <=
CGFICAT verb 4Rt (ifod ing form I9@e & |

The correct adjective form of nation is:

A. Nationalize B. Nationalistic

C. Nationally D. Nation wise

Nation (N) &% adjective form Z% national (&rer)
@32 nationalistic (STSRMOMTG) |

Before you entered the classroom, you — the teacher’s
permission.

A. should seek B. seek

C. would have sought D. should have sought
[S[@why|@TT g =1 Efow fea s@sior FamTe should have +
V3 JI9© 2 |

Identify the passive form of "He is going to open a shop”

A. He is being gone to open a shop.

B. A shop is being gone opened by him.

C. A shop will be opened by him.

D. A shop is going to be opened by him.

|S[@®]why|Active voice @ Be(am/is/are/was/were) going to + v,
4= passive voice € be (am/is/are/was/were) going to be + v; T |

100. 1t was the first time — the book.

A. | had read. B. | have read.
C. I read. D. | was reading.

[SI@Why] <o statement @7 =4 i 92 o SR I
QeI verb @9 past perfect tense R |
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’r

sidfe@™ (Physics) - \

@ 42 0 GToeE W9 Fir 1 A AR 1 s BIeTl 390 Besw Sl TR R FepE A

S 0°C (U 100°C (S cAfeay (Using the heat produced by flowing a current
of 1 A through a 42 0 resistor for 1 s, the temperature of how much water can be

raised from 0°C to 100°C?)
(A) 1 kg (B) 10 g (c) 100 g LBJ/lg

@) 930 @R Sf%e Sl AW 2 V) GTs T 1 A ofbe srafEe @ wdn a7 fase Ndw 1
V B @R wEed @14 F57 (Electromotive force of a cell is 2 V. When 1 A
current flows, its voltage drops to 1 V. Calculate its internal resistance.)

@®:a (8) 20 (€) 0.50 (D) 0.25 0
3. WHA=6l-3/+2K o3 F=20+2)+F W, & A8 fu = (If 4 = 6f - 3] +

2k'and B = 21+ 2] + E, then determine A.B) \é

(a) o (B) 4 (D) -4 v A_
4. W 5 @397 (Which one of the following is the unit of torque?) Ve

(A) Dyne/cm .)N:n (C) N/m (D) N/m-s I)" v

5. (I FEE G (I FARe? (Which of the following is the equation of q_" /
time period of a simple pendulum?)

.{:zrr__ﬁ- {B}T=4HJ§ ({}r:gH‘E fD}T:"\E

6. TE WIS et TR F N7 (What is called the rate of change of impulse of force?)
(}ﬁmmumutum} . = (force) (C) ¥4 (acceleration) (D) @ (velocity)

7. T WS SONER 0RO 6 W SR wm @i 8922 (In simple harmonic
motion the velocity and acceleration depends on-)
(A) B2 (mass) (B) =39 (displacement)

,Hﬁ'ﬁ'ﬂ! (initial phase) (D) SF2% (momentum)

Efaw SommE 6 et w2 MeE WY 1/3 9vw ) wefie 519 P USF A HUGET
"% Aol 2 22 (Density of a gas at standard temperature and pressure is
1/3 unit. If the standard pressure is P unit, calculate the root-mean-square velocity
of the molecules,)

®:7 (8) 3P ((d V3P (D) V3P

9, mﬁ@wamuﬁﬂnwﬁmqﬂqﬁmﬁmm 1/n @91 70 = -
(941 R = *f%¥7 and) (The depth d, at which the value of acceleration due to

gravity becomes 1/n times the value of it at the surface of the earth is (R=radius
of the earth))

(A) R/n (B) R / n? ﬁn =1)/n (D) Rn,i'n'(n +1)

(% CamScanner
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10.

13.

©

17.

18.

% SAW AfE W e fBa ame? (Which physical quantity remains
constant during adiabatic process?)

(A) SI*faa (Temperature) (B), 51 (Pressure)
() =mres (Volume) /‘ G0 (Entropy)

ofii 1 1 e T o ©1e Firfs oo e Bfac e w6 237 (What will be
the efficiency of a heat engine, if it does not emit any heat?)
(A) 0% (B) 50% (c) 75% ’/mun

= v R TS W6 b e [E o wre oft wufe a e e 3
w7 wa? (How fast should a moving clock travel if it is to be observed by a
stationary observer as running at one-half of its normal rate?)

(A) 0.50¢ (B) 0.65¢ 59{ 0.78¢ @ os7c
= ST T T Y 1 oS @ wier e F W o FE® - (The Young's

modulus of a wire is ¥, If the energy per unit volume is E, then strain will be-) t-—:.’i—

(AW2E/Y @/t () VE/(2Y) 2E/Y

m SE aﬁmq@mh=ﬂwﬁmmmmwﬁmmﬁ
R = <f&d= Trd) T - (A body of mass m has to be taken from the surface of the
earth to a height h = R, where, R = radius of the earth. The amount of energy

needed is-) /
(4) mgR @ noR/2 (C) mgR/3 2mgR

fica @G p—ﬁﬁﬂﬂvﬁaﬁmﬁnﬁﬁﬂﬂiﬂﬁmﬁﬁwﬂﬁmmhﬂ of the
following does a p-type semicondiictor have more compared to an n-type semiconductor-)
(A) GG ¥ TUSF AT (total positive charge) (B) 1B @n¥ (total charge)

(C) Tt w9 (density of electrons) car 997 (density of holes)

a3t f§-San gieafa owe AT o a@er AR 30cm U3 JCTH SAfE3 A 1.501
emita cEEF Ad ¥ AT (The radius of curvatures of both surfaces of a double
convex lens are 30cm each and refractive index of glass is 1.50, What will be focal

ln?gt.h of the lens?)
) 15 cm . 10 cm (C) 45 cm (D) 60 cm

2uF @ 1uF oA A AT OB G MY T (A 2uF and a 1pF
capacitor is connected in series. What will be the equlvnlu:;.t capacitance?)

(A) 3uF (B) 3 uF S WF (D) § uF

-5 afibTE SRR 20 @ wjBool FvmieT syt w1 o @e? (The phase

difference between input and output signal of a common emitter amplifier is-)
(4) 0° 29) 90° ’ﬁﬂ“ (D) 270°

xKS'
.

*

X¢

"
e
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aafd oo i T, o e SR T FEAR ATARAE e ‘Jﬁﬂ
Tl o o e, aRe T Fegs w W, O T FOA g O
39S (In a step up transformer, the number of turns in the secondary lfﬂll is
twice to that of primary coil, If you apply an alternating current in the primary
coil, then in the secondary coil compared to the primary coil-)
(A) saiEs ¥ et 7T (current will be doubled)

BiEe s WA WTdw WA (current will be halved)
(C) =g =ty w7 W¥s = (voltage will be halved)
(D) ©f¥e r2aw I W 4=CE (Current will remain the same)

@. wieeE ige fFwm Fosw @ el Wy fefEm =u? (Which of the following

21

24,

26.

particles interact in the photoelectric effect?)
LAT T8 s ¢33 (Neutron and proton) (8) FEizl & 1§ (Neutrino and electron)
(C) c&B= & @7 (Proton and electron) . MG+ ¢ EFA (Photon and electron)

a3 M-snanefes Mo wwer s Aew ¥87 (What is the number of degrees ..].;C -~

of freedom of a distomic gas?) ™ X

(a) 1 (8) 7 ()3 ./5‘ =,

G0 AT MO ST @i oo fied @ T wTe weeeE -sts-ai oda

T ¥ W7 (If the temperature of an ideal gas is doubled on the Kelvin scale, &

what will be the root- -square velocity of its molecules compared to before?) (,)r' =<

(A) 4 V2 (© 2 (D) 05 bé— A

@B wmef T et I T e e Pt e w2 (if pressure of

an ideal gas is increased, how will the kinetic energyof the gas change?) -(tr
"rf

(A) ## T 0% (increases compared to before) GofEfe 9= (rermains same)
(C) 7 T7@m 3 (decreases compared to before) (D) &S (unpredictable)

=87 o7 F =3xzl + 2y — y2?k @1 (1,1,1) fre wigsmre® 9¥%7 (What is the

divergence of a Tdd F = 3xzi + 2xyf — yz?k at the point (1,1,1)7)
(A) O 3 (C) 4 (D) 7

mLMmMmmmﬁwwmmmmwm
PO SEF 9@ A7 (What is the moment of inertia of a rod of length L and mass
M with respect to a perpendicular axis passing through it7)
(a) ;ML? ®m ,DJ?;HF (D) ZmL?
i HT@ T gfe Fnmfie com wbe v ot @ (Transverse wave nature
of light is examined by which of the following phenomena?)
(A) R%ga (Dispersion) @ e (Diffraction)

(Polarization) (D) fatwsre (Scattering)

(% CamScanner
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27.

3L

3L,

33,

34.

35.

g e WF Fane BEer Bu-opeg wm wfifte w4Fm Sgen wen €T
goi- (For Fraunkofer diffraction due to a single slit, if the slit width is decreased,
the adjacent minima compared to before will-)

WCd 507 WA (move apart) (B) W0 BT EPTA (come closer)
(€) ¥ WTYEA YF (remain at the same position)

(D) WS JIIE WIHCI AT A 50 WA (initially come closer and then move apart)

97°C ST B saman ofEfE Te e (EEmEE 59, k= 1.38 %
10-23JK =117 (The kinetic energy of Helium atoms at 27°C will be - [Boltzmann A nU

Constant, k = 1.38 x 10~3JK~1]) "?/'thv'*_“'}
(A) 1.38 X 107 % mol ™! (B) 8.31 x 10~**Jmol™ /4 v.)é
(C) 1.38 x 107 Jmol ™ ’6.21 % 1072 Jmol™? < i

e IfETRE g I9 ¢ 7 TEE WY @ ¥En ABF? (Which one of the £/
following mlnﬂn? between r.m.s velocity and absolute temperature is correct?)

(A) Coome X T Cime VT (Q) Grms %2 ) Gms®

S wd S 125 76| Ge B T w0t IS T T A (The half
life of Tritium is 12.5 years. To decay E parts of a piece of Tritium how much time

is required?)
(A) 125 years  (B) 25 years ".T.E years (D) 50 years
2Th — 231Pa+ X oreretfae fafum X 77 (What is X in the nuclear reaction
ZITh - 51Pa + X7)
e 51 s (Negative beta particle) (B) #f&E (Positron)
Frig (Electron) (D) FBE (Neutron)

(j+ k) = k =2
i o @F; (0) k
50 kg S W3 7@ SA 50 kg-m/s T @7 e T WA (A 50 kg body has
2 momentum of 50 kg-m/s. What is its kinetic energy?
(A) 2500 ] (B) 100 ) (€) 50 ] 25 )

=it Pelas (Pee F94%- 980 Nm=') 10 cm TEBE ITH 47 AW 200 g B e 3id
mmﬁmm@mnwsﬂmﬁwwmm?u 200 g ball is
theown vertically upward by compressing a spring (spring constant; 980 Nm™) by

10 cm. What will be the height reache by the ball?)
(A) 0.25 m ®::nm 255 m (D) 51 m

Fqt-a7 elies Wil Zo- (The dimensio of Young's modulus is-)
@) ML2TY (B) MLTT J":IL"T“ (D) ML T
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251 (Chemistry)

offTS NaCl-a W0 SfGR Ter T FTE o & 77 (Which one is deposited
all-

in the cathode when electricity s passed through molten Nacl?)

Na (B) NaOH (€) H, (o) cl,
Agls) camfbe cam fsd ¥ (W I,
he cell potential of the cell cd(s)!
~0.40 V)

1.

2. 25°C WA Cd(s)r cd”(ag)n Ag'(aq))
Elageiag = 0.80 V O E'ep,  ca= -040 V (What Is t
cd™(aq) Ag'(ag) 1 Agls) at 25°C7 Given, E'ay, i ag = 0.80 Vand E' g icd ™

-1.2V (B) ~0.4 V (C) 04 V (D) L2V

/= @ 917 (Which one is the thiol group?)
< (A) NS (B) -SO,H @ -SCN

¢/ T @B e &I NHSCN @ e 7% wm 3 o a2 (Which of the
following aqueous solution shows blood red colour due to.the addition of NH,SCN?)

3=

(A) Ni© (B) Fe" (€) cu™ Fe

5. offie @w9rs %9 @19 @7 (Which one of the following is the bond angle of H;0

molecule?)
(A) 1095° (B) 107.0° (€) 92.0° 104.5°

s A% CF @ FF? (Which one is correct in case of a saturated
solution?)
W=k BKKy Ok Ky DKK

7

2 i JeaA '-'ltftﬂi:’ (Which one has the highest electron affinity?)
Oxygen Chlorine ¢} (C) Sulfur (D) Fluorine

8. five cofb @5 =gfee 77 (Which u;re of the following is not bent shape?)

(A) so, (B) 0, Cs; (D) NO,
At A DO-4F WF, 8?7 (What is thé DO-level in drinking water?)
@cs-60 ppm  (313.0-4.0 ppm .0-95.0 ppm (D) >120 ppm

10. Foss e ey wwEcTe wad Al “F0? (In which of the following compound, the
oxidation number of iron Is zero?)
(W Fe0 B KN  (©Feo,  Fe(co),

@ AT AR @R e o1 e RiEsm wo 208R 9w 9 e (Which of
the following compound reacts with water to produce ethyne?)

() ca(cooH), (B) Ca0 ,Cac. (D) Cacl,
@ FABSF Fw6f MY W47 (How many isomers are possible for butanol?)
() 2 (B) 4 @ (0) 5
3 \
b \ — &
- G

-~
”

ex

A
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(N o
@ qu .,,,an)

13, 2erECE WEW KMnO, W1 wiae FA0 Fees ceiG et w87 (Which of the following
is produced when ethyne is oxidized with basic KMn0,?)
(A) B<# (Ethanol) - (B) Bemfie b (ethanoic acid)
M wizer=m (Glyoxal) (D) @R <P (Oxalic acid)

@ Pb(NO,), 5 A+ PbO +0, ; ¥ A-1=f7 2 @m®? (Pb(NO,), A A+PHO + 0,;

what is the color of the gas A?)
(A) @&l (Violet) . 4Tt (Brown) (C) %% (Green) }B{ 8 (Colorless)

Fose @l weee wiee RN om? (Which of the following gives aldol

condensation reaction?)
}(} Methanol  (B) Chloral @ cthanal (D) Benzaldehyde

ARG @F waeR Feawe FRET? (What type of hybridization is present in graphite?)
(a) sp’ (B) sp (c) sp'd ,/51::I

17. 10 g WAETS 9% #2757 (How many molecules are there in 10 g hydrogen?)
(A) 6.02 = 10™ ./3.m « 10 (c) 6,02 = 10™ (D) 3.01 » 10”

5e @HBTS FAAECEL 27 (Which one of the following has no carbohydrate?)
(A) =W (potato)  (B) %W (Flour) (c) erne (Cellulose) (i) T (Wax)

®

@ s R P e wsad TS A @ g @i wE (Which one of the ‘.:b/*:f
following gas shows maximum deviation from ideal behavior?) A Y

() 0, @ co. (c) co (D) N, - Si/,
20, *BIFMT @7 FECT IPTHIEE FEIY RGN T G @07 (What is the _6;—, of
probable set of quantum numbers for the last electron of potassium?) n}.]
W)421,+% ()41,0-% ©410+% (@00 % a“‘w
21, DuEAGE ARG wAen e i Gt Bee T? (Which of the following 7 1*6
E;nymd is produced from the nitration of toluene?)

Picric acid @ o () TNP (D) Nitrobenzene

22, 7. g GG S S G Cl, 3L (How many moles of Cl; are there in 7.1 g of do
chlorine?)
(A)1omol  (B) 0.2 mol ’mf mol (D) 04 mol

23, fisa B % St T (Which of the following s liquid at room temperature?)
(A) E; (8) cl, ﬁ!r; (D) 1,

24, farse cerid AEpewRe fEAra aioad Fw? (Which one of the following behaves as

a nucleophile?)
X so, (B) BF, (C) H,O ,{NH: P 9‘(4{\

e
7 et 5

-

e
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25.

26.

27.

28.

29,

3L

3z

33.

34,

35‘

fiss W E59F ph- ¥ FEAw? (Which of the following solution have the highest

value of pH?)
(A) 0.1 M NaCl  (B) 0.1 M HCl "u.l M Na,CO, (D)01M NH,CI

Girse @D wfRfes srge! s w2 (Which of the following shows geometric

isomerism?) “ e M "
(A) CH,-CH=CH, ./E"‘I?,—CH-CI-I-{H, (C) CHy-CH,-CH=CH, (D) CH,=CHBr

@l S Wrerd w7 (Which one Is a primary standard substance?)
(A) KMnO, ; K{Cry0, (C) Na,5,0, (D) NaOH

T &5 € Y WA DR Sorys i F17 (What is the suitable indicator for
the titration of weak acid with weak base?)

(A) cComeTe A (Phenolphthalein)  (B) fA4i@s &S (Methyl red)

(c) RwrEs ==@ (Methyl orange) ’/ os =1 (None)

w0 &% &7 (What s dry ice?)
(A) 1 (Heavy water) (B) 0'C S i (Water at 0°C)
Fi2m €O, (Solid €O;) (D) =29 N, (Liquid N,)

FicRs cileTrER IPde e T @07 (Which of the following is the correct
sequence of radius of the elements below?)

@ g < Na' < ne @ M < e« Na
(C) Na” < Mg" < Ne Mg" > Na’ > Ne
= F4 H' IR Wl 107 moll.” 209 ©% &30 pOH F87 (if the concentration
of H ion in a solution is 10" molL™', what is the pOH of the solution?)
10 (B) 4 (C) 6 (D) 14

firsz et 9 fee fasmi? (Which one of the fnllgwmg is a weak electrtlyte?)
(A) HE1 (B) H,50, @ ko, w};,su,
frsn %] 07 (Which one is not correct?)
=10 10" (B) pKo=14 (€} K= [H,0'] [OH] . Ke = 1.0 = 107" M
o e 2o AU aFef? (Which one is the benzene ring activating group?)
~0CH, (B) -50,H () -cHO (D) ~COOH

fisn com ainfS ff =0 w9 waca? (Which of the following compound will
form carbyl amine?)

(A) Phenol (B) Tertiary amine  (C) Secondary amine “‘ Ethyl amine
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1.

1 (Mathematics)

implified form of the
Spi4+1is) complex number

L
’/1+2i (B) 1 - 2i ©1+i (M1-i

2.

3.

)

7.

8.

10.

11!

1 .: iv3 Wﬂ?ﬁhe argument of —1 + V3 Is)
i in
W WS W5 OF
sinf —2 = cos 260 ,—m < 0 < w G FAYH (The solution of sinf —2 = cos 260,

_ngﬂ‘iﬂ
WE‘ 5 ;';' (D) m

(-23) FR e *+y* =5 08 s ™ 079 (The length of the tangent
from the point (—2,3) to the circle x*+y?=5is)

(A) @ (B) 1 (C) 3 JB
y=tan~tx P & =1(If y=tan"'x, then 2 -7)
W = L (1-x* () 1+x°

1+x?
3x + 4y = 12 FRECRD S A 1 firge Bt % O (R (The area
of the triangle formed by the line 3y + 4y =12 with the coordinate axes is)
(a) 12 (B) 24 6 (D) 4
:1+9:+k=nqﬁﬂlﬁhﬂﬁwmﬁﬁm&mmuronemﬂm
equation x2 +9x + k = s twice than the other, then the value of K is)

= 1;{-'}

(a) —18 (B) 9 © -9 /.' 18 £a
o5 A GrEs SEE 2% 3 mammzx4m,m.wm %
s (If A is a 2 % 3 matrix and B is a 3 % 4 matrix, then the size of the 2 0 o

matrix AB is)
(A) 4 % 2 ,/2::4 (C)3x3 (D) 3 x 4

= 12x *REE faraea @A (The equation of the directrix of the

(D) y=-3

J2a2é e (0,0) A e qred CIFR wir@ast (The polar equation of a circle

having radius vZa and centre (0,0) is)
’:*:-wfia (B) V2r=a (C)r=2a (D) r = 2Va
-

cos?z + cﬂs’sﬁ+ ns'*'_f-fj cusij—':-ﬂ

Wo (@®1 ’i (0) 3
a ¥
-~
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SIS

12,

13.

14.

16,

\Y

18.

20.

21.

22.

23,

-.irf' L rd
2 4 w“ O~
b ¥ a4
a0 FEeE wAEE s(t) = 263 — 5¢% =3t o, t = 2 Ty FEema Gadt (if
s(t) = 2¢* — 5t — 3} is the position of a particle, then its acceleration at t = 2 is)

(A) 34 (B) 10 ./14 (D) 20

IN @ 4 N N A W AT s e i e S A (If two
forces of magnitudes 3 N and 4 N act at a point perpendicular to each

other, then their resultant force is) s ) < xw..,h
,/5 N ©) 6N (D) 12N W 7 £
X

(A) 2N
Fd
ﬁ dx &
{a] Ee ./{e—l) ©3:-1 (D) 1-=
2y* — x* = 1 i T (The eccentricity of the conic 2y? — x* = 1 is) % (;'}
nr
P

M{JE @3 ©; M3

_]_
i L _,

20724
(A) -2 (B2  (0) -2 (‘/z

(—1,-v3) @ 1 W= (The polar coordinates of (-1, —v3) is)

mz, *3—‘} (B) (1. 3 ©@H (D) (2 2m)
1

sin10°  cos10'

Az ()3 ./ M‘

o i

— y2 — i L 1
(&) V1 ::+r.‘" Vi—xi+cC mtC ) —g=+cC 5
(T FAEe y-5 (A0 B2 (Which equation represents the y-axis?) 4
(A) y=x x=0, {QQy=0 (D) x = y?
y = 3x, x-F O x = 2 WA FHWAG CFGT CFIF (The area of the region N
enclosed by y = 3x, x-axis and x = 2 is) /
Wz @1 @6 /‘(Jz 8 Pl
®: ,(a‘)/zl ©) 3 (D) —1

x—2 6 -2 61, 7

[ 2 x-3] D oa M T x-a7 PR (If |* x—3]'” 4
singular matrix, then the values of x are)
(A)2,3 (B)2-6 (C)2,-3 .‘-1.5
WA (x,9), (0, q) TR P WA W, A (If (x,),(p.q)and the origin are
collinear, then)
() px = qy ,./qx=ﬂ}' ©xy=pg (D) gx+py=0

10
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25.

26.

2]
=]

29.

a=[5% ) =mat=r (ta=[2 75| thenar =)

2 E‘ I—Z —5] |4 EIW -3
(B)
.L i -3 —-: (©) 3 ; —; 4]

y+2x =0 @R 2y = x FECEAICH TG7E @ (The angle between the lines

y+2x=0 and 2y =1x is
@:;: ®o ©F i
3 4

(1,1 = x?+y*+8x—c= 0 904 T wa4ys @A ¢ =? (If the point (1.1)

lies,on the circle x* + y* + 8x — ¢ = 0, then ¢ =7)

,/m (B) =10 (C) 20 (D) 1
4

tan Eiﬂ-l (;) =7
k| k|
(a) :;' ,/; (C) o (D) =
x2 + y2 + 8x — 4y — 5 = 03807 (¥F (The centre of the circle
x24y*+8x—4y—-5=0is)
{ (B) (4,-2) (c) (2.-1) (D) (4.2)

(—4.2)
1
3x?—-5x+1= 0 oo Pen a 6 f T, §+E o« W1 (1f the roots of the
f, then the value nf£-+% is)

equation 3x* —=5x +1 = 0 are a and
(0) ;

(a) 2 (8) 2 ./; s {5

=1y 4 cot™'x =7 o
T ;—'t (8) (€)1 (p) 0 k' ;
2

32. it ] o (A 2 AS

33.

34.

35.

18 m g o e < T (If a particle covers

a distance of 18 m Mtheﬂritsemrdstarﬁng&wmt,thmiua:celemuuniﬂ

@ 1zms?  @pems 0 azmsT

x+y=2Ry—x=
(The equation of the straight

thﬂintersectingpolntnfthelinesx J-'=2:md:.r—x=uis] o
(A) x =2 (B) y=2 y=1 o x=1 z'ﬁ

line parallel to the x-axis. and

(a) 8 ms™*
it Fmen 32 fu/s mﬁmmqﬁamm"mmﬁﬁsmmw
(The traveling time of a particle that is thrown with an initial velodity
i 8 d is) :
32 ft/s making an angle 30° with the groun i A
.Is (B) 1.5 s _/fé)zs (D) 3 s rrg(o;j'\ ;;{_,
= 1 represents a) e
xy=1 slirerael fa wea @0 (The equation Xy |
(A) 98 (circle) (B) "ﬂITE[pm‘abuIa] {‘ wfig@ (hyperbola) (D) T*g8 (ellipse) — n,
0 TG (AR 6 x ST TR G FA
passing through C
%

11
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English

L. Amena would have studied engineering if she - to the university.
@ had been admitted (B) could have admitted
j?)/ was admitted (D) has been admitted

2. The best books are perhaps those that tell you _____ you already know.
(4)-that (B) how (C) which @ what

3. Choose the most appropriate synonym for the word "unforgettable”.
(A) common ”m}zmnrable (c) ordinary (D) typical

4. Choose the correct spelling.
(A) playwrite (B) brocoli @ acquiesce ‘(,B‘lf;welery

S. 1 had a good experience _____ the first day at university.

4 in fon @ty () of

6.  Even though he at first opposed our proposal fiercely, he eventually gave ___.
on () over @ in (D) with

7. Barkat along with his friends invited to the party,
(A) have been (@@ was (C) had )B’)/ were

8. Choose the correct sentence.
() Neither he is tall nor fat. !p?‘tither is he tall or fat.

(€) He is tall nor fat. @ He is neither tall nor fat.
9. Do you think there would be less conflict in the world if all the people _____
the same language?

@ spoke  (B7will speak (C) do speak (D) speaks
10. [ look forward t you anytime soon.

(A) see ‘.{;Emg (C) have seen (D) be seeing
11.  “Life is a barren field” is an example of

(A) a simile @ a metaphor (Clanalliteration (D) &n oxymoron
12. Twenty years _____ the minimum age to fill in this form,

(A) are - ../I; (C) have (D) has

13, Choose the most appropriate antonym for the wo
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